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PRINCIPLES OF INHERITANCE AND
VARIATION

Principles Of Inheritance And Variation

1. Mendlism is related with



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Zo0Rnz3RSRtR

A. Heredity in lving beings

B. Meiosis during sexual reproduction

C. Mutton in living organisms

D. None of the above

Answer: A

o Watch Video Solution

2.Branch of biology dealing with heredity and

variation is


https://dl.doubtnut.com/l/_Zo0Rnz3RSRtR
https://dl.doubtnut.com/l/_cF34F20vku7Y

A. Geobotany

B. Sericulture

C. Genetics

D. Evolution

Answer: C

o Watch Video Solution

3. Term' genentics ' ws given by

A. Mendel


https://dl.doubtnut.com/l/_cF34F20vku7Y
https://dl.doubtnut.com/l/_f1TekHIuv2nx

B. Morgen

C. Bateson

D. Boveri

Answer: C

o Watch Video Solution

4.The first great " generticst"” was
Or

Who is fconisidered as father of genetics


https://dl.doubtnut.com/l/_f1TekHIuv2nx
https://dl.doubtnut.com/l/_44evc9MErSyb

A. Engler

B. Mendal

C. Schwann

D. Miller

Answer: B

o Watch Video Solution

5. Mendel was born in

A. 17" century


https://dl.doubtnut.com/l/_44evc9MErSyb
https://dl.doubtnut.com/l/_eTR2ZYk40024

B. 18" centu ry
C. 19" centu ry

D. 8™ century

Answer: C

o Watch Video Solution

6. Mendel was the native of

A. France

B. Sweden


https://dl.doubtnut.com/l/_eTR2ZYk40024
https://dl.doubtnut.com/l/_Z0WN4ON8enNx

C.India

D. Austria

Answer: D

o Watch Video Solution

7.Organism wih two different allele is

A. Heterozyous and hormozygous

B. Heterozygous for the allele

C. Homozyous for the allele


https://dl.doubtnut.com/l/_Z0WN4ON8enNx
https://dl.doubtnut.com/l/_HOytzc2Ymnbw

D. None of these

Answer: B

° Watch Video Solution

8. In the first step of monohybrid cross

experiment, Mendel selected Pea plants which

were

A.Pure tall as male and pure dwarf as

female


https://dl.doubtnut.com/l/_HOytzc2Ymnbw
https://dl.doubtnut.com/l/_bGjOymsZVUOD

B. Pure tall as female and pure dwarf as

male

C. Heterozygous tall as male and pure

dwarf as female

D. Heterzygous tall as female and pure

dwarf as male

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bGjOymsZVUOD

9. Which one of the folloeing cannot be

explained on the basis of mendel's Law of

dominance

A. Factor occur in pairs

B.the discrete unit controlling a

particulaar character is called a factor

C.Out of one pair of factor one is

dominant , and the other recessive

D. Alleles do not show any blending and

both the characters recover as such in


https://dl.doubtnut.com/l/_8NkUHz8KGcKq

F5 generation

Answer: D

o Watch Video Solution

10. A man having the genotype EEFfGgHH can
produce P number of genetically different
sperms, and a woman of genotype liLLMnNn
can generate Q number of genetically

different eggs. Determine the values P and Q

A. P=4,0=4


https://dl.doubtnut.com/l/_8NkUHz8KGcKq
https://dl.doubtnut.com/l/_Hg6valVhx2W1

B. P=4.0=8

C. P=8,0=4

D. P=8,0=8

Answer: B

o Watch Video Solution

11. Howmany types of gemete will be produced

by an individual having genotype AaBbcc:

A. Four


https://dl.doubtnut.com/l/_Hg6valVhx2W1
https://dl.doubtnut.com/l/_sCi6onCAFroe

B. Three

C. Two

D. One

Answer: A

o Watch Video Solution

12. In 1900 AD, three biologists independently

rediscovered Mendel's principals. They were:

A. De Veries , Correns and tschermark


https://dl.doubtnut.com/l/_sCi6onCAFroe
https://dl.doubtnut.com/l/_8csWiSQpi2u9

B. Sutton , Morgan and Bridges

C. Avery ,McLeod and McCarthy

D. Bateson ,Punet and Bridges

Answer: A

o Watch Video Solution

13. When a dihybrid cross is fit into a Punnett
square with 16 boxes, the maximum number of

different phenotypes available are:


https://dl.doubtnut.com/l/_8csWiSQpi2u9
https://dl.doubtnut.com/l/_4cqht3aqH2um

A.8

B.4

C.2

D. 16

Answer: B

° Watch Video Solution

14. In a monohybrid cross between two

heterozygous individuals, the number of pure


https://dl.doubtnut.com/l/_4cqht3aqH2um
https://dl.doubtnut.com/l/_awibqjUTukIE

homzygous individuals obtained in F,

generation is:

A2

B.4

C.6

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_awibqjUTukIE

15.In Mendel's experiment how many different

kinds of seeds are produced from a short

plant with wrinkled seeds (ttrr)?

A9

B.4

C.2

D. 1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yRi1HFIHNpKu

16. In Garden Pea, yellow colour of cotyledons
is dominant over green and round shape of
seed is dominant over wrinkled. When a plant
with yellow and round seeds is crossed with a
plant having yellow and wrinkled seeds, the
progeny showed segregation for all the four
characters. The probability of obatining green

round seeds in the progeny of this case is

1
AZ

1
B'§
C—


https://dl.doubtnut.com/l/_vQCxcWHa8FH0

Answer: D

o Watch Video Solution

17. Two pea plants were subjected cross
pollination. Of the 183 plants produced in the
next generation, 94 plants were found to be
tall and 89 plants were found to be dwarf. The
genotypes of the two parental plants are likely

to be:


https://dl.doubtnut.com/l/_vQCxcWHa8FH0
https://dl.doubtnut.com/l/_dZA1s1RKAvOh

A.TT and tt

B.Ttand Tt

C.Tt and tt

D.TTand TT

Answer: C

o Watch Video Solution

18. A homozygous sweet pea plants with blue
flowers (RR) and long pollen (RyRy) is

crossed woth a homozygous p[lant having red


https://dl.doubtnut.com/l/_dZA1s1RKAvOh
https://dl.doubtnut.com/l/_eD8GusnRCWJf

flowers (rr) and round poolen (rgrg) The
resultant F; hybrid is test crossed .Which of
the following genototype does not appear in
its progeny

A. Rrrrg

B.R’I"Ro’l’o

C. Rrrgry

D. rrRyry

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eD8GusnRCWJf

19. Ratio of progeny when a red coloured

heterozygote is crossed with a white coloured

plant in which red colour in dominant to white

colour:

A 3:1

B.1:1

C.1:2:1

D.9:3:3:1

Answer: B

[ 1


https://dl.doubtnut.com/l/_eD8GusnRCWJf
https://dl.doubtnut.com/l/_cFMFm2Kqueo5

I O Watch Video Solution

20. A true breeding plant producing red
flowers is crossed with a pure plant producing
white flowers.

Allele for red colour of flower is dominant.
After selfing the plants of first filial generation,
the proportion of plants producing white

flowers in the progeny would be:

= ] w


https://dl.doubtnut.com/l/_cFMFm2Kqueo5
https://dl.doubtnut.com/l/_BHXhuiuV0O68

N
|~ |

o

Answer: B

° Watch Video Solution

21. Which of the following repesents a test

Cross?

AWwx WW

B.Ww x Ww


https://dl.doubtnut.com/l/_BHXhuiuV0O68
https://dl.doubtnut.com/l/_EO1RCYlfOUMl

C. Ww x ww

D.WW x WW

Answer: C

o Watch Video Solution

22. How many type of genottypes are fomed in

F5 Progeny obtained from self - Pollination of

a dilhybrid of a dilybrid F}

A 6


https://dl.doubtnut.com/l/_EO1RCYlfOUMl
https://dl.doubtnut.com/l/_RyNtPXscQ9I7

B.3

C.9

D.4

Answer: C

o Watch Video Solution

23. Howmany types of gemete will be
produced by an individual having genotype

AaBbcc:


https://dl.doubtnut.com/l/_RyNtPXscQ9I7
https://dl.doubtnut.com/l/_fQgqKPmm8NxG

Al

B.2

C.3

D. 4

Answer: d

o Watch Video Solution

24. In his classic experiment on Pea plants,

Mendel did not use


https://dl.doubtnut.com/l/_fQgqKPmm8NxG
https://dl.doubtnut.com/l/_hSQfJREihYuo

A. Pod length

B. Seed shape

C. Flower postion

D. Seed colour

Answer: A

° Watch Video Solution

25. Mendel is famous for his work on

A. Pisum


https://dl.doubtnut.com/l/_hSQfJREihYuo
https://dl.doubtnut.com/l/_KUwAKc8ybhFq

B. Drosophila

C. Neurospora

D. Oenothera

Answer: A

o Watch Video Solution

26. Which of the following mandel has

selected for his experment

A. Garden pea


https://dl.doubtnut.com/l/_KUwAKc8ybhFq
https://dl.doubtnut.com/l/_TwbigkrANV1G

B. Pigeon pea

C. Sweet pea

D. Moong

Answer: A

o Watch Video Solution

27. How many different kinds of gametes will
be produced by a plant having the genotype

AABbCC?


https://dl.doubtnut.com/l/_TwbigkrANV1G
https://dl.doubtnut.com/l/_EEGvUMnPvvTp

A. Nine

B. Two

C.Three

D. Four

Answer: B

o Watch Video Solution

28. Mendel chose pea plants because they:

A. They were cheap


https://dl.doubtnut.com/l/_EEGvUMnPvvTp
https://dl.doubtnut.com/l/_9FoKEMUkyBUX

B.They were having seven pairs of

contrating characters

C. They were easilty available

D. Of geat economic importance

Answer: B

o Watch Video Solution

29. In a population of 1000 individuals 360

belong to genototype AA ,480 to Aa and the


https://dl.doubtnut.com/l/_9FoKEMUkyBUX
https://dl.doubtnut.com/l/_GsmCos6Rorui

remaining 160 to aa Based on this data ,the

frequency of allele A in the population is

A. 0.6

B.0.7

C.04

D. 0.5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GsmCos6Rorui

30. Test cross inplants or in Drosophiola

ivolves crossing

A.Crossing the F; hybird with a duble

recessive genottpe

B. Crossing between two genotype with

dominant trait

C. Crossing between two genotypes woth

recessive treait

D. Crossing between two F}hybrds


https://dl.doubtnut.com/l/_BnM1jncROndv

Answer: A

o Watch Video Solution

31. what is the correct sequence of the
following events ?

1. Formulation of the chromosome theory of
inheritance

2. Experiments which proved thata DNA is the
genetic material

3. Mentel's law of inhertance


https://dl.doubtnut.com/l/_BnM1jncROndv
https://dl.doubtnut.com/l/_8DScQxpNNG1W

A. 13 and2

B.1,2and 3

C.3,Jand 2

D. 2,1and 3

Answer: C

o Watch Video Solution

32. The term "genotypeand gene " were coild

by


https://dl.doubtnut.com/l/_8DScQxpNNG1W
https://dl.doubtnut.com/l/_podNRmfQjqok

A. H.) muller

B. T.Boveri

C. W.S sutton

D. W.L johanssen

Answer: D

o Watch Video Solution

33. Select the correct statements from the
ones given below with respect to dihybrid

Cross


https://dl.doubtnut.com/l/_podNRmfQjqok
https://dl.doubtnut.com/l/_UXMElLFUcYyQ

A.Tightly linkled gens on the same

chromosame show very few

recombinations

B.Tightly linkled gens on the same

chromosame show higher

recombinations

C. Gens far apart on the same chromosome

show very few recombinations

D.Genes loosely linked on the same

chromosome show simlar


https://dl.doubtnut.com/l/_UXMElLFUcYyQ

recombinations as the tightly as the

tighty linehed on es

Answer: A

o Watch Video Solution

34. When both alleles express their effect on
being present together, the phenomenon is

called

A. Dominance


https://dl.doubtnut.com/l/_UXMElLFUcYyQ
https://dl.doubtnut.com/l/_ZJ6sqXsGaPCC

B. Codominace

C. Pesudominence

D. Amphidominance

Answer: B

o Watch Video Solution

35. Which type of gametes are produced by

RrYy?

A Ry, Ry,rY,ry


https://dl.doubtnut.com/l/_ZJ6sqXsGaPCC
https://dl.doubtnut.com/l/_1mZU32x38k8z

B.RY, RY,ry, ry

C.RY,RY,Yy,ry

D.Rr,RR,Yy,YY

Answer: A

o Watch Video Solution

36. Heterozygous tall plant (Tt) is crossed with
homozygous dwarf (tt) plant. Then what will
be the percentage of dwarf plants in the next

generation?


https://dl.doubtnut.com/l/_1mZU32x38k8z
https://dl.doubtnut.com/l/_GLrvFtNrEQDS

A.O

B.0.5

C.0.25

D. 1

Answer: B

o Watch Video Solution

37. The given Punnett's square represents to
Pattern of inheritance in a dihybrid cross

where yellow (Y) and round (R) seed condition


https://dl.doubtnut.com/l/_GLrvFtNrEQDS
https://dl.doubtnut.com/l/_NVIQggbi1y0B

in dominant over white (y) and wrinkled (r)

seed condition

YR Yr yR yT
YR F J N R
Yr G K Q) S
yR H L P T

yr 1 M Q U
A plant of type 'H' will produce seeds with the

genotype identical to seeds produced by the

plants of

A. typeM

B. type ]

C.type P


https://dl.doubtnut.com/l/_NVIQggbi1y0B

D.type N

Answer: D

° Watch Video Solution

38. The term ' allelmophic ' imples

A. Any two characters

B. Apair to contrsting characters

C. Sex linked characters

D. Apair of non -contrasting characters


https://dl.doubtnut.com/l/_NVIQggbi1y0B
https://dl.doubtnut.com/l/_pYgGGVccyDAI

Answer: A

o Watch Video Solution

39. The allele are

A. Apair of genes governing a spectfic

character such as tallness or dwarfnes or

alter from of gane

B. Multiple forms of genes

C. Genes goving eye characters


https://dl.doubtnut.com/l/_pYgGGVccyDAI
https://dl.doubtnut.com/l/_iibcqoVNxTmr

D. Genes presemt in allosomes

Answer: B

° Watch Video Solution

40. Alleles which show indepandent effect are

called

A. Supplementarary alleles

B. Codominant alleles

C. Epistatic allels


https://dl.doubtnut.com/l/_iibcqoVNxTmr
https://dl.doubtnut.com/l/_Ung7zXk3WLYC

D. Complementary allels

Answer: A

° Watch Video Solution

41. Different forms of a gene are called

A. Heterozyous

B. Complememtary genes

C. Genotypes

D. Alleles


https://dl.doubtnut.com/l/_Ung7zXk3WLYC
https://dl.doubtnut.com/l/_BOObiFTuJHhT

Answer: D

o Watch Video Solution

42. A gene is said to be dominant, if

A.it is expressed only in heterozygous

combination

B.It is expressed only in homozgous

combination


https://dl.doubtnut.com/l/_BOObiFTuJHhT
https://dl.doubtnut.com/l/_nY4bTQLZ1cwF

C.It is expessed in both homozgous and

heterozygous condition

D. it is expressed only in second genertion

Answer: C

o Watch Video Solution

43. when a true breeding pea plant that has
yellow seeds is pollinated by a plant that has
greenn seeds ,all the F; plants have yellow

seeds this means that the allele for yellow is


https://dl.doubtnut.com/l/_nY4bTQLZ1cwF
https://dl.doubtnut.com/l/_wvDXBNq5gpK3

Or

A charaacter which is expessed in hybried is

called

A. Heterozygous

B. Dominant

C. Recessive

D. Lethal

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wvDXBNq5gpK3
https://dl.doubtnut.com/l/_44e8E8M3aiI2

44. In Mendel's experiments with Garden Pea,
round seed shape (RR) was dominant over
wrinkled seeds (rr), yellow cotyledons (YY) was
dominant over green cotyledons(yy). What are
expected phenotypes in F; generation RRYY
X rryy ?

A. Only wriked seeds with green cotyedons

B. Round seeds with yellow cotedon and

wirkled seeds with yellow colteodons

C. Only round seeds with green cotyledons

D. Only wirkled seed with yellow cotyledons


https://dl.doubtnut.com/l/_44e8E8M3aiI2

Answer: B

o Watch Video Solution

45, An organism with two identical alleles for a

given trait is:

A. Homozygous

B. Segregating

C. Dominant

D. A hermaphrodite


https://dl.doubtnut.com/l/_44e8E8M3aiI2
https://dl.doubtnut.com/l/_pIBcP0rkALcC

Answer: A

o Watch Video Solution

46. How many types of genetically different

gametes will be produced by a heterozygous

plant having the genotype AABbCc?

A. Two

B. Four

C. Six

D. Nine


https://dl.doubtnut.com/l/_pIBcP0rkALcC
https://dl.doubtnut.com/l/_vs6m8x7vIBaZ

Answer: B

o Watch Video Solution

47. When two odd characters are present in a

gane ,this is known as

A. Bigamous

B. Heterozygous

C. Plymorphioc

D. Heteromorphic


https://dl.doubtnut.com/l/_vs6m8x7vIBaZ
https://dl.doubtnut.com/l/_CI7P8m3JlkFZ

Answer: B

o Watch Video Solution

48. A tall pea plant with round seeds (TTRR) is
crossed with a dwarf wrinkle seeded plant
(ttrr). F} has tall plants with rounded seeds.
What is the proportion of dwarf plants with

wrinkled seeds in F; generation

A.(1)/4)

B. (1//16)


https://dl.doubtnut.com/l/_CI7P8m3JlkFZ
https://dl.doubtnut.com/l/_kErWMDNY9SMu

C.0

D.(1/2)

Answer: C

o Watch Video Solution

49. In pea, yellow seed colour is dominant over
green colour. Heterozygous Yellow seeded
plant is crossed with green seeded plant. The

ratio of yellow to green seeded offspring will

be


https://dl.doubtnut.com/l/_kErWMDNY9SMu
https://dl.doubtnut.com/l/_HG3d0UjmgxC0

A.50: 50

B.9:1

C.1:3

D.3:1

Answer: A

o Watch Video Solution

50. The dwarfnes in plsnts in F} genertion is

A. Recessive


https://dl.doubtnut.com/l/_HG3d0UjmgxC0
https://dl.doubtnut.com/l/_4ZZdeGp57BkE

B. Dominant

C. Both the above

D. None of the ablove

Answer: A

o Watch Video Solution

51. A common test to find the genotype of a a

hybird is by


https://dl.doubtnut.com/l/_4ZZdeGp57BkE
https://dl.doubtnut.com/l/_fiyptx7cK0aQ

A. Crossing of one F, progeny with male

parent

B. Crossing of one F, progeny with female

C. Studying the sexual behaviour with male

parebnt

D. Crossing of one F; progeny with male

parent

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fiyptx7cK0aQ
https://dl.doubtnut.com/l/_spvd8oltSEPq

52. When yellow round heterozygous Pea
Plants are self fertilized, the frequency of
occurrence of RrYY genotype among the
offspring is

A.(9/16)

B.(3/16)

C.(2/16)

D.(1/16)

Answer: C

’ o Watch Video Solution


https://dl.doubtnut.com/l/_spvd8oltSEPq

53. Mendel's law is still true because it takes

place in:

A. It takes in exually reproducing plants

B.it takes place in asexally in asexually

reproducing plants

C. It takes place in both the above plants

D. It takes place in apomictic reproducing

plants


https://dl.doubtnut.com/l/_spvd8oltSEPq
https://dl.doubtnut.com/l/_i0jWDeaCjW0O

Answer: A

o Watch Video Solution

54. Character choosen by Mendel are locted

on how many chromosome

A4

B.14

C.7

D. 49


https://dl.doubtnut.com/l/_i0jWDeaCjW0O
https://dl.doubtnut.com/l/_d0XFkg0UaMmr

Answer: A

o Watch Video Solution

55. Which of the following are dominant

characters according to Mendel?

A. Dwarf plant and yellow fruit f

B. Teminal fruit and wrikled seed

C. White testa and yellow pericarp

D. Green coloured pod and rounded seed\


https://dl.doubtnut.com/l/_d0XFkg0UaMmr
https://dl.doubtnut.com/l/_MsF3Fixxbd2p

Answer: D

o Watch Video Solution

56. Mendel found that reciprocal crosses

yielded indentical results. From that he

concluded

A. There is independent assortment of trait

B. Sex plays a role In deciding the domince

of trait

C. There is no dominace of any trait


https://dl.doubtnut.com/l/_MsF3Fixxbd2p
https://dl.doubtnut.com/l/_Zzn5mpIwn2VD

D. Sex has no influence on the dominnce of

traits

Answer: D

o Watch Video Solution

57. Test cross is used to check

A. Check herterzygosity inF; generation

B. Check heterzygous in F; generation

C. Check independent assorment


https://dl.doubtnut.com/l/_Zzn5mpIwn2VD
https://dl.doubtnut.com/l/_Vtv5mS9nUXh7

D. Check segration

Answer: A

° Watch Video Solution

58.In mendel's experiment nature of seed coat
, lower colour position of flower . Pod volour

serm hight etc ,are referred to as

A. Alleles

B. Genotypes


https://dl.doubtnut.com/l/_Vtv5mS9nUXh7
https://dl.doubtnut.com/l/_D2kuVusKyVPG

C. Phenotypes

D. All of these

Answer: C

o Watch Video Solution

59. A collection of plants and seeds having
diverse alleles of all the genes of a crop is

called :

A. Genome


https://dl.doubtnut.com/l/_D2kuVusKyVPG
https://dl.doubtnut.com/l/_GzIiFjsXV9jP

B. Herbarium

C. Gerplasm

D. Gene library

Answer: C

o Watch Video Solution

60. Mendel enuncited

A. Two priciples of inheritance

B. Three priciples of inheritenace


https://dl.doubtnut.com/l/_GzIiFjsXV9jP
https://dl.doubtnut.com/l/_YoFrK8puKos7

C. Four principles of inhertance

D. Five principles of inhertiance

Answer: B

o Watch Video Solution

61. Which of the following match is correct

A.Indepent assortment - segregation of

factor

B. Lamarck -natural section


https://dl.doubtnut.com/l/_YoFrK8puKos7
https://dl.doubtnut.com/l/_rBVbxeP6X7OL

C. Hatch and slack-chemiosmotic heory

D. Peter mitchell -proposed Z scheme

Answer: A

o Watch Video Solution

62. The first law of mendel

A. Law of inhertance

B. Law of variation

C. Law of indepent assorment


https://dl.doubtnut.com/l/_rBVbxeP6X7OL
https://dl.doubtnut.com/l/_rjccd3azWg2W

D. Law of segregation

Answer: D

° Watch Video Solution

63. An exception to mendel's law is

A. Law of indepent assortment

B. law of segregation

C.law of dominace

D. law of linkage


https://dl.doubtnut.com/l/_rjccd3azWg2W
https://dl.doubtnut.com/l/_3JvHVPVQKjEy

Answer: D

o Watch Video Solution

64. If Mandel had studied 7 traits using a plant

with 12 chromosomes instead of 14, he would

have

A. He could have mapped the chromosome

B. He would have discovered the law of

indepant assrtment


https://dl.doubtnut.com/l/_3JvHVPVQKjEy
https://dl.doubtnut.com/l/_R3EOoFzwMKt4

C. He would not have discovered the law of

independent

Answer: C

o Watch Video Solution

65. Mendel's law of segregation was based on
the separation of alleles in the garden pea

during:


https://dl.doubtnut.com/l/_R3EOoFzwMKt4
https://dl.doubtnut.com/l/_urVgz8v1SLhc

A. Polination

B. Embryonic develoment

C. Seed formation

D. Gamate formation

Answer: D

o Watch Video Solution

66. A pure tall and a pure dwarf plant were
crossed to produce offsprings. Offsprings

were self crossed, then find out the ratio


https://dl.doubtnut.com/l/_urVgz8v1SLhc
https://dl.doubtnut.com/l/_aENInG0Ihigx

between true breeding tall to true breeding

dwarf?

Al:1

B.3:1

C.2:1

D.1:2:1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aENInG0Ihigx

67. Mendel's law of heredity can be explained

with the help of

A. Mitisis

B. Meisis

C. none of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TriOnY3B125A
https://dl.doubtnut.com/l/_qOWltulpYHvm

68. A cross between plants having RRYY and

rryy composition will yield plants with:

A. Round and yellow seeds

B. Round and green seeds

C. Wrinkled and green yellow seends

D. Wrinkled and green seeds

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qOWltulpYHvm

69. Law of mendel are valid for

A. Asexual reproducation

B. Sexual reprodution

C. Vertagetive reproducation

D. All above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ggyK5un38SrT

70. Among the seven pairs of contrasting
traits in pea plant as studied by Mendel, the
number of traits related to flower, pod and
seed respectively were

A 2,22

B.,2,2,1

C.1,2,2

D. 1,2

Answer: A

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_2xBgwzCzFSK3
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71. A cross in which an organism showing a
dominant phentype is crossed with the
recessive parent in order to know its genotype
is called:

A. Monohybrid cross

B. Back cross

C. Test cross

D. Dihybrid cross


https://dl.doubtnut.com/l/_2xBgwzCzFSK3
https://dl.doubtnut.com/l/_9pKWay0Z9Iil

Answer: C

o Watch Video Solution

72. Some of the dominant traits studied by

Mendel were

A.Round seed shape , constricted pod

shape and axial flower postion

B. Green pod colour , inflated pod shape

and axial flower position


https://dl.doubtnut.com/l/_9pKWay0Z9Iil
https://dl.doubtnut.com/l/_gVUHxCTJjADg

C. Yellow seed colour , violet flower colour

and greejn seed colour

Answer: B

o Watch Video Solution

73. A cross used to ascertian whether a
dominant is homozygous or heterozygous is

termed :


https://dl.doubtnut.com/l/_gVUHxCTJjADg
https://dl.doubtnut.com/l/_kjZkArCzp9Z7

A. Linkage cross

B. Reciprocal cross

C. Test cross

D. Monohybrid cross

Answer: C

o Watch Video Solution

74. In a dilhybrid cross where two parents
differ in two pairs of contrasting traits like

seed colour yellow (YY) and seed colour green


https://dl.doubtnut.com/l/_kjZkArCzp9Z7
https://dl.doubtnut.com/l/_Q8zUjychJrqZ

(yy) weith seed shapewrikled (rr) the number

of green coloOured seeds (yy) among sixteen

products of Fy, generation will be

A2

B.4

C.6

D.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8zUjychJrqZ
https://dl.doubtnut.com/l/_cbTHKDyva3Er

75. The genotypes of offspring in a gentic

cross is called graphical reprwsrntion to

calculate the probability of all possible

A. Pedigree analysis

B. Karyotoye

C. Punett square

D. Chromosome map

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cbTHKDyva3Er
https://dl.doubtnut.com/l/_NJ7tNDWKxaI9

76. A pea plant parent having violet coloured
flowers with unknown genotype was a plant
having white coloured flowers in the progeny
50% of the flowers were violet and 50% were
white. The genotype constitution of the

parent having violet coloured flower was:

A. Homozygous

B. Merozygous

C. Heterozygous

D. Hemizygous


https://dl.doubtnut.com/l/_NJ7tNDWKxaI9

Answer: C

o Watch Video Solution

77. In humans blue eye colour is recessive to
brown eye colour. If a boy has brown eyes and
mother blue-eyed, what would be phenotype
of father ?

A. Block eye

B. Brown eye

C. Green


https://dl.doubtnut.com/l/_NJ7tNDWKxaI9
https://dl.doubtnut.com/l/_IAaaMNij9hJn

D. Blue eye

Answer: B

° Watch Video Solution

78. When a cross is made between offspring
and its homozyous dommninant as

Or

When a plant o fF} generation is clossed with

homozygous dominat parents it is known as

A. Monohybrird cross


https://dl.doubtnut.com/l/_IAaaMNij9hJn
https://dl.doubtnut.com/l/_jELQoV5HCjsk

B. Dilybird cross

C. Back cross

D. Reciprocal cross

Answer: C

o Watch Video Solution

79. The colour based contrasting traits in
seven contrasting pairs, studied by Mendel in

pea plant were


https://dl.doubtnut.com/l/_jELQoV5HCjsk
https://dl.doubtnut.com/l/_eiOfVBeDTmPh

Al

B.2

C.3

D. 4

Answer: C

° Watch Video Solution

80. Pure tall plant is crossed to dwarf plant. F}

generation consists of only tall plants while F5


https://dl.doubtnut.com/l/_eiOfVBeDTmPh
https://dl.doubtnut.com/l/_YDazAQcESoDm

generation has both tall and dwarf in ratio of

3:1. The phenomenon is due to

A. Dominance

B. Inheritance

C. Co-dominance

D. Heredity

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YDazAQcESoDm

81. Which of the following id genotypic ratio of

mendel's monohybird cross

Al:3

B.3:1

C.1:2:1

D.1:1:1:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_J8nvo70qROsX
https://dl.doubtnut.com/l/_kqiRJvQ7R8F1

82. In a monhybird cross when F; is crossed

with homozygous dominant parent then

which type of offspring will obtain

A. Dominant :recessive 3:1

B. Only recessive

C. Dominant : recessive 1:1

D. NO recessive

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kqiRJvQ7R8F1
https://dl.doubtnut.com/l/_LTSkHgGN9EAw

8. A dihybrid for qualitative trait is crossed

with homozygous recessive individual of its

type, the phenotypic ratio is:

Al:2:1

B.3:1

C.1:1:1:1

D.9:3:3:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LTSkHgGN9EAw

84. Which of the follwing depicts the mendel's

dilhybird ratio

A 3:1

B.9:3:3:1

C.9:7

D.15:1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sVvTdeX3OyW3
https://dl.doubtnut.com/l/_Evo6xGVxLDFj

85. F'; generation in Mendelian cross showed

that both genotypic and phenotypic ratios are

same as 1:2: 1. It represents a case of:

A. Co-dominance

B. Dilybird cross

C. Monohybried crosss with complate

dominance

D. Monhybird cross with incomplate

dominance

Answer: D


https://dl.doubtnut.com/l/_Evo6xGVxLDFj

o Watch Video Solution

86. Blue flowered and white flowered plant on
crossing gave progeny of blue and white
flowered in the ratio of 60:40 what ratio of
blue and white is expected if the blue flowered

are self pollinated

A . 76:24

B.40: 60

C.52:48


https://dl.doubtnut.com/l/_Evo6xGVxLDFj
https://dl.doubtnut.com/l/_fgjjnQvaDshd

D.84:16

Answer: A

o Watch Video Solution

87. Pure homozygous offpriings in a silhbrid
cross in the Fy generation will be

A.1/2

B.1/4

C.1/8


https://dl.doubtnut.com/l/_fgjjnQvaDshd
https://dl.doubtnut.com/l/_ZfgAvNxB4okE

D.1/16

Answer: C

° Watch Video Solution

88. In mendelian monhybrird cross ,phentyopic
ratio in Fy is 3:1 How many types of gamees
are fopemaed in F generation

A. Only one type

B. Two types


https://dl.doubtnut.com/l/_ZfgAvNxB4okE
https://dl.doubtnut.com/l/_bZFGT5LINS7j

C. Four types

D. Eight types

Answer: B

o Watch Video Solution

89. When two genetic loci produce identical
phenotypes in cis as well as in trans position

,they aare considered to be

A. Pseudo allels


https://dl.doubtnut.com/l/_bZFGT5LINS7j
https://dl.doubtnut.com/l/_oOm88vJrPLiY

B. The parts of the same gane

C. Multiple allels

D. Differentgenes

Answer: B

o Watch Video Solution

90. If in a garden pea plant , cross is made
between red flowered and white flowered
plants . What will be the phenotypic ratio inFj

generation


https://dl.doubtnut.com/l/_oOm88vJrPLiY
https://dl.doubtnut.com/l/_v8sKftI8YVHz

Al:2:1

B.9:3:3:1

C.3:1

D.1:3

Answer: C

o Watch Video Solution

91. Test cross of dilhybried ratiois 1: 1:1:1. It

proves that


https://dl.doubtnut.com/l/_v8sKftI8YVHz
https://dl.doubtnut.com/l/_xpot2SkVO45R

A. F; hybrid produces four different

progeny

B. F7hybrid in homozygous

C. Two differaent progeny are produced by

P, parents

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xpot2SkVO45R

92. Mendel's principle of segregation means

that the germ cells always receive:

A. One pair of alleles

B. One quarter of the genes

C. One of the paired alleles

D. Any pair of alleles

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_52WHbZD4RNp6
https://dl.doubtnut.com/l/_hnoN3SDHqGy6

93. Mendel crossed a pure white -flowered

recessive pea plant with a dominant pure red-

flowered plant .the first generation og hybrid

from the cross should show

A.50% white -flowered and 50% red -

flowered plants

B. All red - flowered palnts

C.75% red-flowered and 25% white -

flowered plants

D. All white -flowered plants


https://dl.doubtnut.com/l/_hnoN3SDHqGy6

Answer: B

o Watch Video Solution

94. In Mendelism, linkage was not observed

due to:

A. Law of segregation

B. Law of multiple factor hyposthsis

C. Law of indendent assortment

D. Law of dominace


https://dl.doubtnut.com/l/_hnoN3SDHqGy6
https://dl.doubtnut.com/l/_f5pQ07iDZhhL

Answer: C

o Watch Video Solution

95. If dwarf pea plant was treated with
Gibberelic acid. It grew as tall as the pure tall
pea plant. If this treated plant is crossed with
a pure tall plant then the phenotypic ratio of

is likely to be

A. All dwarf

B. 50% dwarf 50% tall


https://dl.doubtnut.com/l/_f5pQ07iDZhhL
https://dl.doubtnut.com/l/_mYgHRKQp2JJx

C. 75% tall 25% dwarf

D. All tall

Answer: D

o Watch Video Solution

96. In a test cross involving F dihybrid flies,
more parental-type offspring were produced
than the recombinant-type offspring. This

indicates:


https://dl.doubtnut.com/l/_mYgHRKQp2JJx
https://dl.doubtnut.com/l/_4idSpLnD53f9

A.The two genes are located on two

different chromosomes

B. Chromosomes failed to separate during

meiosis

C. The two genes are linked and present on

the same chromosomes

D. Both of the characters are controlled by

more than one gene

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4idSpLnD53f9

97. A farmer crossed a walnut combed chicken
with a single combed one and obtained all
walnut combed chickens chickens in F;j. The

genotype of the parents was

A. RrPp X rrpp

B.RRPP X rrpp

C.Rpp X rrpp

D.RPP X rrpp

Answer: B


https://dl.doubtnut.com/l/_4idSpLnD53f9
https://dl.doubtnut.com/l/_rLQ34n6o72rK

° Watch Video Solution

98. When heterzygos red (dominant) flower is

crossed with white flower the progany would

be

A.350 red : 350 white

B. 450 red : 250 white

C.350red : 320 white

D. None of these

Answer: A


https://dl.doubtnut.com/l/_rLQ34n6o72rK
https://dl.doubtnut.com/l/_vh2DDn8DuYLE

° Watch Video Solution

99. A double heterozygous tall plant with
yellow colour ( colour of cotyledon) is selfed
the ratio of dwarf plants with green cotyledon
is

Probability of genotype TTrr in F, generation

of a dihybrid cross is
A

B

1
16
1
4
1
C.<


https://dl.doubtnut.com/l/_vh2DDn8DuYLE
https://dl.doubtnut.com/l/_ydPyaKodHS7a

Answer: A

° Watch Video Solution

100. In sweet pea plant the presence of
dominant C and P genes is essential for
development of purple colour. The ratio of
plants producing flowers of different colours
in the progany of the cross Cc Pp x Cc pp will

be


https://dl.doubtnut.com/l/_ydPyaKodHS7a
https://dl.doubtnut.com/l/_xkYBotE2IYXJ

A. 2 white and 6 purple coloured flowers

B. 2 purple and 6 white coloured flowers

C. 3 white and 5 purple coloured flowers

D. 2 purple and 6 white coloured flowers

Answer: D

o Watch Video Solution

101. When a tall and red flowered individual
individual is crossed with a dwarf and white

flavoured individual, phenotype in the progeny


https://dl.doubtnut.com/l/_xkYBotE2IYXJ
https://dl.doubtnut.com/l/_4tkBBBjj43fw

is dwarf and white. What will be the genotype
of tall and red flowered individual
or
Which genotype represents a true dihybrid
condition

A. TTRR

B. TtRR

C. TtRr

D. TTRr

Answer: C

| 8


https://dl.doubtnut.com/l/_4tkBBBjj43fw

102. Normal maize has starchly seeds which
remain smooth when dry. A mutant form has
surgery seeds which go crincked when dry.
When a mutant was crossed with a normal
plant, an F} was produced which had smooth
seeds. What would be the relative ratios of the
different seed types, if the F; was alowed to

self

A.1smooth : 3 sugary


https://dl.doubtnut.com/l/_4tkBBBjj43fw
https://dl.doubtnut.com/l/_9Heka1TOaAnK

B. 3 smooth : 1surgery

C.1smooth : 1sugary

D. All sugary

Answer: B

o Watch Video Solution

103. If a plant hetrozygous for tallness is
selfed, the F5 generation has both tall and
dwarf plants. This proves the principle of

or


https://dl.doubtnut.com/l/_9Heka1TOaAnK
https://dl.doubtnut.com/l/_yEtA9Dohlh81

when hytrozygous talll lants are self-pollinated

than tall and dwarf plants are obtained this is

explain to

A. Dominance

B. Segretion

C.Independent assortment

D. Incomplete dominance

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yEtA9Dohlh81
https://dl.doubtnut.com/l/_WQXxNCKc7YGt

104. From a single ear of corn, a farmer

planted 200 kernals which produced 140 tall

and 40 dwarf plants. The genotype of these

offsprings are most likely

A.TT, Tt and tt

B.TT and tt only

C.TT and Tt only

D. Tt and tt only

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WQXxNCKc7YGt

105. From a cross Aa BB x aa BB, following

genotypic ratio will be obtained in F;

generation

A.1Aa BB :1aaBB

B.1Aa BB :3 aaBB

C.3 AaBB:1aaBB

D. All Aa BB : No aa BB

Answer: A

’ o Watch Video Solution


https://dl.doubtnut.com/l/_WQXxNCKc7YGt
https://dl.doubtnut.com/l/_9sJShBtDK3bN

106. Hybrid breakdown refers to the condition

when offspring are physiological inferior to

the following generation

A F,

B. F,

C. P,

D. All of these

Answer: A

| €8


https://dl.doubtnut.com/l/_9sJShBtDK3bN
https://dl.doubtnut.com/l/_Q0XJ7yySUewc

| ¥ Watch Video Solution J

107. If the cells of an organism heterozygous
for two pairs of character via. Aa and Bb
undergo meiosis, what will be the genotypes
of the gamets produced

A. Aa and Bb

B. AB, aB, Ab and ab

C.aB and Ab

D. Ab and ab


https://dl.doubtnut.com/l/_Q0XJ7yySUewc
https://dl.doubtnut.com/l/_nngZDsPIRdrO

Answer: B

o Watch Video Solution

108. When AABB and aabb are crossed, in F
generations the ratio will be

A.1/16

B.2/16

C.8/16

D.4/16


https://dl.doubtnut.com/l/_nngZDsPIRdrO
https://dl.doubtnut.com/l/_6YVwCQWGPOIh

Answer: D

° Watch Video Solution

109. In a typical mendellian cross which is a
dihybrid cross, one parent is homozygous for
both recessive traits. In the F, generation,
both parental combinations and
recombination appear. The phenotypic ratio of
parental combination appear. The phenotypic
ratio of parental combinations to

recombinations is


https://dl.doubtnut.com/l/_6YVwCQWGPOIh
https://dl.doubtnut.com/l/_Fgxa9LCwwAIJ

A.10:6

B.12:4

C.9:7

D.15:1

Answer: A

° Watch Video Solution

10. In Mendelian dihybrid cross, when

heterozygous Round Yellow are self crossed,


https://dl.doubtnut.com/l/_Fgxa9LCwwAIJ
https://dl.doubtnut.com/l/_hYVL4hcnrXfI

Round Green offsprings are represented by

the genotype

A. RrYy,RrYY,RRYy

B. RrYy,RrYY,RRYY

C. rrYy,rrYY

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hYVL4hcnrXfI

111. If a cross is made between AA and aa, the

nature of F; progeny will be

A. Genotypically AA, phenotypically a

B. Genotypicaly Aa, phenotypically a

C. Genotypically Aa, phyenotypically A

D. Genotypically aa, phynotypically A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zjuY94lLKKle
https://dl.doubtnut.com/l/_Gn86Tnj4R21b

12. When a tall plant with rounded seeds
(TTRR) is crossed with a dwarf plant with
wrinkled seeds (ttrr), the F; generation
consists of tall plants with rounded seeds.
How many types of gamets an Fj plant would

produce

A. One

B. Three

C. Four

D. Eight


https://dl.doubtnut.com/l/_Gn86Tnj4R21b

Answer: A

° Watch Video Solution

113. In a plant, red fruit (R ) is dominant over
yellow fruit (r ) and tallness (T) is dominant
over shortness (t). If a plant with RRTt
genotype is crossed with a plant that is rrtt

A. 75% will be tall with red fruit

B. All the offspring will be tall with red fruit

C. 25% will be tall with red fruit


https://dl.doubtnut.com/l/_Gn86Tnj4R21b
https://dl.doubtnut.com/l/_H5yZasq6cMRy

D. 50% will be tall with red fruit

Answer: D

° Watch Video Solution

114. A self-fertilizing trihybrid plant forms

A.8 different gamets and 16 different

zygotes

B.8 different gamets and 32 different

zygotes


https://dl.doubtnut.com/l/_H5yZasq6cMRy
https://dl.doubtnut.com/l/_OvTDN62qrCdQ

C.8 different gamets and 64 different

zygotes

D.4 different gamets and 16 different

zygotes

Answer: C

o Watch Video Solution

115. Match the genetics phenomena with their

respective ratios


https://dl.doubtnut.com/l/_OvTDN62qrCdQ
https://dl.doubtnut.com/l/_hGtfZotlxIQo

Column -1 Column - 11

A. Inhibitory gene ratio 1. 9:3:4
B. Complementary generatio 2. 1:1:1:1
C. Recessive epistasis ratio 3. 12:3:1
D. Dihybrid test cross ratio 4  13:3

E. Dominant epistasis ratio 5 9:7

A. A-5,B-4,C-3,D-2,E-1

B. A-4,B-5,C-1,D-2,E-3

C. A-1,B-2,C-4,D-3,E-5

D. A-1,B-2,C-4,D-3,E-5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hGtfZotlxIQo
https://dl.doubtnut.com/l/_XuCdKLjrBUzX

116. If a tall plant is crossed with a dwarf plant
and obtained progeny is half tall and half
dwarf plants. Then the genotype of progony
will be

A T X

B. Tt X

C. T xTt

D.Tt x Tt

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XuCdKLjrBUzX

117. Mendel's law of independent assortment is

applicable for

A. All genes in all organism

B. All genes of pea plant only

C. All linked genes only

D. All non-linked genes only

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XuCdKLjrBUzX
https://dl.doubtnut.com/l/_rjKEtvilr25B

118. Hybrid vigour is induced by

A. Clonal selection

B. Crossing of plant

C. Crossing two plants

D. Species differentiation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EBK6aHeotESH

119. A tall true breeding garden pea plant is
crossed with a dwarf true breeding garden
pea plant. When the Fj plant were selfed the

resulting genotypeswere in the ratio of

A1 : 2 : 1 : Tall homozygous : Tall

hetrozygous : Dwarf

B.1 : 2 : 1 = Tall hetrozygous : Tall

homozygous : Dwarf

C.3:1:: Tall : Dwarf

D.3:1: Dwarf: Tall


https://dl.doubtnut.com/l/_q5sE8DKLM6xO

Answer: A

o Watch Video Solution

120. A true breeding plant is

A. Always homozygous recessive in its

genetic constitution

B. One that is able to breed on its own

C.Produced due to cross pollination

among unrelated plants


https://dl.doubtnut.com/l/_q5sE8DKLM6xO
https://dl.doubtnut.com/l/_FMrAaJSHtoUx

D.Near homozygous and produces

offspring of its own kind

Answer: D

o Watch Video Solution

121. Which one form those given below is the
periods for Mendel's hybridization

experiments

A. 1856-1863


https://dl.doubtnut.com/l/_FMrAaJSHtoUx
https://dl.doubtnut.com/l/_3Tlhc4Ut8gne

B. 1840-1850

C. 1857-1869

D. 1870-1877

Answer: A

o Watch Video Solution

122. Among the following characters, which
one was not considered by Mendel in his

experiment on pea


https://dl.doubtnut.com/l/_3Tlhc4Ut8gne
https://dl.doubtnut.com/l/_nQD1DpIUhbFU

A. Stem- Tall of dwarf

B. Trichomes -Gladular or non-glaulat

C. Seed- Green or yellow

D. Pod -Inflated or Constricted

Answer: B

o Watch Video Solution

123. Some genomic representation of skin
colour are given below

(1) AA bb CC (ii) AAbb cc


https://dl.doubtnut.com/l/_nQD1DpIUhbFU
https://dl.doubtnut.com/l/_HZTdCwPbQzb6

(iii) AA BB CC (iv) aa bb cc

Which of the optin is correct for showing the

darkness of colour of the skin in decreasing

order

Al — v — 11 — 111

B.7211 — 17 — 1 — v

C1rt — 1 — 17 — v

D.2 — 217 — 11 — 1V

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HZTdCwPbQzb6

124. Fruit colour in squash is an example of

A. Complementry genes

B. Inhibitory genes

C. Recessive epistasis

D. Dominant epistas

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HZTdCwPbQzb6
https://dl.doubtnut.com/l/_1NVB3v7cZlng

125. Leaf colour in Mirablis jalapa is

example of

A. Non-Mendelian inheritence

B. Mendilian inheritence

C. Chemical inheritence

D. Bot (b) and (c)

Answer: A

an

o Watch Video Solution



https://dl.doubtnut.com/l/_qZ6RhHU8fpUT
https://dl.doubtnut.com/l/_OlDOvXRKeENg

126. Genes present in the cytoplasm of

eukaryotic cells, are found in

A. Mitochondri and inherited viva egg

cytoplasm

B. Lysosomes and peroxisomes

C. Golgi bodies and smooth endoplasmic

reticulum

D. Plasitds and inherited via male gamete

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OlDOvXRKeENg

127. Lathyrus odoratus is an example of which

of the following genes

A. Supplementry genes

B. Complementry genes

C. Lethel genes

D. Condominant genes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OlDOvXRKeENg
https://dl.doubtnut.com/l/_tGAlrRQXxHbh

128. Besides activating the egg, another role of

a sperm is to carry to egg

A. RNA

B. Mitochondria

C. DNA

D. Ribosomes

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tGAlrRQXxHbh
https://dl.doubtnut.com/l/_H412Zc96cUBM
https://dl.doubtnut.com/l/_RiApiACIvSe8

129. In which one of the following,

complementry gene interception ratio 9:7 is

observed

A. Fruit shape in Spepherd's purse

B. Coat colour in mouse

C. Feather colour in fowl

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RiApiACIvSe8

130. Two or more independent genes present

on different chromosomes which determine

nearly same phenotype are called

A. Supplementry genes

B. Complementry genes

C. Duplicate genes

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ruldqOS5JAUa

131. a human male produces sperms with the
genetous AB,Ab,aB aand ab pertaining to two
diallic characters in equal proportions. What is
the corresponding genotype of the person

A. AaBb

B. AaBB

C. AABb

D. AABB

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_KHGrV6zwfSGh

132. In which mode of inheritance do you

except more maternal influence among the

offspring

A. Y-Linked

B. X-linked

C. Autosomal

D. Cytoplasmic

Answer: D

| s ]


https://dl.doubtnut.com/l/_KHGrV6zwfSGh
https://dl.doubtnut.com/l/_IWKr9USvAJwa

| @ Watch Video Solution

133. In Mirabilis a hybrid for red (RR) and white

(rr) flower produces pink (Rr) flower. A plant

with pink flower is crossed with white flower

the expected phenotypic ratio is

A.Red : Pink: White (1:2:1)

B. Pink : White (1: 1)

C.Red : White (1: 1)

D. Red : white (3: 1)


https://dl.doubtnut.com/l/_IWKr9USvAJwa
https://dl.doubtnut.com/l/_GdHKVDLxgv5Z

Answer: B

o Watch Video Solution

134. grain clour in wheat isdetermined by
three pairs if polygenes. Following the cross
AABBCC (dark colour) x aabbcc (light colour),
in F5 generation what proportion of the

progeny likely to resemble either parent

A. None

B. Less than 5 percent


https://dl.doubtnut.com/l/_GdHKVDLxgv5Z
https://dl.doubtnut.com/l/_myOeH2K4jnBs

C. One third

D. Half

Answer: B

o Watch Video Solution

135. The most likely reason for the
development of resistence against pesticides

in insects damaging a crop is

A. Directed mutation


https://dl.doubtnut.com/l/_myOeH2K4jnBs
https://dl.doubtnut.com/l/_aHGmDPlfNZK7

B. Acquired heritable change

C. Rndom mutations

D. Genetic recombination

Answer: B

o Watch Video Solution

136. In shortorn cattle genes for red (r;)and
white (r5) coat colour occcur. Crosses
between red (riry) and white (ryrs)

produced (r173) roan. This an example of


https://dl.doubtnut.com/l/_aHGmDPlfNZK7
https://dl.doubtnut.com/l/_snJyCt0CDf8h

A. Complementry genes

B. Epistasis

C. Codominance

D. Incomplete dominance

Answer: C

o Watch Video Solution

137. In Antirrhinium two plants with pink
flowers were hybridized. The F; plants

producedred, pink and white flowers in the


https://dl.doubtnut.com/l/_snJyCt0CDf8h
https://dl.doubtnut.com/l/_qUVOSFInsKDM

proportion of 1 red, 2 pink and1 white. What
could be the genotype of the two plants used
for hybridization. Red flower colour s
determined by RR, and white rr genes

A rrrr

B.RR

C.Rr

D.rr

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qUVOSFInsKDM

138. The gene intraction when on egenes
masks the effect
or
When a gene pair hides the effect of another,
the phenomenon is called

A. Complementry genes action

B. Supplementry gene action

C. Duplicate genes action

D. Epistasis


https://dl.doubtnut.com/l/_qUVOSFInsKDM
https://dl.doubtnut.com/l/_yghmACVzq5rO

Answer: D

o Watch Video Solution

139. What willl be the ratio in Fy; generations if
red flowered variety of Mirabilis jalapa is
crossed with white-flowered variety

or

Phenotypic ratio in plant Snapdragon in Fj is

A1:1:1:1

B. 1:2:1


https://dl.doubtnut.com/l/_yghmACVzq5rO
https://dl.doubtnut.com/l/_5fJ1nbWt7PWi

C.2:1

D.3:1

Answer: B

o Watch Video Solution

140. What would be the colour of flowers in F}
progeny as a result of cross between
homozygous red and homozygous white -

flowered Snapdragon


https://dl.doubtnut.com/l/_5fJ1nbWt7PWi
https://dl.doubtnut.com/l/_Is2l6ieIngag

A. Red

B. White

C. Red and white

D. Pink

Answer: D

o Watch Video Solution

141.9: 3: 3: 1 ratio is modified to 9: 7 ratio due

to


https://dl.doubtnut.com/l/_Is2l6ieIngag
https://dl.doubtnut.com/l/_2bPIFbtO70FT

A. Complementry genes

B. Epistasis gene

C. Hypostatic gene

D. Supplementry genes

Answer: A

o Watch Video Solution

142. Incomplete dominance is found in

A. Pisum sativum


https://dl.doubtnut.com/l/_2bPIFbtO70FT
https://dl.doubtnut.com/l/_HozM8gnkQXtf

B. Antirrhinum majus

C. Both (a) and (b)

D. None of these

Answer: B

o Watch Video Solution

143. Complete dominance is absent in
or

Incomplete dominance is shown by


https://dl.doubtnut.com/l/_HozM8gnkQXtf
https://dl.doubtnut.com/l/_utIoo7NRDaGX

A. Pisum sativum

B. Mirabilis jalapa

C. Lathyrus odoratus

D. Oenothera lamarckina

Answer: B

o Watch Video Solution

144. When an albino female pInt of maize is
crossed with normal green male plant, all

plants in the progeny are albino because


https://dl.doubtnut.com/l/_utIoo7NRDaGX
https://dl.doubtnut.com/l/_4qRdcwe5RXzK

A. Plastids are inherited through maternal

plants

B. Albinism is dominant over green

character

C.The crossing results in structural

changes in plastids

D. Green plastidsof male parents become

mutated

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4qRdcwe5RXzK

145. Kappa particles indicates

A. Nuclear inheritence

B. Cytoplasmic inheritence

C. Mutation

D. Nucleo-cytoplasmic inheritence

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4qRdcwe5RXzK
https://dl.doubtnut.com/l/_hQg88Dp1DDgW
https://dl.doubtnut.com/l/_B23Sp8SEEPHI

146. Mirabilis jalapa is a good example of

A. Complete dominance

B. Plastid inheritence

C. Both (a) and (b)

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_B23Sp8SEEPHI

147. Which of the following is associated with

multiple phenotypes

A. Epistasis

B. Pleiotrpy

C. polygenic inheritence

D. Mutation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eveYQXVP7yrc
https://dl.doubtnut.com/l/_kLhJ0zRpzUFO

148. Human skin colour is controlled by several
gene pairs. Let us assume here that there are
just three gene pair on different chromosome
and that for each paior there are two alles - an
incompletely dominant one that codes for
melanin deposition. If a very dark skinned
person marries a very light skinned woman,
what will be the chance that their offspring

will have very dark skin

A.O

B.1/4


https://dl.doubtnut.com/l/_kLhJ0zRpzUFO

C.5/8

Answer: A

o View Text Solution

149. After crossing two plants, the progenies
are found to be male sterile. The phrnomenon
is found to be maternally inherited and is due

to some genes which reside in


https://dl.doubtnut.com/l/_kLhJ0zRpzUFO
https://dl.doubtnut.com/l/_r7kLvXY7hCEx

A. Nucleus

B. Chloroplast

C. Mitochondria

D. Cytoplasm

Answer: D

o Watch Video Solution

150. Plasmids so found in bacteria is

A. Extra nuclear DNA


https://dl.doubtnut.com/l/_r7kLvXY7hCEx
https://dl.doubtnut.com/l/_Wr0XHfAMn7go

B. Food particles

C. Deas protoplasmic parts

D. None of these

Answer: A

o Watch Video Solution

151. F; hybrid is intermediate between the two

parents. The phenomenon is

A. Codominance


https://dl.doubtnut.com/l/_Wr0XHfAMn7go
https://dl.doubtnut.com/l/_5VDVU1nB1ULp

B. Dominance

C. Blending inheritence

D. Incomplete dominance

Answer: D

o Watch Video Solution

152. Extranuclear inheritence (cytoplasmic
inheritence) is a conseuence of presence of

genes in


https://dl.doubtnut.com/l/_5VDVU1nB1ULp
https://dl.doubtnut.com/l/_Eww0m15WZuxi

A. Ribosomes and chloroplast

B. Lysomomes and ribosomes

C. Mitochondria and chloroplast

D. Endoplasmic reticulum and

mitochondria

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Eww0m15WZuxi

153. Genes for cytoplasmic male sterlity in
plants are generally located in

or

in a cross between red kernelled and white
kernelled varities of wheat showing polygenic
inheritence the phenotypic ratio in Fj

generation will be

A. Mitochondrial genome

B. Cytosol

C. Chloroplast genome


https://dl.doubtnut.com/l/_cT5tb4U76eGa

D. Nuclear genome

Answer: A

° Watch Video Solution

154. The phenotypic ratio obtained in
quantitive inheritance of a dihybrid cross is

or

In a cross between red kernelled and white

kernelled varities of wheat showingf polygenic


https://dl.doubtnut.com/l/_cT5tb4U76eGa
https://dl.doubtnut.com/l/_f25izuDovaIZ

inheritence the phenotypic inheritence the

phenotypic ratio in Fy, generation will be

Al:2:1

B.1:4:6:4:1

C.1:6:15:20:15:6:1

D.9:3:3:1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_f25izuDovaIZ

155. A plasmid is

A. Lives together with chromosomes

B. Shows dependent assortment

C. Can replicate independently

D. Cannot replicate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vwpPxSKqyGt4

156. the F) generation offspring in a plant

showing incomplete dominance,exhibit

A. Variable genotypic

B. A genotytpic ratioof 1:1

C. A phenotypicratio of 3: 1

D. Similar phenotype and genoptypic ratio

of1:2:1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4ToxQj8Bs4Jy

157. The evidence that crossing over occurs at
four stranded stage and not at two stranded
stage of the chromosomes, comes from
A.2:2:2:2 arrangement of ascospores in
Neurospora
B.4:4 arrangement of ascospores in
Neurospora

C. Studies of meiosis in maize


https://dl.doubtnut.com/l/_4ToxQj8Bs4Jy
https://dl.doubtnut.com/l/_4VG6739IHRgk

D.Studiess on linkage maps of

chromosomes in Drosophila

Answer: A

o Watch Video Solution

158. The four daughters cells derived from a

single meiosis differ from each other due to

A. Difference in chromosomes number

B. Crossing over only


https://dl.doubtnut.com/l/_4VG6739IHRgk
https://dl.doubtnut.com/l/_njk3OdCSOX5Y

C.Independent assortment of
chromosomes only
D. Crossing over as well as independent

assortment of chromosomes

Answer: D

o Watch Video Solution

159. Coupling and repulsion are the two faces

of


https://dl.doubtnut.com/l/_njk3OdCSOX5Y
https://dl.doubtnut.com/l/_JAHlI5W5BFSk

A. Crossing over

B. Linkage

C. Chiasmata

D. Mutation

Answer: B

o Watch Video Solution

160. The map distance between genes A and B
is 3 units, between B and C 10 units and

between C and 7 units. The order of the genes


https://dl.doubtnut.com/l/_JAHlI5W5BFSk
https://dl.doubtnut.com/l/_m7DtMPOlyntN

in the linkage map constructed in the above

data would perhapes be

A.AB,C

B.ACB

C.B,CA

D. B,A,C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_m7DtMPOlyntN

161. Alles of different genes that are on the

same chromosomes may occasionaly
seperated by a phenomenon known as
or
Linked gene are seperated by
A. pleotropy
B. Epistasis

C. Continous variation

D. Crossing over

Answer: D

be


https://dl.doubtnut.com/l/_oECNScrAlKsx

° Watch Video Solution

162. Which one of the following pairs is

correctly matched

A.morgan Discovered the process of

linkage

B. Linus Pauling isolated DNA for the first

time

C. Francis Crick Discovered the

phenomenon of transformation


https://dl.doubtnut.com/l/_oECNScrAlKsx
https://dl.doubtnut.com/l/_YuNULQhaCdKA

D. HKhorana Discovered that a sequence of

3 nucleotides codes for a single amino

acid

Answer: A

o Watch Video Solution

163. Which of the following animal was

selected by morgan for studying linkage

A. Apis indica


https://dl.doubtnut.com/l/_YuNULQhaCdKA
https://dl.doubtnut.com/l/_ERsSdhpXXU1E

B. Agrobacterium tumifaciens

C. Drosophila melanogaster

D. E.coil

Answer: C

o Watch Video Solution

164. In Morgan 's experiments on linkage , the
percentage of white eyed miniature winged

recompbinants in Fy generation is


https://dl.doubtnut.com/l/_ERsSdhpXXU1E
https://dl.doubtnut.com/l/_P7ZaSgh77ocm

A 13

B.37.2

C.6238

D.73.2

Answer: B

o Watch Video Solution

165. R and y genes of Maize lie very close to
each other . When RRYY and rryy gneotypes

are hybridised , Fy, genertion will show


https://dl.doubtnut.com/l/_P7ZaSgh77ocm
https://dl.doubtnut.com/l/_5LtSJgN42f3c

A. Higher number of the recombinant types

B. Segregation in the expected 9:3:3:1

ratio

C. Segregation in 3 : 1ratio

D. Higher number of the parental types

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5LtSJgN42f3c

166. The number in linkage group in E.coil is /
are

A4

B.2

C.1

D.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Sf3QbL9sXxeG
https://dl.doubtnut.com/l/_CRmQjCFX9CZ2

167. Crossing-over occurs in the

A. Leptotene stage

B. Pachytene stage

C. Anaphase stage

D. Diakinesis stage

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CRmQjCFX9CZ2

168. Mendel observed that some characters

did not assort independantly. Later

researchers found it to be due to

A. Crossing over

B. Linkage

C. Dominance of one trait over the other

D. Amitosis

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yODQy5q7tiCY

169. Exchange of genetic material between
chromatids of homologus chromosomes
during meiosis is called

or

Recombination is involved in the process of

A. Synapsis

B. Chiasmata

C. Transformation

D. Crossing over

Answer: D


https://dl.doubtnut.com/l/_7lHqNstCPKSL

° Watch Video Solution

170. The scientist who have given the theory

linkage are

A. Morgan andd Castle

B. Beadle and Tatum

C. Watson and Crick

D. Bateson and Punnet

Answer: A

| 8 l


https://dl.doubtnut.com/l/_7lHqNstCPKSL
https://dl.doubtnut.com/l/_pCltxf3Sd2oc

171. Which one of the followingt is the most

suitable medium for culture of Drosophila

melanogaster

A. Ripe banana

B. Cow dung

C. Moist bread

D. Agar agar

Answer: A



https://dl.doubtnut.com/l/_pCltxf3Sd2oc
https://dl.doubtnut.com/l/_tNa6TFwopYQZ

I 0 Watch Video Solution

172. Depending upon the distance between
any two genes, which is inversely proportional
to the strength of linkage, cross overs will vary
from

A. 50-100%

B. 0-50%

C. 75-100%

D. 100-150%


https://dl.doubtnut.com/l/_tNa6TFwopYQZ
https://dl.doubtnut.com/l/_et0takRxsNfL

Answer: B

o Watch Video Solution

173. Linkage deecrease the frequency of

A. Hybrid

B. Dominant allele

C. Recessive allele

D. Both (a) and (b)

Answer: A


https://dl.doubtnut.com/l/_et0takRxsNfL
https://dl.doubtnut.com/l/_o1cFrv9Fxpo9

O Watch Video Solution

174. Crossing over in diploid organisms is

responsible for

A. Dominance of genes

B. Linkage between genes

C. Segregatio of alleles

D. Recombination of linked allele (genes)

Answer: D

| 8 l


https://dl.doubtnut.com/l/_o1cFrv9Fxpo9
https://dl.doubtnut.com/l/_67DHDItezQ8C

175. The figure shows a homologue (bivalent)

pair of chromosomes during meiosis

R S T
- 1 L
A ONSEINE!
: X
O s

Which one of the following option correctly

illustrates the final products of the second

meiotic divison

R S 1
R s

(a) :O::, i
r s

I |

A.

|


https://dl.doubtnut.com/l/_67DHDItezQ8C
https://dl.doubtnut.com/l/_s6f5Osd3MYie

Answer: C

o View Text Solution

176. Linkage was first observed in

A. Field pea

B. Sweet pea


https://dl.doubtnut.com/l/_s6f5Osd3MYie
https://dl.doubtnut.com/l/_Xrl4Lbdk4fVK

C. Pea

D. Grass pea

Answer: B

° Watch Video Solution

177. What is the unit of crossing over

A. Cistron

B. Muton

C. Recon


https://dl.doubtnut.com/l/_Xrl4Lbdk4fVK
https://dl.doubtnut.com/l/_SdUtHqxfwxlH

D. None of the above

Answer: C

° Watch Video Solution

178. Crossing over that results in genetic

recombination in higher organisms occurs

between

A. Two daughter nuclei

B. Two different nuclei


https://dl.doubtnut.com/l/_SdUtHqxfwxlH
https://dl.doubtnut.com/l/_paGOEOwcCqLn

C. Sister chromatids of a bivalent

D. Non-sister chromatids of a bivalent

Answer: D

o Watch Video Solution

179. When closely placed genes on the same
chromosomes are inherited toether the

phenomenon is known as

A. Qualitative inheritence


https://dl.doubtnut.com/l/_paGOEOwcCqLn
https://dl.doubtnut.com/l/_cfzyWeE7Hc8l

B. Crossing over

C. Gene interaction

D. Linkage

Answer: D

o Watch Video Solution

180. Genetic maps of chromosomes are based

on the frequency of

A. Non-disjunction


https://dl.doubtnut.com/l/_cfzyWeE7Hc8l
https://dl.doubtnut.com/l/_qdFm73l29T1u

B. Translocation

C. Dominance

Answer: D

o Watch Video Solution

181. Number of linkage group in Pisum sativum
is
or

How many pairs of contrasting charaters in


https://dl.doubtnut.com/l/_qdFm73l29T1u
https://dl.doubtnut.com/l/_NSrgwCD3wj4U

pea planets were studied by mendal in his

experiments

A2

B.5

C.7

D.9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NSrgwCD3wj4U

182. Sexual reproduction leads to :

A. Genetic recombination

B. Polyploidy

C. Aneuploidy

D. Euploidy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BZhpGayMdazA

183. The stage during which separation of the

paired homologous chromosomes begin is

A. Pachytene

B. Diplotene

C. Diakinesis

D. Zygotene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_B0X7cJqoM0mV
https://dl.doubtnut.com/l/_PLR7O0CQXGPy

184. For the preparation of genetics maps , the

recombination frequencies between genes are

additive over short distances but not over

long distance due to

A. Multiple cross overs

B. Lethal mutation

C. Epistasis

D. Synaptonemal complex

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_PLR7O0CQXGPy

185. Genetics recombination occurs through

A. Mitosis and fertilization

B. Mitosis and meiosis

C. Meiosis and fertilaztion

D. None of the above

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_PLR7O0CQXGPy
https://dl.doubtnut.com/l/_qZz5fdVsucxO

186. When synapsis is complete all along the

chromosomes, the cell is said to have entered

a stage called

A. Zygotene

B. Pachytene

C. Diplotene

D. Diakinesis

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_faFpopjtirkN

187. What will be the number of linkage groups

in maize if it has 10 pairs of chromosomes

or

What will be the number of linkage groups in

a cell having 2n=20

A5

B.10

C. zero

D. 20

Answer: B


https://dl.doubtnut.com/l/_o6J5t4XqqtWP

° Watch Video Solution

188. In case of incomplete linkage , the

parental combinations obtained if F}

generation are:

Al

B. More than 50%

C.0.25

D. Less than 50%

Answer: B


https://dl.doubtnut.com/l/_o6J5t4XqqtWP
https://dl.doubtnut.com/l/_YuyjZVQjw59h

° Watch Video Solution

189. Chiasma shows the sites of

A. Spindle formation

B. Synapsis

C. Crossing over

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YuyjZVQjw59h
https://dl.doubtnut.com/l/_vwuwS5lBVYfF

190. which of the following statements is not

true of two genes that show 50 %

recombination frequency ?

A.If the genes are present on the same

chromosomes, they ub=ndergo more

than one crossovers in every meiosis

B.The genes may be on different

chromosomes

C. The genes are tightly linked


https://dl.doubtnut.com/l/_vwuwS5lBVYfF
https://dl.doubtnut.com/l/_uF6rvcUFPwIV

D. The genes show independent

Answer: C

o Watch Video Solution

191. How many pairs of homologous

chromosomes are present in human

A. 46

B.44

C. 22


https://dl.doubtnut.com/l/_uF6rvcUFPwIV
https://dl.doubtnut.com/l/_A3FGyGxZA81S

D. 23

Answer: D

o Watch Video Solution

192. The name chromatin was coined by

A. Flemming

B. Robert brown

C. George Palada

D. Camillio Golgi


https://dl.doubtnut.com/l/_A3FGyGxZA81S
https://dl.doubtnut.com/l/_GLKvGoboUkyI

Answer: A

o Watch Video Solution

193. Polytene chromosomes were first

observed by

A. Batanetzky-1980

B. Heitz and Bauer-1935

C. Balbiani-1881

D. Steves and wilson-1905


https://dl.doubtnut.com/l/_GLKvGoboUkyI
https://dl.doubtnut.com/l/_MUI7pSiYfVzA

Answer: C

o Watch Video Solution

194. The terminal end of a chromosomes were

first obsereved by

A. Centromere

B. Chromomere

C. Telomere

D. Metamere


https://dl.doubtnut.com/l/_MUI7pSiYfVzA
https://dl.doubtnut.com/l/_dILI7cL9d8Od

Answer: C

o Watch Video Solution

195. Which of the following is the correct

sequence of units genetics arranged in

descending order of size

A. Gene — Cistron — Muton — Recon

B. Gene — Muton — Cistron — Recon

C. Gene — Recon — Cistron — Muton

D. Gene — Cistron — Recon — Muton


https://dl.doubtnut.com/l/_dILI7cL9d8Od
https://dl.doubtnut.com/l/_9KTmA5KaIlgs

Answer: D

o View Text Solution

196. Centromere is a part of chromosomes

which helps in the

A. Divison of centrosomes

B. Formation of spindle fibres

C. Movementof chromosomes

D. Formation of nuclear spindle


https://dl.doubtnut.com/l/_9KTmA5KaIlgs
https://dl.doubtnut.com/l/_sOGvYGIvR7OU

Answer: C

o Watch Video Solution

197. The chromosomes number in meiocyte is

34.The organism could be

A. Ophioglossum

B. Dog

C. Onion

D. Apple


https://dl.doubtnut.com/l/_sOGvYGIvR7OU
https://dl.doubtnut.com/l/_yfjtSbQ7DTFH

Answer: D

o Watch Video Solution

198. The distance between the genes a,b,c and

d in mapping units are a-d=3,5, b-c=1,a-b=6,c-

d=15, a-c=5. Find out the sequence of

arrangeent of these genes

A. acdb

B. abcd

C. acbd


https://dl.doubtnut.com/l/_yfjtSbQ7DTFH
https://dl.doubtnut.com/l/_vg0f9xFoZ2Q1

D. adcb

Answer: D

o Watch Video Solution

199. The Number of autosomes in normal

human sperm is :

A 11

B.44

C. 22


https://dl.doubtnut.com/l/_vg0f9xFoZ2Q1
https://dl.doubtnut.com/l/_RqIKV026J9Cd

D. 45

Answer: B

° Watch Video Solution

200. In a certain species of animal, genes T, UV
and W occur on the same chromosome.The
following table give their crossover values

(COVs)


https://dl.doubtnut.com/l/_RqIKV026J9Cd
https://dl.doubtnut.com/l/_60sjmnEvibfb

| Mmked geme poiv  COV

 Taael : s
Tad' i 5 )
Vard ! %
Uand W ’ 0
VadW 20 E

Which of the following option shows the

appropriate order of the genes on the

chromosomes

A . VW,T,U
B. T,V,W,U
C. TWUV

D. V,TW,U


https://dl.doubtnut.com/l/_60sjmnEvibfb

Answer: D

o Watch Video Solution

201. the long and short arms of chromosome

are designated respectively as :

A.p and g arms

B.q and p arms

C.mand p arms

D.l and s arms


https://dl.doubtnut.com/l/_60sjmnEvibfb
https://dl.doubtnut.com/l/_7OkBpnXGK9EL

Answer: B

o Watch Video Solution

202. Unfertilzed egg of human contains :

A. Two X chromosomes

B. One X and Y chromosomes

C.One Y chromosomes only

D. One X chromosomes only

Answer: D


https://dl.doubtnut.com/l/_7OkBpnXGK9EL
https://dl.doubtnut.com/l/_HdzoUPtEIW9m

° Watch Video Solution

203. The structure present over chromosome
is
Or
The structure of the chromosome to which

spindle fibre is attached is

A. Nucleous

B. Centromere

C. Centrochrome


https://dl.doubtnut.com/l/_HdzoUPtEIW9m
https://dl.doubtnut.com/l/_vsN4l3jxj5GD

D. Golgi bodies

Answer: B

o Watch Video Solution

204. Match coulumn | with column I and

select the correct option

Column | } Columin 11
(Name of the (Haploid chromosome \
organism) numbgl in gamete)
9 l Obhmglo;\'um

R;(e

Potato e

A. A-1,B-2,C-3,D-4


https://dl.doubtnut.com/l/_vsN4l3jxj5GD
https://dl.doubtnut.com/l/_mjsaMcGau8dd

B. A-2, B-3,C-4,D-1

C. A-3,B-4,C-2,D-1

D. A-4, B-3,C-2,D-2

Answer: D

o Watch Video Solution

205. Who used the word "chromosome"

A. Huxley

B. Flemming 1888


https://dl.doubtnut.com/l/_mjsaMcGau8dd
https://dl.doubtnut.com/l/_r8sT5ahU1zOK

C. Kolikar 1888

D. Waldeyer 1888

Answer: D

o Watch Video Solution

206. The theory of recombinaiton of linked
gene due to the crossing over of chromosome

during zygotene of meiosis put forwarded by

A. TH.Morgan


https://dl.doubtnut.com/l/_r8sT5ahU1zOK
https://dl.doubtnut.com/l/_oTrCi9KeRiiT

B. Punnet

C. Mendel

D. Connes

Answer: A

o Watch Video Solution

207.Solenoid is sa structure of

A. Nuccleosomal organization with 10nm

thickness


https://dl.doubtnut.com/l/_oTrCi9KeRiiT
https://dl.doubtnut.com/l/_KdzERUPmXFmo

B. Condensed chromatin fibre with 30nm

diameter

C.Highly condensed from o fchromatid

with 300nm thickness

D. Well organised chromtid with 700nm

thickness

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KdzERUPmXFmo

208. Total collection of genes at any time in a
unit of evolution is
Or
The sum of genes ina populaltiona is called
A. Gene bank
B. germplasm collection

C. Gene library

D. Genome

Answer: D

‘ ° Wiak~lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_j3V0W3Q8ZDiO

YVCILLIL VI INAGINIE L J

209. The distance between two genes in a

chromosome is measured in cross unitsin

which present

A. Ratio of crossing over between them

B. Percentage of crossing over between

them

C. Number of crossing over between them

D. None of these


https://dl.doubtnut.com/l/_j3V0W3Q8ZDiO
https://dl.doubtnut.com/l/_9PmAQc1oQK4Z

Answer: B

o Watch Video Solution

210. The chromosomal number in the

meiocytes of housefly is :

A.8

B. 12

C. 21

D. 23


https://dl.doubtnut.com/l/_9PmAQc1oQK4Z
https://dl.doubtnut.com/l/_rM0BGWzK95ln

Answer: B

o Watch Video Solution

211. A chromosome, in which the centromere is

situated is situated close to its end so that

one arm is very short and other vey long is

A. Acroentric

B. Metacentric

C. Sub-metacentric

D. Telecentric


https://dl.doubtnut.com/l/_rM0BGWzK95ln
https://dl.doubtnut.com/l/_Hu4L1jmOikWU

Answer: A

o Watch Video Solution

212. In polytene chromosomes dark bands are

visible. These bands are formed by the

apposition of

A. Protein particles

B. Chromomeres on chromonemata

C. Nucleosomes

D. None of these


https://dl.doubtnut.com/l/_Hu4L1jmOikWU
https://dl.doubtnut.com/l/_wMUDP2nUAsaw

Answer: B

o Watch Video Solution

213. The structure in chromatin seen as 'beads-

on' string' when viewed under electron

microscope are called

A. Nucleosome

B. Nucleolus

C. Chromosome

D. Lysosome


https://dl.doubtnut.com/l/_wMUDP2nUAsaw
https://dl.doubtnut.com/l/_lZeNhE60xEc1

Answer: A

o Watch Video Solution

214. Heterochromatin remains condensed in

which part of chromosome

A. secondary constrictions- |

B. secondary constrictions- II

C. Telomeres

D.Bothaandb


https://dl.doubtnut.com/l/_lZeNhE60xEc1
https://dl.doubtnut.com/l/_QGn6cMmAfsGE

Answer: A

o Watch Video Solution

215. Chromosomal theory of inhertance was

bassed on :

A. Sex linkage

B. Segregation of genes

C. Diploidy and haploidy

D. presence of sex chromosomes


https://dl.doubtnut.com/l/_QGn6cMmAfsGE
https://dl.doubtnut.com/l/_JDf0roqXKbm4

Answer: b

o Watch Video Solution

216. Number of (approximately) genes in E. coli

are

A. 4000

B. 6000

C. 10000

D. 180000


https://dl.doubtnut.com/l/_JDf0roqXKbm4
https://dl.doubtnut.com/l/_RcF51kJwChUN

Answer: B

o Watch Video Solution

217.The largest gene in man is :

A. Dystrophin

B. Insulin gene

C. Beta globin gene of haemoglobin

D. Tumor suppressor gene

Answer: A


https://dl.doubtnut.com/l/_RcF51kJwChUN
https://dl.doubtnut.com/l/_GKqZNWi6XlMW

° Watch Video Solution

218. Tizo and levan's contribution is very

significant becasuse they

A. Gave the number of human

chromosomes

B. Pointed out mutational changes

C. Detected sex linkage

D. linked genes


https://dl.doubtnut.com/l/_GKqZNWi6XlMW
https://dl.doubtnut.com/l/_8DrpCNjHdcbB

Answer: A

o Watch Video Solution

219. Depending upon size and cetromere

position, the 46 chromosomes have been

divided into a number of groups

A.6

B.5

C.7

D.10


https://dl.doubtnut.com/l/_8DrpCNjHdcbB
https://dl.doubtnut.com/l/_XvIMARISwyqv

Answer: C

o Watch Video Solution

220. The grouping of human chromosomes is

based on

A. Secondary construction alon

B. Dot-like satellites laon

C. Banding patterns alon

D. All the above


https://dl.doubtnut.com/l/_XvIMARISwyqv
https://dl.doubtnut.com/l/_5eDnkAgsXnYn

Answer: C

o Watch Video Solution

221. Geneticist plot the relative locations of

genes on chromosomes by which of these

methods

A. Using powerful microscopes

B. Calculating the number of genes

C. Determining the frequency of crossing

over


https://dl.doubtnut.com/l/_5eDnkAgsXnYn
https://dl.doubtnut.com/l/_gv9MXMukZlt3

D. Exposing animals to radiations

Answer: C

o Watch Video Solution

222. Genes ar made up of

Or

Genes are chemically

A. Histones

B. Hydrocarbons


https://dl.doubtnut.com/l/_gv9MXMukZlt3
https://dl.doubtnut.com/l/_09BC5Oa9BDkf

C. Polynucleotides

D. Lipoproteins

Answer: C

° Watch Video Solution

223. Genes are located in

A. Ribosomes

B. Lysomes

C. chromosomes


https://dl.doubtnut.com/l/_09BC5Oa9BDkf
https://dl.doubtnut.com/l/_dqH0bcqc1c4C

D. Spherosomes

Answer: C

° Watch Video Solution

224. The chemical nature of chromatin is :

A. Nuccleic acids

B. Nuccleic acids &histone proteins

C. Nuccleic acids histone & non histone

proteins


https://dl.doubtnut.com/l/_dqH0bcqc1c4C
https://dl.doubtnut.com/l/_D3AJF33WCf7I

D. Nucleic acids & non-histone proteins

Answer: C

° Watch Video Solution

225. Chromosomal theory of inheritance was

given by

A. Gregor Johann Mendel

B. Hugo de Varies

C. Landon Down


https://dl.doubtnut.com/l/_D3AJF33WCf7I
https://dl.doubtnut.com/l/_jKH6aRhVtb7b

D. Thomas Hunt Morgan

Answer: D

o Watch Video Solution

226. Number of histone proteins in each

nucleosome core is

A.8

B.10

C.12


https://dl.doubtnut.com/l/_jKH6aRhVtb7b
https://dl.doubtnut.com/l/_NSafrGGSzWia

D. 14

Answer: A

o Watch Video Solution

227. Karyotype is

A. Chromosome complement which at

specific for each species of living

organism


https://dl.doubtnut.com/l/_NSafrGGSzWia
https://dl.doubtnut.com/l/_X3O0fv5Yiebo

B. All organism posseing same type of
chromosomes
C. Division of necleus

D. None of these

Answer: A

o Watch Video Solution

228. What would be the number of
chromosomes of the aleurone cells of a plant

with 42 chromosomes in its root tip cells?


https://dl.doubtnut.com/l/_X3O0fv5Yiebo
https://dl.doubtnut.com/l/_DManqkD9T8xT

A 21

B.42

C.63

D. 84

Answer: C

° Watch Video Solution

229. Genes which are cofined to differential

region of the Y-chromosome only are called :


https://dl.doubtnut.com/l/_DManqkD9T8xT
https://dl.doubtnut.com/l/_Bs7epPKkk7Z6

A. Mutant

B. Autosomal

C. Holndric

D. Completely sex-linked

Answer: C

o Watch Video Solution

230. Crossing overt takes palace at a stage

between


https://dl.doubtnut.com/l/_Bs7epPKkk7Z6
https://dl.doubtnut.com/l/_c2g14OSDC2hj

A. Letotone and dipotene

B. Pachytene and diplotene

C. Zygotene and pachytene

D. Zygotene and diplotene

Answer: B

o Watch Video Solution

231. What is the chromosome number

plasmodium

of


https://dl.doubtnut.com/l/_c2g14OSDC2hj
https://dl.doubtnut.com/l/_1M0zbLNn8pjl

A.18

B.14

C.10

D.9

Answer: B

o Watch Video Solution

232. The polytene chromosomes were

discovered for the first time in


https://dl.doubtnut.com/l/_1M0zbLNn8pjl
https://dl.doubtnut.com/l/_g1INh6LMydPB

A. Chrinomus

B. Fruitfly

C. Drosophila

D. House fly

Answer: A

° Watch Video Solution

233. A child receives

A. 25% genes form his father


https://dl.doubtnut.com/l/_g1INh6LMydPB
https://dl.doubtnut.com/l/_ecg36EcFvDws

B. 50% genes form his father

C. 75% genes form his father

D. 100% genes form his father

Answer: B

o Watch Video Solution

234. Telomere repetitive DNA sequences
control  the  function of  eukaryote

chromosomes because they


https://dl.doubtnut.com/l/_ecg36EcFvDws
https://dl.doubtnut.com/l/_zbIuNPUk1to7

A. Act as replicons

B. Are RNA transciption initiator

C. Help chromosome pairing

D. Prevent chromosome loss

Answer: D

o Watch Video Solution

235. Genes are in the form of :

A. Sequence of nucleotide


https://dl.doubtnut.com/l/_zbIuNPUk1to7
https://dl.doubtnut.com/l/_13DuVDUN0274

B. Base pair

C. Proportion of base pair

D. None of these

Answer: A

o Watch Video Solution

236. The genome of Caenohabditis eigans

consists of

A. 3 billion base pair and 30,000 genes


https://dl.doubtnut.com/l/_13DuVDUN0274
https://dl.doubtnut.com/l/_KQ5MVB4MErp0

B. 180 billion base pair and 13,000 genes

C. 4.7 billion base pair and 4,000 genes

D. 97 billion base pair and 18,000 genes

Answer: D

o Watch Video Solution

237. Match the number of genes given in

Column-l with names of organisms in Column-


https://dl.doubtnut.com/l/_KQ5MVB4MErp0
https://dl.doubtnut.com/l/_DNlb56m3xNN2

Il and chosse the correct alternatives:

Column -1 Column - ]
A1 AS016 700 genes 1 Escherichia coli
B 4000 genes 2. | Dresophila
__| melanogaster
¢ 173,000 qenes 3. | Mycoplasma 1
D[ 3200010 50,000 genes | 4. | Home sapiens
Eol 350001045000 genes | 5. | Oryza sativa

A. A-2,B-1,C-5,D-3,E-4

B. A-3,B-1,C-2,D-5,E-4

C. A-3,B-2,C-1,D-5,E-4

D. A-2,B-3,C-1,D-5,E-4

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_DNlb56m3xNN2

238. Arrangement of chromosomes in the

order of decreasing length is termed

A. Pedigre

B. Eugenetics

C.ldiogramm

D. Dysengenics

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DNlb56m3xNN2
https://dl.doubtnut.com/l/_Bb2bvEAA14xr

239. The condensation of the chromosomes

are mamimal with visible centromeres at

which phase of cell cycle

A. G phase

B.S phase

C. G5 phase

D. M phase

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ovhudVxeBNx4

240. A normal metaphase, chromosome with a
middle centrome is
Or
Chromosomes whose arms are equal are
called

A. Metacentric

B. Sub-metacentric

C. Acrocentric

D. Telecentric

Answer: A


https://dl.doubtnut.com/l/_WWCjL2cAX0al

° Watch Video Solution

241. The males of grasshoppers and bugs

posses two sets of autosomes and :

A. X and Y chromosomes

B. Only Y chromosomes

C. Only X chromosomes

D. Neither X and Y chromosomes

Answer: B

| 8 l


https://dl.doubtnut.com/l/_WWCjL2cAX0al
https://dl.doubtnut.com/l/_GJXYT7fMsOWu

242. Relative morphologies of chromosomes of

an individual indicate his/her

A. Genetype

B. Phenotype

C. Pedigree chart

D. Karyotype

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GJXYT7fMsOWu
https://dl.doubtnut.com/l/_8Q9err8PkqWT

243. For making important contributions in

respect of the nature of gene, the Noble Prize

was rewarded to

A. T.H.Morgan

B. De Vries

C. H.J. Muller

D. Darwin

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_8Q9err8PkqWT
https://dl.doubtnut.com/l/_uC3BgKf7ywBG

244, In humans, most number of genes are

located on chrosome

Al

B.6

C. X

D. 21

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uC3BgKf7ywBG
https://dl.doubtnut.com/l/_hJRJT6ahlidB

245. The number of autosomes in human

female is

A. 21

B. 22

C.23

D. 44

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hJRJT6ahlidB
https://dl.doubtnut.com/l/_Owvsokk5rbZA
https://dl.doubtnut.com/l/_PtAPAnRpjlNJ

246. The point at which the polytene

chromosomes appeart to be attached togeher

is known as

A. Centriole

B. Chromocentre

C. Centromere

D. Chromomere

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PtAPAnRpjlNJ

247. Balbiani discovered special type of

chronomus larva which are recognized by the

presence of

A. Bands

B. Loosps

C. Both bands and loops

D. All the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JYmU00FNFbyh

248. Who used the frequency of recombination
between gene pairs on the same chromosome
as a measure of the distance between genes
and mapped their position on the
chromosome ?

A. Gregor Mendel

B. Correns

C. Tschemark

D. Alfred Sturtevant

Answer: D


https://dl.doubtnut.com/l/_ciE9AN78hKvN

° Watch Video Solution

249. Polytene or giant chromosomes are found

is

A. Salivary glands of man

B. Salivary glands of woman

C. Salivary glands of all animals

D. Salivary glands of Drosophila

Answer: D

| 8 l


https://dl.doubtnut.com/l/_ciE9AN78hKvN
https://dl.doubtnut.com/l/_dwjZdeMNBHrj

250. Lampbrush chromosomes are visible

A. In diplotene of meiosis

B. In prophase of meiosis

C.In interphase

D. In metaphase of meiosis

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dwjZdeMNBHrj
https://dl.doubtnut.com/l/_lq7OkEhRnw0i
https://dl.doubtnut.com/l/_pc70CPSB4J1K

251. In sex linkage ,the speciality is :

A. Atavism

B. Criss cross inheritance

C. Reversin

D. Gene flow

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pc70CPSB4J1K

252. Doubling of the chromosomes is termed

as

A. Duplication

B. Tansciption

C. Translation

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gpShIqCRjmGf
https://dl.doubtnut.com/l/_LIUX0eU4nPU6

253. Lampbrush chromosomes are

inside

A. Salivary gland of Dropsophila

B. Salivary glands of silk moth

C. Oocytes of frog

D. Nucleus of man

Answer: C

found

o Watch Video Solution



https://dl.doubtnut.com/l/_LIUX0eU4nPU6

254, Geneetically active area of chromosome is

called

A. Euchromatin

B. Heterochroatin

C. Heaptan

D. Cistron

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kV8tRkDKX5VM
https://dl.doubtnut.com/l/_hLhbx2vvPbJA

255. Drosophila melanogaster possesses eight

chromosomes in somatic cells .How many

linkage groups will be there?

A4

B.8

C.2

D.5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hLhbx2vvPbJA
https://dl.doubtnut.com/l/_YHZIeFWOHjBa

256. Two sister chromatids are attached with

A. Spindle fibre

B. Centromere

C. Chromocentre

D. Chromatid

Answer: B

o Watch Video Solution

257. Balbiani rings are present in


https://dl.doubtnut.com/l/_YHZIeFWOHjBa
https://dl.doubtnut.com/l/_j81FEzvbA87E

A. Polysomes

B. Autosomes

C. Polytene chromosomes

D. None of these

Answer: C

o Watch Video Solution

258. Chromosomes can be stained with

A. lodine


https://dl.doubtnut.com/l/_j81FEzvbA87E
https://dl.doubtnut.com/l/_QApgCVsoorcq

B. Aniline blue

C. Safranin

D. Aceto carmine

Answer: D

o Watch Video Solution

259. Plant A is having Chromosomes no 2n=12
and B having 2n=16 Both are crossed to form
allotetraploid C. What is the Chromosomes

number of C


https://dl.doubtnut.com/l/_QApgCVsoorcq
https://dl.doubtnut.com/l/_g9cNFVN5N8T5

A 14

B. 28

C.12

D. 16

Answer: A

o Watch Video Solution

260. Crossing over takes place between :

A. Two chromosomes


https://dl.doubtnut.com/l/_g9cNFVN5N8T5
https://dl.doubtnut.com/l/_VSA6frGqu57U

B. Two non-homologous chromosomes

C. Two homologous chromosomes

D. none

Answer: C

o Watch Video Solution

261. Whereas the number of chromosomes is
reduced to half in first reduction division of
meiosis, then what is the need for second

mitotic division


https://dl.doubtnut.com/l/_VSA6frGqu57U
https://dl.doubtnut.com/l/_7HdBvwMaUCVu

A.For the segregation of replicated

chromosomes

B.For equal distribution of haploid

chromosomes

C. For the formation of four gametes

D.For equal distribution of genes on

chromosomes

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7HdBvwMaUCVu
https://dl.doubtnut.com/l/_ATH8uQsVNZ7Y

262. In humans chromosomal condition of

male is

A. 44AA+X0O

B. 44AA+XX

C. 44AA+XY

D. 44 AA+XXY

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ATH8uQsVNZ7Y
https://dl.doubtnut.com/l/_NNyQqot1OWiL

263. The carrers of herdity material are

A. Chromosomes

B. Gene

C. Gametes

D. Gametocycles

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NNyQqot1OWiL

264. The twenty third pair of chromosomes in

man is known oas

A. Chromatid

B. Heterosome

C. Autosome

D. Gene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zH8SWqgxaZ4E
https://dl.doubtnut.com/l/_R3dTd9T5GBvv

265. In recent past human chromosomes have

been studied by a technique using specific,

fluorescent dyes, known as

A. Dyeing technique

B. Banding technique

C. Ultra dyeing technique

D. Karyotyping technique

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_R3dTd9T5GBvv
https://dl.doubtnut.com/l/_RlM5Q4cWxkR9

266. The chromosomes asre thread Ilike

structures in nucleous was first desribed by

A. Mendel

B. Strasburger

C. Darwin

D. Levitzky

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_RlM5Q4cWxkR9

267. The funciton of chromosomes of carrying

the genetic information from one cell

generation to anther is performed by

A. RNA

B. DNA

C. Histones

D. Calcium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_akUSNJiVjj34

268. The chromosomes which determine the

somatic characters are called

A. Sex chromosomes

B. Heterosomes

C. Autosomes

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fFtIqbnQZ3Ob
https://dl.doubtnut.com/l/_jfeCUMG01yq5

269. The linkage map of X-chromosome of fruit
fly has 66 units with yellow body gene Y at one
end and bobbed hair B gene at he other end.
The recombination frequency between these
two genes Y and B should be

A1l

B. 0.66

C.05

D. 0.055

Answer: B

| s ]


https://dl.doubtnut.com/l/_jfeCUMG01yq5

| ¥ Watch Video Solution

270. Chromosomes number is

A. Fixed for a species

B. Fixed for an ecosystem

C. Fixed for a community

D. Fixed

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jfeCUMG01yq5
https://dl.doubtnut.com/l/_i6aUh8Oi4PSn

271. Science which links heridity with

enviroments is

A. Genetics

B. Gene ecology

C. Ecology

D. Ecophysiology

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L4KY4Yg2myiO
https://dl.doubtnut.com/l/_o3rN8xGhBpQc

272. In man sexlinked characters are mainly

transmitted through

A. Y-chromosome

B. Autosome

C. X-chromosome

D. X-chromosome, Y-chromosome  and

Autosomes

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_o3rN8xGhBpQc
https://dl.doubtnut.com/l/_SuWRjQiHJ9Qq

273. A male human, Y-chromosome and
Autosomes and is also hemizygous for
autosomal gene A and B and is also
hemizygous for hemphilic gene h. What

proporition of his sperms will be abh
A —
16
5. 1
4
C~
8
D. -
32

Answer: C


https://dl.doubtnut.com/l/_SuWRjQiHJ9Qq

° Watch Video Solution

274. The recessive genes located on X-

Chromosomes in humans are always

A. Expressed in males

B. Expressed in females

C. Lethal

D. Sub-lethal

Answer: A

| 8 l


https://dl.doubtnut.com/l/_SuWRjQiHJ9Qq
https://dl.doubtnut.com/l/_uUPinyUP2Y8Q

275.The total number of nitrogenous bases in

human genome is estimated to be about

A. 3.5million

B. 35 thousand

C. 35million
D. 3.1billion
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uUPinyUP2Y8Q
https://dl.doubtnut.com/l/_IKF77EdY3YOA

276. In order to calcualt emap distance of

genes on a chromsome, one must know the

A. Number of mutual genes

B. Cross over percentage

C. Recombination frequency of each gene

locus

D. Non-Cross over percentage

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_IKF77EdY3YOA
https://dl.doubtnut.com/l/_7kx2FzWKcYjj

277. At paritcular locus, frequency of ‘A allele is
0.6 and that of 'a' is 0.4. What would be the
frequency of hetrozygotes in a randon malting
population of equillibrium

A. 0.6

B.0.48

C.0.36

D. 0.24


https://dl.doubtnut.com/l/_7kx2FzWKcYjj
https://dl.doubtnut.com/l/_6Tnxkz4m6ExU

Answer: B

o Watch Video Solution

278. Polytene Chromosomes are formed by

A. Endoreduplication of chromosomes

B.Somantic pairing of homologolous

chromosomes

C.Somantic pairing of non-homologous

chromosomes


https://dl.doubtnut.com/l/_6Tnxkz4m6ExU
https://dl.doubtnut.com/l/_wBKWf3Td8w6h

D. Germinal pairing of non-homologous

chromosomes

Answer: A

o Watch Video Solution

279. Telemeras is an enzyme which is a

A. Repetitive DNA

B. RNA

C. Simple protein


https://dl.doubtnut.com/l/_wBKWf3Td8w6h
https://dl.doubtnut.com/l/_LsC4FCfQDdO1

D. Ribonucleoprotein

Answer: D

° Watch Video Solution

280. Percentage of recombination between A

and B is 9% and C is 17%. B and C is 26%, then

the arrangement of genes is

A. ABC

B. ACB


https://dl.doubtnut.com/l/_LsC4FCfQDdO1
https://dl.doubtnut.com/l/_LYCUoFeWgIpW

C.BCA

D. BAC

Answer: D

° Watch Video Solution

281. Chromosomes complement with 2n-1 is

calle as

A. Monosomy

B. Nullosomy


https://dl.doubtnut.com/l/_LYCUoFeWgIpW
https://dl.doubtnut.com/l/_SiDqfPJUojLi

C. Trisomy

D. Tetrasomy

Answer: A

o Watch Video Solution

282. A gene is said to be dominant, if

A. It is never expressed in any condition

B.Is is expreesed only in heterozygous

condition


https://dl.doubtnut.com/l/_SiDqfPJUojLi
https://dl.doubtnut.com/l/_GgDUaRw8ByvR

C. It expressed it effect only in homozygous

stage

D.It express its effect only homozygous

and hetrozygous conditions

Answer: D

o Watch Video Solution

283. Chromosomes was seen first time by

A. Waldeyer


https://dl.doubtnut.com/l/_GgDUaRw8ByvR
https://dl.doubtnut.com/l/_MEDohMCDPeJz

B. Flemming

C. Hofmeister

D. Strasburger

Answer: C

o Watch Video Solution

284. Genes located at the same locus of

chromosomes are called

A. Polygenes


https://dl.doubtnut.com/l/_MEDohMCDPeJz
https://dl.doubtnut.com/l/_BZCfomvj31Wp

B. Oncogenes

C. Multiple alleles

D. Strasburger

Answer: C

o Watch Video Solution

285. Jumping genes ar found in

A. Polygenes

B. Orcogenes


https://dl.doubtnut.com/l/_BZCfomvj31Wp
https://dl.doubtnut.com/l/_Hd5SNT5e971J

C. Multiple alleles

D. None of these

Answer: D

o Watch Video Solution

286. Some genes in bacteria and virus mau
bcode for more than one polypetide, they are

called in

A. Overlapping genes


https://dl.doubtnut.com/l/_Hd5SNT5e971J
https://dl.doubtnut.com/l/_OwYP5yszn9wM

B. Jumping gene

C. Split gene

D. None of these

Answer: A

o Watch Video Solution

287. The peroson who discovered

Chromosomes was

A. Mc Carthy


https://dl.doubtnut.com/l/_OwYP5yszn9wM
https://dl.doubtnut.com/l/_bCtyAjn6NiNn

B. Mc Clung

C. Gregor Mendel

D. Netti Stevens

Answer: D

o Watch Video Solution

288. "Nu body" was shown by

A. Darlington

B. Johanssen


https://dl.doubtnut.com/l/_bCtyAjn6NiNn
https://dl.doubtnut.com/l/_ryLb4nNUmqAS

C. Woodcock

D. Temin and Baltimore

Answer: C

° Watch Video Solution

289. "Cytochimeras" means

A. Cell having halodpid

B. Cells having two nuclei


https://dl.doubtnut.com/l/_ryLb4nNUmqAS
https://dl.doubtnut.com/l/_5YGwvnz47x2X

C.Cells having different chromosomes

other than vegetative cells

D. None of these

Answer: C

o Watch Video Solution

290. Genes carreied on chromosomes was first

proved by

A. Mendel


https://dl.doubtnut.com/l/_5YGwvnz47x2X
https://dl.doubtnut.com/l/_GpqcKb3caHvo

B. Watson

C. Crick

D. Bridges

Answer: D

o Watch Video Solution

291. In Pisum sativum there are 14
Chromosomes. How many paris with different

chromosomal composition can be prepared


https://dl.doubtnut.com/l/_GpqcKb3caHvo
https://dl.doubtnut.com/l/_4QnAbXC1kqFC

A 14

B.7

c. 21

D. 27

Answer: D

o Watch Video Solution

292. Which of the following is incorrectly

paired


https://dl.doubtnut.com/l/_4QnAbXC1kqFC
https://dl.doubtnut.com/l/_paaVtfuh9UNf

A. Sry gene X chromosome

B. 2n-2-nullisomic

C. Nucleiod prokaryote

D. Polytecnic

Answer: A

o Watch Video Solution

293. Gene controls

A. Heredity but not protein synthesis


https://dl.doubtnut.com/l/_paaVtfuh9UNf
https://dl.doubtnut.com/l/_cORJzpdpbQEM

B. Protein synthesis but not heredity

C. Both heridity and protein synthesis

D. Biochemical action of some enzymes

Answer: C

o Watch Video Solution

294. Smallest structure having the power of
repliocating itself is

Or

The factor responsible for expression of


https://dl.doubtnut.com/l/_cORJzpdpbQEM
https://dl.doubtnut.com/l/_C4zaWiqA6qHp

character transmitted from parents to

offsprings

A. Chloroplast

B. Gene

C. Mitochondria

D. Ribosome

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_C4zaWiqA6qHp

295. The core of nuclesome is made up of

A H H,A, H,B, H;

B. H,H,A, H,B, Hs, H,

C. HyH,A, H,B, H,

D. H,H,, H,B, H,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9Gr9LgYiZPDF

296. Nucleosome consistas of

A. Nucleolus

B. Genes

C. Microfilaments

D. Histones

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_faV0HgPirEYe

297. Structural elements of chromatin is

A. Histone

B. Acid protein and DNA

C. Nuclear matrix

D. Nucleosome

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4CbJ1EZSlGjX

298. The salivary gland Chromosomes in the

dipteran larvae, are useful in gene mappin

because

A. These are fused

B. These are much longer in size

C. These are easy to stain

D. They have endoreduplicated
chromosomes
Answer: D

Y. I


https://dl.doubtnut.com/l/_xkL6GwkojEzb

l @ VWatch vVideo Solution

299. Nucleosome are

A. Units of DNA

B. Units of RNA

C. Units of proteins

D. Units of chromosomes

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xkL6GwkojEzb
https://dl.doubtnut.com/l/_o0NIRtNNBSnh
https://dl.doubtnut.com/l/_GlJbSasNzAYq

300. Carrier of heridity is

A. Gene

B. DNA

C. Chromosome

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GlJbSasNzAYq

301. Plant A is having Chromosomes no 2n=12
and B having 2n=16 Both are crossed to form
allotetraploid C. What is the Chromosomes
number of C

A 32

B. 14

C. 28

D.7

Answer: C

‘ o Wiadk lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_KMW7npeYSfOz

VVCILLIL VI IGAGINIE N

302. Haloandric genes ar e

A. Carried By 'X' chromosomes

B.Carried by different parts of

chromosomes

C. Carried by 'X' and 'Y' chromosomes

D. Carried by autosomes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KMW7npeYSfOz
https://dl.doubtnut.com/l/_PHAyziWFJatp

303. Which organism was used by Beasdle and

Tatum to proposed one gene one enzyme

hypothesis

A. E.coli

B. Nostoc

C. Drosophila

D. Neurospora

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_PHAyziWFJatp
https://dl.doubtnut.com/l/_ork8pTglKQ2t

304. A gene is made up of

A. DNA

B. RNA

C. Either DNA and RNA

D. Amino acids

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ork8pTglKQ2t
https://dl.doubtnut.com/l/_YAz26r0Rojr2
https://dl.doubtnut.com/l/_BYyqdkcnsr94

305. Which one of the following conditions of

the zygotic cell would lead to the birth of a

normal human female child

A. Only one X chromosome

B. One X and one Y chromosome

C. Two chromosomes

D. Only one Y chromosome

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BYyqdkcnsr94

306. Separation of the two chromatis of a

Chromosomes takes palce in mitosis during

A. Prophase

B. Anaphase

C. Metaphase

D. Telophase

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_deVp4G6A1at6
https://dl.doubtnut.com/l/_yeoxIVRd6ans

307. The modern concept of gene is

A. A segemt of DNA capable of crossing

over

B. A functional unit of DNA

C. Asegemt of DNA

D. A segment of chromosome

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yeoxIVRd6ans

308. "One gene one enzyme" theory was

proposed by

A. GW. Beadle and E.L. Tatum

B. O.T.Avery and M.McCarthy

C.J.H. Tijo and A. Tijo

D. C.E. Ford and J.H. Tijio

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Hc63mIhYyG4K
https://dl.doubtnut.com/l/_B36biHdHmry2

309. One functional unit of gene which
specifies synthesis of one polypeptide is
known as
Or
The equivalent of a structural gene

A. Recon

B. Clone

C. Codon

D. Cistron

Answer: D

| s ]


https://dl.doubtnut.com/l/_B36biHdHmry2

| ¥ Watch Video Solution ]

310. The theory of jumping genes was
propanded by or Noble prize for the concept

of jumping gene was given to

A. Medal
B. Mrogan
C. Barbara Mc Clintock

D. Sanger

Answer: C



https://dl.doubtnut.com/l/_B36biHdHmry2
https://dl.doubtnut.com/l/_w6KXPB6Uj8YJ

\ o Watch Video Solution

311. The terms cistron, recon and muton were

proposed by

A. W.Ingram

B. Basteson

C. ). Lederberg

D. S. Benzer

Answer: D

l o Watch Video Solution


https://dl.doubtnut.com/l/_w6KXPB6Uj8YJ
https://dl.doubtnut.com/l/_QTzKX56xLiia

312. A normal spontaneous rate for a single

gene is one mutation in every... replication

A. 10%t010°

B. 10°t010°

C. 10%010°

D. 10"t010"

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QTzKX56xLiia
https://dl.doubtnut.com/l/_qyTyGJZwqiHp

313. Genes are located in

A. Morophological uinits

B. Heriditary units

C. Basic units

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qyTyGJZwqiHp
https://dl.doubtnut.com/l/_IoVT097b4QKR

314. The eukaryotic Chromosomes are made

up of

A. DNA

B. RNA

C. DNA and proteins

D. DNA and lipids

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H1HuiO1BgwXz
https://dl.doubtnut.com/l/_CJTJKREd2TUb

315. Chromosomes Y is

A. Acecentric

B. Metacentric

C. Telocentric

D. Submetric

Answer: A

° Watch Video Solution

316. Nucleosome are bounded by


https://dl.doubtnut.com/l/_CJTJKREd2TUb
https://dl.doubtnut.com/l/_ZIoNcIjOy5YU

A. RNA

B. Histone H,

C. Histone Hj

D. DNA

Answer: D

° Watch Video Solution

317. Who postulated the "Chromosomes"
Theory of Inheritance

Or


https://dl.doubtnut.com/l/_ZIoNcIjOy5YU
https://dl.doubtnut.com/l/_a33ERrtpLidI

The behaviour of the chromosomes was

parallel to the behavior of genes during

meosis was noted by

A. De Vries

B. Mendal

C. Sutton and Boveri

D. Morgon

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a33ERrtpLidI
https://dl.doubtnut.com/l/_1h1KNEwHkaxZ

318. In slpit genes, the coding sequences are

called

A. CistronsO

B. Operons

C. Exons

D. Introns

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1h1KNEwHkaxZ

319. Which of the following true

A. One gene one protein

B. One gene one polypeptide

C. One gene many polypetide

D. All of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iTlUK06I4vt0

320. The bacterial genome refers to the total
number of genes locted upon a or The term
'genome’ refers to the toal number of genes
combined in a

A. Haploid set of chromosomes

B. Diploid set of chromosomes

C. Tetraploid set of chromosomes

D. Hexaploid set of chromosomes

Answer: A

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_fVdWVS0k6TBb
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321. Different types of chromosomes can be

recognised by the position of ht following

separating the two arms

A. Centromere

B. Genes

C. Spindle

D. Nucleus

Answer: A

| s ]


https://dl.doubtnut.com/l/_fVdWVS0k6TBb
https://dl.doubtnut.com/l/_pDoZbkpGqGI4

| ¥ Watch Video Solution ]

322. Nucleosome core is intimately associated

with

A. 160 bp of DNA

B. 210 bp of DNA

C. 250bp of DNA

D. 100bp of DNA

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pDoZbkpGqGI4
https://dl.doubtnut.com/l/_lux4zQ8imG9b

323. Select the incorrect match

A. Lampbrus chromosomes : Diplotene
bivalents

B. Allosomes : Sex chromosomes

C. Submetacentric chromosomes : L-shaped
chromosomes

D. Polytene chromosomes : Oocytes of

amphilbians


https://dl.doubtnut.com/l/_lux4zQ8imG9b
https://dl.doubtnut.com/l/_X18I5IiOR4MA

Answer: D

o Watch Video Solution

324. Usually the recessive character is expresse
only when present in a double recessive
condition. However, a single recessive gene
can express itlself in human beings when the

gene is present on

A. Any autosome

B. X chromosome of female


https://dl.doubtnut.com/l/_X18I5IiOR4MA
https://dl.doubtnut.com/l/_VioW880NKbyo

C. X chromosome of male

D. Either on autosome or X chromosomes

Answer: C

o Watch Video Solution

325. In humans, height and skin colour shows

a lot of variation. They are example of

A. Multiple alleles

B. Pleiotropic inheritance


https://dl.doubtnut.com/l/_VioW880NKbyo
https://dl.doubtnut.com/l/_proCDoadw7GD

C. Polygenic/Quantitive inhertance

D. Pseudoalleles

Answer: C

o Watch Video Solution

326. In human beings, the colour of skin is

controlled by

A. Multiple alleles

B. Lethal gens


https://dl.doubtnut.com/l/_proCDoadw7GD
https://dl.doubtnut.com/l/_NKzAwsTItTrC

C. Polytgenic effect

D. None of these

Answer: A

o Watch Video Solution

327. Which of the following is genetically

dominant in man

A. Colour blindness

B. Rh positive


https://dl.doubtnut.com/l/_NKzAwsTItTrC
https://dl.doubtnut.com/l/_HpdfgkNcPY4U

C. Haemophilia

D. Albinism

Answer: B

o Watch Video Solution

328. Which of the following genotypes does
notproduce any sugar polymer on the surface

of the RBC

A TATA


https://dl.doubtnut.com/l/_HpdfgkNcPY4U
https://dl.doubtnut.com/l/_OXyiMaUm1wSI

Answer: D

o Watch Video Solution

329. ABO blood grouping is controlled by gene
| which has three alleles and show co-
dominance. There are six genotypes: How

many phenotypes in all are responsible


https://dl.doubtnut.com/l/_OXyiMaUm1wSI
https://dl.doubtnut.com/l/_UDJVUEkiTZ2f

A. Six

B. Three

C. Four

D. Five

Answer: C

o Watch Video Solution

330. Inheritance of ABO blood grouping is an

example of


https://dl.doubtnut.com/l/_UDJVUEkiTZ2f
https://dl.doubtnut.com/l/_AlRhVuPVg8cV

A. DOMINANCE

B. Co-dominance

C. Incomplete dominance

D.Bothaandb

Answer: D

o Watch Video Solution

331. The most polpularly known blood

grouping is the ABO grouping. It is named


https://dl.doubtnut.com/l/_AlRhVuPVg8cV
https://dl.doubtnut.com/l/_MI93pn1umo2N

ABO and not ABC, because, because "O" in it

refers to having

A. Other antigens besides Ad B on RBS,

B. Overdominance of this type of the genes

for A and B types

C. one antibody onlyu either anto-A or atni-

B on the RBC,

D. No antigens A and B on RBC,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MI93pn1umo2N

332. Inheritance of blood group is a condition

of

A.AB,C

B.B,D,E

C.B,CD

D.ACE

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MI93pn1umo2N
https://dl.doubtnut.com/l/_B6RZxLYpxajv

333. A woman with blood 'O' has a child with
blood group 'O'. She claims that a man with
blood group ‘A’ as the father of her child. What
would be the genotype of the father, if her
claimis right

AI°T"

B. 41"

C.I4I°

D.IPr°

Answer: C


https://dl.doubtnut.com/l/_s22TS7D23qtq

° Watch Video Solution

334. The condition of erythroblastosis foetalis

occurs only when

A.The husband is Rh ™" and wife is Rh~

B. The husband is Rh~ and wife is Rh™

C.The mother is Rh ™ and foetus is Rh ™~

D. The mother is Rh~ and foetus is Rh ™"

Answer: D

| 8 l


https://dl.doubtnut.com/l/_s22TS7D23qtq
https://dl.doubtnut.com/l/_uYa9905LurK0

335. The offspring produced from a mariiage
have only O or A blood groups. Of the
genotypes given below, the posiible genotypes
of the parents would be

A T4T# and 14719

B.I°I° and I°71°

C.I*T# and 1°1°

D.I41° and I1°1°


https://dl.doubtnut.com/l/_uYa9905LurK0
https://dl.doubtnut.com/l/_N7KLPVePeaOB

Answer: D

o Watch Video Solution

336. Blood stains ar found at the site of a
murder. If DNA profiling technique is to be
used for identifying the criminal. Which of the

following is ideal for use

A. Serum

B. Erythrocytes

C. Leucocytes


https://dl.doubtnut.com/l/_N7KLPVePeaOB
https://dl.doubtnut.com/l/_GFNl0eac3TK5

D. Platelets

Answer: C

o Watch Video Solution

337. A person with blood group 'A' can be given

blood of which group

A.A and B

B.Band O

C.Aand O


https://dl.doubtnut.com/l/_GFNl0eac3TK5
https://dl.doubtnut.com/l/_eY8uTxNjGVRO

D.A, B, AB and O

Answer: C

o Watch Video Solution

338. Antisera used to detech Rh blood group

A. Anti A

B. Anti B

C. Anti C

D. Anti D


https://dl.doubtnut.com/l/_eY8uTxNjGVRO
https://dl.doubtnut.com/l/_oyCCv9kf47il

Answer: D

o Watch Video Solution

339. Human blood groups are example of a

A. Gradulism

B. Cline

C. Gradient of diplodiy

D. Polymorphism

Answer: D


https://dl.doubtnut.com/l/_oyCCv9kf47il
https://dl.doubtnut.com/l/_VeoxcCzfolVw

° Watch Video Solution

340. Who was the scientist to introduce ABO

blood groups

A. Wiener

B. Levine

C. Fisher

D. Landsteiner

Answer: D

| 8 l


https://dl.doubtnut.com/l/_VeoxcCzfolVw
https://dl.doubtnut.com/l/_gSicrxZQPR49

341. One of the following is not the tyoes of

blood groups or blood factors

A. Lewis and Duffy

B. Buffs and Kips

C. ABO and Rh

D. Rh and MN

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gSicrxZQPR49
https://dl.doubtnut.com/l/_qQu7qRl6pQIC

342. Mating among close relations is referred

A. Permanent marriage

B. Line breeding

C. In breeding

D. Cross breding

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_qQu7qRl6pQIC
https://dl.doubtnut.com/l/_lp1tsa3y34UC
https://dl.doubtnut.com/l/_sHQZXsSrPHF2

343. Genes exhibting multiple effects

phenotype are known as

A. Complementary genes

B. Pleiotropic genes

C. Cistrons

D. Pseudogenes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sHQZXsSrPHF2

344. For a child having blood group B, if father

has blood group A, what may be the blood

group of the mother

A.Oor A

B.O

C.B or AB

D.A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_veAvzUrrzJfz

345. If a child has O type of blood group and

the father B type, the genotype of the father

will be

A I971°

B.I4IP

c.I°IB

D.IB18

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SSEH8My4vY3a

346. Person with blood group AB is considered

as universal recipient because he has

A.No antigen on RBC and no antibody in

the plasma

B.Both A and B antigenes in the plasma

but no anitbodies

C.Both A and B antigens on RBC but no

antibodies in the plasma

D. Both A and B anitbodies in the plasma


https://dl.doubtnut.com/l/_VmZolLLE0BC6

Answer: C

o Watch Video Solution

347. Rh factor may be responsible for

A. Turner's syndrome

B. AIDS

C. Sickle-cell anaemia

D. Erythroblastosis foetalis

Answer: D


https://dl.doubtnut.com/l/_VmZolLLE0BC6
https://dl.doubtnut.com/l/_tIFtfpSAicWl

o Watch Video Solution

348. Parents of blood O and AB cannot have a

child of group AB because

A. Gene O is dominant over gene A

B. Gene O is dominant over gene B

C.Gene A or B is absent in on of the

parents

D.Gene A and B is absent in on of the

parents


https://dl.doubtnut.com/l/_tIFtfpSAicWl
https://dl.doubtnut.com/l/_bIIaJo7IDVgF

Answer: D

o Watch Video Solution

349. |dentify the wrong statemen

A. Alleles b and c also produce sugar
B. Alleles T4 and I to produce sugar
C.When I4 and b or | are present only I'”

is expressed


https://dl.doubtnut.com/l/_bIIaJo7IDVgF
https://dl.doubtnut.com/l/_Dg1N5wEryJOE

D.Both I4 and I® are present together
and they express because of co-

dominance

Answer: A

o Watch Video Solution

350. Which of the following is the number of

alleles for a blood group in an individual

Al


https://dl.doubtnut.com/l/_Dg1N5wEryJOE
https://dl.doubtnut.com/l/_RBI3VBa9GdCM

B.2

C.3

D.4

Answer: C

o Watch Video Solution

351. Rh factor is named after

A. Man

B. Rat


https://dl.doubtnut.com/l/_RBI3VBa9GdCM
https://dl.doubtnut.com/l/_4MSyS7sL48f1

C. Monkey

D. Chimpanzee

Answer: C

o Watch Video Solution

352. A person with antigens A and B and no
antibodies belongs to blood gorup or In which

blood group antibodies are absent

A A


https://dl.doubtnut.com/l/_4MSyS7sL48f1
https://dl.doubtnut.com/l/_d1qD30QhJVEF

B.B

C.AB

D.O

Answer: C

o Watch Video Solution

353.If amanRh ™ marries a loady Rh ™, then

A. First child will die

B. First child will survive


https://dl.doubtnut.com/l/_d1qD30QhJVEF
https://dl.doubtnut.com/l/_Z5PZ11ToI75s

C. No child will be born

D. None of these

Answer: B

o Watch Video Solution

354. Universal donors have no antigens in RBC
and have both a and b antibodies. They belong
to blood group

or


https://dl.doubtnut.com/l/_Z5PZ11ToI75s
https://dl.doubtnut.com/l/_7ZfuGlxybU7C

Which blood group patients of any blood

group

A A

B.B

C. AB

D.O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7ZfuGlxybU7C

355. Four children belonging to the same
parents have the following blood group A, B,
AB and O. Hence, the genotype of the two

parents are

A.Both parents are homozygous for ‘A

group

B. One parent is homozygous for 'A' and

another parnts is homozygous for 'B'

C.One parent is heterozygous for ‘A" and

another parnts is hetrozygous for 'B'


https://dl.doubtnut.com/l/_c6Hl60RtqPDH

D.Both parents are homozygous for 'B'

group

Answer: C

o Watch Video Solution

356. When red blood corpuscles containing
both A and B antigens are mixed with your
blood serum, they agglutinate. Hence you

blood group is.....type.


https://dl.doubtnut.com/l/_c6Hl60RtqPDH
https://dl.doubtnut.com/l/_30B6iAjEfGAq

A. AB

B.O

C.A

D.B

Answer: B

° Watch Video Solution

357. Person of blood group A contain

A. Antigen A and antibodies b


https://dl.doubtnut.com/l/_30B6iAjEfGAq
https://dl.doubtnut.com/l/_utnsIOT8zwQP

B. Antigen A and antibodies a

C. Antigen A and B are no antibodies

D.No antigens and both a and b

antibodies

Answer: A

o Watch Video Solution

358. Blood group aggulatinogen is

A. Glycoprotein


https://dl.doubtnut.com/l/_utnsIOT8zwQP
https://dl.doubtnut.com/l/_BgisFqqu3fOx

B. Phosphorprotein

C. Haeoprotein

D. Phospholipd

Answer: A

o Watch Video Solution

359. The animal which has oval RBCs

A. Humasns

B. Camel


https://dl.doubtnut.com/l/_BgisFqqu3fOx
https://dl.doubtnut.com/l/_UvEHK5V9JFsz

C. Dog

D. Fish

Answer: B

° Watch Video Solution

360. Blood group and named because of the

agglutionogen A and B present in

A. Plasma

B.RBC


https://dl.doubtnut.com/l/_UvEHK5V9JFsz
https://dl.doubtnut.com/l/_Psc43kUQkOgX

C. WBC

D. Platelets

Answer: B

o Watch Video Solution

361. A person with unknown blood group
under ABO system, has suffered much loss in
an accident and needs immediate blood
trasfusion. His one friend who has a valid

certifacte of his own blood type. What would


https://dl.doubtnut.com/l/_Psc43kUQkOgX
https://dl.doubtnut.com/l/_mQAl6OFaaThT

have been the type of blood group of the

donor friend

A. Type A

B. Type B

C. Type AB

D. Type O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mQAl6OFaaThT

362. The second pregnancy of a woman
terminates due to anaemia of the foetus. She
has never had a blood transufion. On the basis

of this, which of the following is correc

A.Child from the first preganancy is

Rh 1 ve

B. The husband of the women is Rh ™ ve

C. The women is Rh-ve

D. All the above


https://dl.doubtnut.com/l/_8qhtFJgeXSl2

Answer: D

o Watch Video Solution

363. With regard to the ABO blood typing
sytem, if a man who has type O blood were to
have children, what blood types could the
children have

A.AorO

B.BorO

C.ABorO


https://dl.doubtnut.com/l/_8qhtFJgeXSl2
https://dl.doubtnut.com/l/_q9al1cq8ly6p

D.AB,AB or O

Answer: B

o Watch Video Solution

364. If two persons with 'AB' blood group
marry and have suffieciently large number of
children, these children could be classified as
‘A" blood group: 'AB' blood group 'B' blood
groyp in 1:2:1 ration. Modern technique of

protein electrophoresis reveals presence o


https://dl.doubtnut.com/l/_q9al1cq8ly6p
https://dl.doubtnut.com/l/_7qSQpTVV5pCa

fboth 'A' and 'B' type proteins in 'AB' blood

group individuals. This is an example of

A. Complete dominance

B. Co-dominance

C. Incomplete dominance

D. Partical dominance

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7qSQpTVV5pCa

365. The probality of a having a child with

blood group O to parents with blood groups A
and B is

A. 4 out of 4

B.3 out of 4

C.2 out of 4

D.1out of 4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8BcU5oFC7sm2

366. Example of qualilative inheritance is

A. Colour of skin

B. Colourblindness

C. Klinefelter's syndrome

D. Alkaptonuria

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_34wDiNtJzqbo

367. The father has blood group AB and
mother 'O'. The child is supposed to have

which of the following bloodgroups.

A. A or 'B'

B. A only

C.B'or 'O’

D. B only

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RHQ4JBIYI8fk

368. A child of a mother with blood group AB

may have any one of the following blood

groups except.

A A

B.B

C. AB

D.O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0N0IHtaPtLYS

369. Donors and receipts in a blood

transfusion process can be

A. Only father and son

B. Only brother and sister

C. Only maternal uncle and niece

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IxEokIIskdsl
https://dl.doubtnut.com/l/_sx5U8Hm9l89k

370. Which of the following substances, if
introdced into the blood system, would cause
coagulation of blood at the site of its
introduction

A. Fibringogen

B. Prothrombin

C. Herparin

D. Thromboplastin

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sx5U8Hm9l89k

371. Detection of blood group is done by

agglutisation test using antiserum. According

to this

A.If the blood shows coagulation with

antiserum B, the blood group is B

B.If the blood shows coagulation with

both antiserum A and B, the blood

group is O


https://dl.doubtnut.com/l/_sx5U8Hm9l89k
https://dl.doubtnut.com/l/_hocCtebc0rIa

C.If the blood shows coagulation with

both antiserum A, the blood group is AB

D. None of these

Answer: A

o Watch Video Solution

372. Mother homozygous B, and father is A.

what will be the possible blood group in their

progeny


https://dl.doubtnut.com/l/_hocCtebc0rIa
https://dl.doubtnut.com/l/_MEpFcxNLuEPk

A. AB & B possible

B. AB & A possible

C. A and B possible

D. O possible

Answer: A

o Watch Video Solution

373. Rh-ve person donated blood to Rh+ve

person for the second time. Then


https://dl.doubtnut.com/l/_MEpFcxNLuEPk
https://dl.doubtnut.com/l/_9Wv8yVf4kY0X

A. Rh-ve peroson wil die

B. Nothing happens to RH+ve person

C. Rh+ve blood starts reacting

D. Rh+ve person will die

Answer: B

o Watch Video Solution

374.Rh factor is present in

A. All vertebrates


https://dl.doubtnut.com/l/_9Wv8yVf4kY0X
https://dl.doubtnut.com/l/_8aw3ZQTQwSOh

B. All mammels

C. All reptiles

D. Man and rhesus monkey only

Answer: D

o Watch Video Solution

375. If the foetus is Rh+ and mother is Rh—

then


https://dl.doubtnut.com/l/_8aw3ZQTQwSOh
https://dl.doubtnut.com/l/_wcCjCQEAn3NR

A. Foetus will transmit antigen to mother

blood

B. Foetus will tranmit antibody to mother

blood

C.Foetus is attacket by antibodies to

mother blood

D. Foetus is attacket by antigen to mother

blood

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wcCjCQEAn3NR

376. A woman is married for the second time.
Her first husband was ABO blood type A, and
her child by that marriage was type O. Her new
husband is type B and their child is type AB.

What is the woman's ABO genotype and blood
type

A. I419 Blood type A

B. 1415 Blood type AB

C. IB1° Blood type of B


https://dl.doubtnut.com/l/_wcCjCQEAn3NR
https://dl.doubtnut.com/l/_GXaQQTDaRCdT

D. 1919 Blood type O

Answer: A

o Watch Video Solution

377. Who discovered Rh factor

A. Huxley

B. Landsteiner

C. Landsteiner and Weiner

D. Weiner


https://dl.doubtnut.com/l/_GXaQQTDaRCdT
https://dl.doubtnut.com/l/_rbdqRVMgWJ5D

Answer: C

o Watch Video Solution

378. If one parents has blood group A and the

other parents has blood group B, the

offsprings have which blood group

A. AB

B.O

C.BO

D.AB,AB or O


https://dl.doubtnut.com/l/_rbdqRVMgWJ5D
https://dl.doubtnut.com/l/_dDuVJCByrzax

Answer: D

o Watch Video Solution

379. The problem due to Rh™~ factor arises
when the blood two (RhJr and Rh_) mix up
A. In a test tube
B. Through transfusion
C. During pregency

D.Both aand ¢


https://dl.doubtnut.com/l/_dDuVJCByrzax
https://dl.doubtnut.com/l/_Z7Zw3UeOblgP

Answer: D

o Watch Video Solution

380. Which of the following are most abudant

types of antibodies

A. 1gA

B. IgE

C.1gG

D. IgM


https://dl.doubtnut.com/l/_Z7Zw3UeOblgP
https://dl.doubtnut.com/l/_ggh0RqTJ7sjr

Answer: C

o Watch Video Solution

381. When dominant and recessive alleles

express themselves together, it is called

A. Dominance

B. Co-dominance

C. Amphidominance

D. Pseudodominance


https://dl.doubtnut.com/l/_ggh0RqTJ7sjr
https://dl.doubtnut.com/l/_Up9nc1oPGMDC

Answer: B

o Watch Video Solution

382. In erythroblastosis foetalis, which factor

of the mother pass through placenta into the

foetus

A. Rh antigens

B. Rh antibodies

C. ABO antibodies

D. Aggulatinins


https://dl.doubtnut.com/l/_Up9nc1oPGMDC
https://dl.doubtnut.com/l/_uszr9uWJ0G22

Answer: B

o Watch Video Solution

383. Which of the following is herditary

character of blood

A. Blood group

B. Haem

C. Nucleus

D. None of the above


https://dl.doubtnut.com/l/_uszr9uWJ0G22
https://dl.doubtnut.com/l/_bbHGlRipSde8

Answer: A

o Watch Video Solution

384. You are required to draw blood from a
patient and to keep in it a test tube for
analysis of blood cropuscles and plasma. You
are also provided with the following four types
of test tuebes. Which of them will you not use

for the purpose.

A. Test tube containing heparin


https://dl.doubtnut.com/l/_bbHGlRipSde8
https://dl.doubtnut.com/l/_uLsdpBD4NocY

B. Test tube containing sodium oxalate

C. Test tube containin calcium bicarbonate

D. Chilled test tube

Answer: C

o Watch Video Solution

385. A man with blood group B marries a
women with blood group A and their first child
ois having blood group B. What is the

genotype of child


https://dl.doubtnut.com/l/_uLsdpBD4NocY
https://dl.doubtnut.com/l/_9zPmMba4HGBx

A T°T?

B.I°I°

c. Ib1°

D. I’

Answer: C

° Watch Video Solution

386. Marriage between persons having AB

blood groups would produce


https://dl.doubtnut.com/l/_9zPmMba4HGBx
https://dl.doubtnut.com/l/_HID92ue8VZqW

A. Offsprings with AB blood group only

B. Offsprings with AB and blood group

C. Offsprings with A and B blood group

only

D. Offsprings with AB,AB and O blood

group

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HID92ue8VZqW

387. Among of the following characters, which

one was not considered by Mendal in his

experiments on pea

A. Stem- Tall of Dwarf

B. Trichomes-Glandular or non-glandular

C. Seed- Green or Yellow

D. Pod-Inflated or Constricted

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vSbJhFUYlA8J

388. A person affected by disease having

chromosome complent XXX is called/having

A. Klinefillter's

B. Down's syndrome

C. Super female

D. Turner's syndrome

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WRJnM8whaCHI
https://dl.doubtnut.com/l/_cpAdpRnq1sal

389. With respec to phenylketonuria identify

which statement is not correct

A. It is a case of aneuplodiy

B. It is an example o fpleiotropy

C. Casued due to autosomal recessive trait

D. It is error in metabolism

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cpAdpRnq1sal

390. Mating between two individuals differing

in genoutope to produce genetic variation is

called

A. Domestication

B. Introduction

C. Hybrisation

D. Mutation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_M2a4PemqUc7A

391. Sickle cell aneemia is most resistant to

which disease

A. Malaria

B. Filaria

C. Dengue

D. Chicken pox

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gUVr6vVwQT5V
https://dl.doubtnut.com/l/_j3hqcn7jOKVw

392. If an albino man marries with a normal

woman and 50 offsprings are albino and 50

are normal, the woman is

A. Heterozygous normal

B. Homozygous normal

C. Heterozygous carrier

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_j3hqcn7jOKVw
https://dl.doubtnut.com/l/_91Ogeejqy95J

393. Occurance of cell containing mulples of

2n genomes in diploid organisms is known as

A. Aneuloidy

B. Allopidy

C. Amephiplodiy

D. Endropolyploidy

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_91Ogeejqy95J

394. The genetic defect-adenosine deaminase

(ADA) deficiency may be cured permanently by

A.Periodic  infusion  of  genteically

engineered lymphocytes having

functional ADA Cdna

B. Administering adenosine deaminase

activators

C. Introducing bone narrow cells producing

ADA into cell at early embrynoic stages


https://dl.doubtnut.com/l/_Wo8pL4WiQX4U

D. Enzyme replacement therpy

Answer: C

° Watch Video Solution

395. The heriditary disease in which the urine
of a person turns black on exposure to air due
to the presence of homogentisic acid is known

as

A. Ketonuria


https://dl.doubtnut.com/l/_Wo8pL4WiQX4U
https://dl.doubtnut.com/l/_7nJPIAXUTeX7

B. Phenylketonuria

C. Haematuria

D. Alkaptonuria

Answer: D

o Watch Video Solution

396. Which is the most common mechanism of
genetic varisation in the poplulation of a

sexually-reproducing organism


https://dl.doubtnut.com/l/_7nJPIAXUTeX7
https://dl.doubtnut.com/l/_dHnn7R8BEVzf

A. Chromosomal aberrration

B. Genetic drift

C. Recombination

D. Transduction

Answer: C

o Watch Video Solution

397. To be evolutionary sucessful, a mutation

must be


https://dl.doubtnut.com/l/_dHnn7R8BEVzf
https://dl.doubtnut.com/l/_Oymec9W3D82F

A. Germplasm DNA

B. Somatoplasm DNA

C. Cutoplasm

D. RNA

Answer: A

o Watch Video Solution

398. Which of the chromosomal formulation is
responsible for the expression of meta-male

character in Drosphila


https://dl.doubtnut.com/l/_Oymec9W3D82F
https://dl.doubtnut.com/l/_h6gXlHwNCfeR

A. 2A+3X

B. 3A+3X

C.4A+3X

D. 3A+XY

Answer: D

° Watch Video Solution

399. Sickle cell aneemia is

A. An autosomal linked dominant trait


https://dl.doubtnut.com/l/_h6gXlHwNCfeR
https://dl.doubtnut.com/l/_0mpSQErID2hs

B. Casued by susbtitution o fvaline by

glutamic acid in the beta globin chain of

haemoglobin

C. Caused by a change in a single base pair

of DNA

D. Characterized by enlongated sickle like

RBCs with a nucleus

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0mpSQErID2hs
https://dl.doubtnut.com/l/_NEQRLXuJ20S4

400. Alzhimer disease in humans is associated

with the deficiency of

A. Dopamine

B. Glutamic acid

C. Acetylcholine

D. Gamma aminobutyric acid (GABA)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NEQRLXuJ20S4
https://dl.doubtnut.com/l/_TubdvZr3uT0X

401. Industrial melanism as observed in

prepared moth proves that

A. The true black melanic forms arise by a

recurring random mutation

B. The melenic form o fthe moth has no

selective advantage over higher form in

industial are

C.The lighter form moth has o slective

advantage either in pollution-generated

feature


https://dl.doubtnut.com/l/_TubdvZr3uT0X

D. Melanism is a pollution generated

feature

Answer: A

o Watch Video Solution

402. Mongoloid condition is releated to or In

monglolism a patient

A. Monosomy

B. Trisomy


https://dl.doubtnut.com/l/_TubdvZr3uT0X
https://dl.doubtnut.com/l/_P9cmkD7cYmK5

C. Nullisomy

D. None of the above

Answer: B

° Watch Video Solution

403. Which of the following is a genetic

disease

A. Phenylketonuria

B. Blindess


https://dl.doubtnut.com/l/_P9cmkD7cYmK5
https://dl.doubtnut.com/l/_gW2ZlYem6MRq

C. Cataract

D. Leprosy

Answer: A

o Watch Video Solution

404. Which of the following conditions in
humans is correctly matched with its

chromosomal abnormality/linkage

Or


https://dl.doubtnut.com/l/_gW2ZlYem6MRq
https://dl.doubtnut.com/l/_5AzaIU1EHt8i

An abnormal human male phenotype involving

an extra X- chromosomes in a case of

A. Erthroblastosis foetails-X-linked

B. Down sundrome-44 autosomes +XO

C. Kinefelter's syndrome-44

autosomes+XXY

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5AzaIU1EHt8i
https://dl.doubtnut.com/l/_hW1o2UHhxcJ4

405. Mutation is

A. Sudden change in morphology

B. Change in characters

C. Change in heritable characters

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hW1o2UHhxcJ4

406. A person who is trisomic for twenty first
pair of chromosomes is
or

Number of sex chromosomes is normal in

A. Klinefilters,s syndrome
B. Down's syndrome
C. Turner's syndrome

D. None of these

Answer: B

I o Wiak~hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_BRidbA8ZKVx0
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407. The monosomic condition in human

beings depicted as XO is referred to as

A. Criminal syndrome

B. Down's syndrome

C. Klinefelter's syndrome

D. Turner's syndrome

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BRidbA8ZKVx0
https://dl.doubtnut.com/l/_XfYYBHZBdKrw

408. Point (Gene mutation) mutation invlves

A. Insertion

B. Change in single base pair

C. Duplication

D. Deletion

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XfYYBHZBdKrw
https://dl.doubtnut.com/l/_85z9c0nML0Yn

409. The number of chromosomes in Turner's

syndrome is

A. 45

B.43

C.44

D.42

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IJ9N00Ki4Cca
https://dl.doubtnut.com/l/_Qm7WnFGKTZAs

410. Which of the following disroders is not

herditary

A. Haemopilla

B. Cataract

C. Sickle-cell anaemia

D. Colourblindness

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Qm7WnFGKTZAs

411. Disorders of amino acid metabolism

results in

A. Alkaptonuria

B. Phenylketonuria

C. Albinism

D. All of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wZLtn1ODtsUM
https://dl.doubtnut.com/l/_nzsfU7JopbAE

412. The incorrect statement with regard to

haemophilia is

A. A single protein involved in the clotting

of blood is affected

B. It is a sex-linked disease

C. It is a recessive disease

D. It is dominant disease

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nzsfU7JopbAE
https://dl.doubtnut.com/l/_z6ZPuDff7REk

413. The point mutations Ato GCto T,Cto G

and T to A in DNA are

A. Transition, transition, transversion and

transversion respectively

B. Transition, transversion, transition and

transversion respectively

C.Transversion, transversion, transition

and transition respectively

D. All four are transition


https://dl.doubtnut.com/l/_z6ZPuDff7REk

Answer: A

o Watch Video Solution

414. Genomic mutation is

A. Change in number genes

B. Change in number of chromosomes

C. Change in shape of chromosomes

D. All of these

Answer: B


https://dl.doubtnut.com/l/_z6ZPuDff7REk
https://dl.doubtnut.com/l/_AliAkBHo465B

° Watch Video Solution

415. Haploids are more suitable for mutation

studies than the diploids. This is because

A. Haploids are more abundant in nature

than diploids

B. All mutations, whether dominant or

recessive are expressed in haploids

C. Haploids are reproductively more stable

than diploids


https://dl.doubtnut.com/l/_AliAkBHo465B
https://dl.doubtnut.com/l/_Ynq8OH0OYuYi

D. Mutagens penetrate in haploids more

effectively than is diploids

Answer: B

o Watch Video Solution

416. The number of chromossomes in Down's

syndrome is

A. 23rd pair with one less =45

B. 21st pair with one more=47


https://dl.doubtnut.com/l/_Ynq8OH0OYuYi
https://dl.doubtnut.com/l/_7HO0uozhDr5G

C. 17th pair with one more =47

D. One extra sex chromosome =47

Answer: B

o Watch Video Solution

417. When a mutation is limited to be the
substiution of one nucleotide for another, it is

called

A. Translocation


https://dl.doubtnut.com/l/_7HO0uozhDr5G
https://dl.doubtnut.com/l/_MySdiTdyfFs5

B. Point mutation

C. Base inversion

D. Sugar phosphate deletion

Answer: B

o Watch Video Solution

418. A man having Klinefelter's syndrome is

A.Intersex  with  secondary  sexual

characters on the side of female


https://dl.doubtnut.com/l/_MySdiTdyfFs5
https://dl.doubtnut.com/l/_foHHEturFPZh

B. Male with secondary sexual characters of

female

C. Female with secondary sexual characters

of male

D. Normal fertile male

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_foHHEturFPZh

419. An abnormal human baby with X X X sex

chromosomes was born due to

A. Formation of abnormal ova in the

mother

B. Fusion of two ova and one sperm

C. Fusion of two sperms and one ovum

D. Formation of abnormal sperms in the

father

Answer: A



https://dl.doubtnut.com/l/_cpPMusIoB9QF

| QP Watch Video Solution

420. Edward's syndrome, Patau's syndrome

and Down's syndrome are due to

A. Mutation due to malnutrition

B. Change in sex chromosomes

C. Change in autosomes

D. Change in both sex chromosomes and

autosomes

Answer: C


https://dl.doubtnut.com/l/_cpPMusIoB9QF
https://dl.doubtnut.com/l/_sp1a1dtiIzyn

° Watch Video Solution

421. Which of these is not a Mendelian

disorder

A. Cystic fibrosis

B. Sickle cell anaemia

C. Colour blindness

D. Turner's syndrome

Answer: D

| 8 l


https://dl.doubtnut.com/l/_sp1a1dtiIzyn
https://dl.doubtnut.com/l/_NH9Kn1oqmTv6

422. Moody describes the mutation as

A. Sports

B. Saltation

C. Factors

D. Shotgun

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NH9Kn1oqmTv6
https://dl.doubtnut.com/l/_RTiY77zxa8vv
https://dl.doubtnut.com/l/_xPgFE8IX7vtq

423. Which of the following mutations is not

hereditary

A. Genetic

B. Gametic

C. Somatic

D. Germinal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xPgFE8IX7vtq
https://dl.doubtnut.com/l/_Qk98Bhw5hN9F

424. Represented below is the inheritance
pattern of a certain type of traits in
humans.Which one of the following conditions

could be an example of this pattern

A. Phenylketonuria


https://dl.doubtnut.com/l/_Qk98Bhw5hN9F

B. Sickle cell anaemia

C. Haemophilia

D. Thalassemia

Answer: C

o Watch Video Solution

425. What would be the number of
chromossomes in the ovum (fertilized by a

normal sperm) that resulted in the


https://dl.doubtnut.com/l/_Qk98Bhw5hN9F
https://dl.doubtnut.com/l/_WfnltbsEbt1e

appeaarance of Klinefelter's syndrome in the

offspring

A. 23

B. 22

C. 21

D. 24

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WfnltbsEbt1e

426. A man whose father was colour blind
marries a woman who had a colour blind
mother and normal father. What percentage

of male children of this couple will be colour

blind

A. 0.5

B.0.75

C.0.25

D.O

Answer: A


https://dl.doubtnut.com/l/_N7WozHtvWMWN

° Watch Video Solution

427. Trisomic condition of Down's syndrome

arises due to

A. Triploidy

B. Translocation

C. Non-disjunction

D. Diecentric bridge formation

Answer: C

| 8 l


https://dl.doubtnut.com/l/_N7WozHtvWMWN
https://dl.doubtnut.com/l/_aqIn39HUbxSP

428. The given shows type of chromosome

mutation

M xa— € FTSTN 1 I[K[LIN]N] O]

‘“'I-"\“m
s
'
¥ \
[ 3

E: S=TTTTRTONOTRIUMNIR[O]  [E[F[G[R[T]N]o]

A. 1-Inversion, 2-Substitution

B. 1-Inversion, 2 Deletion

C. 1- Duplication, 2- Substituation

D. 1- Duplication, 2- Deletion


https://dl.doubtnut.com/l/_aqIn39HUbxSP
https://dl.doubtnut.com/l/_EvqoRE9icvGI

Answer: D

o View Text Solution

429. Hugo de Vries formulated the "Mutation

Theory" based on the experiments he

conducted on

A. Althea rosea

B. Pisum sativum

C. Drosophila melanogaster

D. Oenothera lamarckiana


https://dl.doubtnut.com/l/_EvqoRE9icvGI
https://dl.doubtnut.com/l/_YVUWrRBWUy47

Answer: D

o Watch Video Solution

430. A hereditary disease which is never

passed on from father to son is

A. Autosomal linked disease

B. X-chromosomal linked disease

C. Y-chromosomal linked disease

D. None of these


https://dl.doubtnut.com/l/_YVUWrRBWUy47
https://dl.doubtnut.com/l/_EDB85Z08Eyoq

Answer: B

o Watch Video Solution

431. Somaclonal varations appear in plants:

A. Growing in polluted soil or water

B. Exposed to gamma rays

C. Raised in tissue culture

D. Transformed by recombinant DNA

technology


https://dl.doubtnut.com/l/_EDB85Z08Eyoq
https://dl.doubtnut.com/l/_tYinZyuurBs6

Answer: C

o Watch Video Solution

432. In Drosophila gene for white eye mutation
is also responfor depigmentation of body
parts. Thus a gene that controls several
phenotypes is called

A. Oncogene

B. Epistatic gene

C. Hyprostatic gene


https://dl.doubtnut.com/l/_tYinZyuurBs6
https://dl.doubtnut.com/l/_qUdoobZiBhab

D. Pleiotropic gene

Answer: D

o Watch Video Solution

433. The functinal unit of mutation is

A. Gene

B. Muton

C. Recon

D. Cistron


https://dl.doubtnut.com/l/_qUdoobZiBhab
https://dl.doubtnut.com/l/_jzkdgdFphOLn

Answer: B

o Watch Video Solution

434. The most striking example of point

mutation is found in a disease called

A. Night blindness

B. Thalassemia

C. Down's syndrome

D. Sickle-cell anaemia


https://dl.doubtnut.com/l/_jzkdgdFphOLn
https://dl.doubtnut.com/l/_xYOYyO1vwtUB

Answer: D

° Watch Video Solution

435. Which following pair of disease is caused

by two genes locted on human X-Chromosome

A. Colour blindness and phenylketonnuria

B. Colour blindnes and haemophilia

C. Colour blindness and albinisam

D. Colour blindness and hypertrichosis


https://dl.doubtnut.com/l/_xYOYyO1vwtUB
https://dl.doubtnut.com/l/_1BFJLAL0rHn6

Answer: B

o Watch Video Solution

436. Which of the following is not related to

chromosomal aberration

A. Euploidy

B. AIDS

C. Aneuploidy

D. Klinefelter's syndrome


https://dl.doubtnut.com/l/_1BFJLAL0rHn6
https://dl.doubtnut.com/l/_aG8K5sJy1Zf7

Answer: B

o Watch Video Solution

437.Sickle-cell anaemia is

A. Autosomal dominant inheritance

B. X-linked recessive inheritance

C. Autosomal recessive inheritance

D. X-linked dominant inheritance

Answer: C


https://dl.doubtnut.com/l/_aG8K5sJy1Zf7
https://dl.doubtnut.com/l/_PgEfID7rFoMF

° Watch Video Solution

438. The frequency of a mutant gene in a

population is expected to increase, if the gene

IS

A. Recessive

B. Dominant

C. Sex linked

D. Favourably selected

Answer: D


https://dl.doubtnut.com/l/_PgEfID7rFoMF
https://dl.doubtnut.com/l/_IWYHrVMgJxhg

° Watch Video Solution

439. Albinism is due to nonsythesis of melanin

on account of absence of

A. Catalase

B. fructokinase

C. Tyrosinase

D. Xenthine oxidase

Answer: C

| 8 l


https://dl.doubtnut.com/l/_IWYHrVMgJxhg
https://dl.doubtnut.com/l/_FdyLMSDAe5ng

440. Sometimes chromosome number

increase or decrease due to

A. NON-disjunction of chromosome

B. Genetic repete

C. Mutation

D. All of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FdyLMSDAe5ng
https://dl.doubtnut.com/l/_QtTjQAiD6Vba

Match

 List

the

© Listll

following

XX-XO. method of sex | (I}
determination

? Heterogametic

(B) —714.5 X/A ratio () | Turner’s
syndrot
(C) | Karyotype 45 (1)

7ZW-ZZ method of sex
determination

D.

(a)

(V)
A B C D
I 1v III II
A B (C D
111 1v 11 I
A B C D
v 1 II III
A B C D
I I1v 1II III

me
Hemiptera
Metafemale


https://dl.doubtnut.com/l/_QtTjQAiD6Vba
https://dl.doubtnut.com/l/_6lSmYwP7H3n3

Answer: B

o Watch Video Solution

442. The idea of mutations was brought forth

by

A. Hufo do Vries, who worked on evening

primose

B. Gregor Mendel, who worked on Pisum

sativum


https://dl.doubtnut.com/l/_6lSmYwP7H3n3
https://dl.doubtnut.com/l/_k5bcqCC6flel

C. Hardy Weinberg, who worked on allele

frequencies in a population

D. Charles Darwin, who observed a wide

variety of organisms during sea voyage

Answer: A

o Watch Video Solution

443. Edward syndrome is on account of .............

A. 45 chromosmes instead of46


https://dl.doubtnut.com/l/_k5bcqCC6flel
https://dl.doubtnut.com/l/_UZqlYQ8MKSrH

B. Presence of three chromosomes on 18th

pair of autosome

C. Presence of three chromosomes on 21st

pair of autosome

D.Presence of three pair of sex

chromosomes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UZqlYQ8MKSrH

444, Sickle- cell anaemia is an autosome linked
recessive trait that can be transmitted from
parents to the offspring when both the
partners are carrier for all the gene (or
heterozygous ).The disease is controlled by a
single pair of allele, Hb* & Hb°. Out of the
three possible genotypes only homozygous
individuals for HbS ( Hb® Hb®) are lethal. Select

the right option in which XY and Z are


https://dl.doubtnut.com/l/_27VYL9t229f2

correctly identified

CTC-

Normal Hb (A)gene
rma 3 GAG-

——> Sickle-cell Hb(S) gene

<m < <

mRNA - GAG mRNA - GUG -

/\\
/ R N o N (1) fs ’@
e ) o @) (@12 R
! ’ o A b ‘
Phoa o

HHS peptide

il N L Y a e A B/

A. X-CAC,’Y GTG, Z His
B.X -y GTG, - Y CAC, Z Val
C.X - CAC, - Y GTG,Z Phe

D. X - CAC, - Y GTG, Z Val

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_27VYL9t229f2

445, Pick out the correct statements

() Haemophilia is a sexlinked recessive
disease

(i) Down's syndrome is due to aneuploidy

(iii) Phenylketonuria is an autosomal dominant
gene disorder

(iv) Phenylketonuria is an autosmal recessive

gene disorder

A. (i), (i1) and (v) are correct

B. (i) and (iii) are correct


https://dl.doubtnut.com/l/_27VYL9t229f2
https://dl.doubtnut.com/l/_HZNVVznuf7TF

C. (ii) and (v) are correct

D. (i), (ii) ad (iv) are correct

Answer: D

° Watch Video Solution

446. Match column | with column Il and find

the correct answer


https://dl.doubtnut.com/l/_HZNVVznuf7TF
https://dl.doubtnut.com/l/_W0FowNhQ0k2F

Column | Column 11

(A)  Monoploidy (1) 2n-1
(B)  Monosomy 2) 2n+1
(C)  Nullisomy 3) 2n+2
(D)  Trisomy 4 2n-2
(E)  Tetrasomy 5) n

6) 3n

A. (A) - (5), (B) - (1), (C) - (4), (D) - (2), (E) - (3)

B. (A) - (5), (B) - (2),(C) - (4), (D) - (1), (E) - (3)

C. (A)-(6),(B) -(5),(C)-(3),(D) - (4),(E)-(2)

D. (A) - (2), (B) - (1), (C) - (3), (D) - (6), (E ) - (5)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W0FowNhQ0k2F

447.Height is

A. Somatogenic variation

B. Discontinous variation

C. Continuous variation

D. Blastogenic variation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c4C9rEiW22Vg

448. Which one of the following is not a

mutagen

A. Ethyl methane sulphonate

B. Acetic acid

C. Nitrous acid

D. Ethylene oxide

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JIE2nPxnhKOE
https://dl.doubtnut.com/l/_lKanwfajhmbe

449, Rate of mutation is affected by

A. Temperature

B. X-rays

C. Gamma and beta radiation

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lKanwfajhmbe

450. A mutation is most likely to have a

selective advantage in evolution if

A. It affects dominant genes

B. It affects recessive genes

C. It affects whole chromosomes

D. The environment remains stable

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wNmQHnpiaLAC
https://dl.doubtnut.com/l/_mVMQ0pr5VRGV

451. Which one of the following is a wrong

statement regarding mutations

A. Deletion and insertion of base pairs

cause frame-shift mutions

B. Cancer cells commonly show

chromosomal aberrations

C. UV and Gamma rays are mutagens

D. Change in a single base pair of DNA does

not cause mutation

Answer: D


https://dl.doubtnut.com/l/_mVMQ0pr5VRGV

° Watch Video Solution

452.The gene for diabetes mellitus is

A. Autosomal dominant

B. Autosomal recessive

C. Sex - linked dominant

D. Sex linked recessive

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mVMQ0pr5VRGV
https://dl.doubtnut.com/l/_aqkuGElhc2Ew

453. Gynaecomastia is the symptom of

A. Down syndrome

B. SARS

C. Turner's syndrome

D. Klinefelter's syndrome

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aqkuGElhc2Ew
https://dl.doubtnut.com/l/_s5dSNZKuO5Hk

454, Which of the following is the main

category of mutation

A. Genetic mutation

B. Zygotic mutation

C. Somatic mution

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PE3iuuia5aoM
https://dl.doubtnut.com/l/_IjyhLi19VxeA

455. In human beings, multiple genes are

involved in the inheritance of

A. Colourblindness

B. Phenylketonuria

C. Sickle-cell anaemia

D. Skin colour

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IjyhLi19VxeA

456. The formation of multivalents at meiosis

in diploid organism is dua to

A. Monosomy

B. Inversion

C. Deletion

D. Reciprocal translocation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gW7ZszPBSHDo
https://dl.doubtnut.com/l/_6FQLwTd1lCAb

457. Mental retardation in man, associated

with sex chromosomal abnormality is usually

due to

A. Reduction in X complement

B. Increase in X complement

C. Moderate increase in Y complement

D. Large increase in Y complement

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6FQLwTd1lCAb
https://dl.doubtnut.com/l/_2fSouBdBBaJC

458. If chromosome complement 44+XY of a
gamete mother cell suffers a non-disjunction
at the of first meiotic division. Which sets of

gametes will be correct


https://dl.doubtnut.com/l/_2fSouBdBBaJC

Answer: C

o Watch Video Solution

459, If haploid chromosome number in a cell is

12. The monosomic number will be

A. 24

B. 21

C. 25

D. 23


https://dl.doubtnut.com/l/_2fSouBdBBaJC
https://dl.doubtnut.com/l/_oMqlHpapshMn

Answer: D

o Watch Video Solution

460. Normally DNA molecule has A-T, G-C
pairing. However, these bases can exist in
alternative  valency status, owing to
rearrangements called

A. Point mutation

B. Analogue substitution

C. Frame-shift mutation


https://dl.doubtnut.com/l/_oMqlHpapshMn
https://dl.doubtnut.com/l/_K5N6Lh5aDL84

D. Huntington(1872)]

Answer: D

° Watch Video Solution

461. Who reported that Down's syndrome is

due to extra 21st chromosome

A.j.| Down (1866)

B. Lejeune (1959)

C. Klinefelter (1942)


https://dl.doubtnut.com/l/_K5N6Lh5aDL84
https://dl.doubtnut.com/l/_Ynf8Qihg7AMT

D. Huntington(1872)]

Answer: A

o Watch Video Solution

462. In agriculture mutation caused by a

mutangen is

A. Natural

B. Chemical

C. Spontaneous


https://dl.doubtnut.com/l/_Ynf8Qihg7AMT
https://dl.doubtnut.com/l/_G4oZIGtfv9yB

D. Induced

Answer: D

° Watch Video Solution

463. Discontinuous variations are

A. Mutations

B. Acquired characters

C. Essential features

D. Nonessential features


https://dl.doubtnut.com/l/_G4oZIGtfv9yB
https://dl.doubtnut.com/l/_4Q1QymEhJvJs

Answer: A

o Watch Video Solution

464. Epicanthal skin fold and simian crease are

characteristics of:

A. Haploidy

B. Heteroploidy

C. Turner's syndrome

D. Down's syndrome


https://dl.doubtnut.com/l/_4Q1QymEhJvJs
https://dl.doubtnut.com/l/_DbKZ7j0jiw4g

Answer: D

o Watch Video Solution

465. UV radiations cause

A. Formation of thymine dimers

B. Deletion of base pairs

C. Methylation of base

D. Additon of base pairs

Answer: A


https://dl.doubtnut.com/l/_DbKZ7j0jiw4g
https://dl.doubtnut.com/l/_kNGWbM5qzKfo

° Watch Video Solution

466. A person may have one gene for normal
heamoglobin and one gene for sickle cell
haemoglobin. This heterozygous condition is
called

A. Genome

B. Anaemia

C. Gene trait

D. Sickle cell trait


https://dl.doubtnut.com/l/_kNGWbM5qzKfo
https://dl.doubtnut.com/l/_UCqZMTTKpNgG

Answer: D

o Watch Video Solution

467. If a diploid cell is treated with colchicine,

then it becomes

A. Tetraploid

B. Diploid

C. Triploid

D. Monoploid


https://dl.doubtnut.com/l/_UCqZMTTKpNgG
https://dl.doubtnut.com/l/_w1pLf1C56i96

Answer: A

o Watch Video Solution

468. Which one of the following mutation

partially or fullt reverses the harmful effects of

previous mutation

A. Indirect suppression

B. Intragenic mutation

C. Intragenic mutation

D. Suppressor mutation


https://dl.doubtnut.com/l/_w1pLf1C56i96
https://dl.doubtnut.com/l/_aUEBn8cnP4Ho

Answer: D

o Watch Video Solution

469. Polydactyly in man is due to

A. Autosomal dominant gene

B. Autosomal recessive gene

C. Sex-linked dominant gene

D. Sex linked recessive gene

Answer: A


https://dl.doubtnut.com/l/_aUEBn8cnP4Ho
https://dl.doubtnut.com/l/_nWyQR16oGREy

° Watch Video Solution

470. The number of chromosomes in

Klinefelter's syndrome is

A. 47 (44 + XXY)

B. 47 (44 + XXX)

C.47 (46 + 1 chromosome 21)

D. None of these

Answer: A

| 8 l


https://dl.doubtnut.com/l/_nWyQR16oGREy
https://dl.doubtnut.com/l/_F9esMmV7KBM9

471. Philadelphia chromosome is

A. 13th chromosome

B. 22nd chromosome

C.17th chromosome

D. 21st chromosome

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_F9esMmV7KBM9
https://dl.doubtnut.com/l/_o3z8oQGivGr1
https://dl.doubtnut.com/l/_iGcnhfUyCV9R

472. Which of the following chromosomal

constituation refers to Jacob's syndrome in

human

A. 44 + XO

B. 44 + XXY

C.44 + XYY

D. 45 + XYY

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iGcnhfUyCV9R

473. The condition in which there are more

than two complete set of chromosome is

called

A. Polytene

B. Monoploidy

C. Polyploidy

D. Aneuploidy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_K6KwBxzTs7nE

474. Down's syndrome is caused by an extra
copy of chromosome number 21. What
percentage of offspring produced by an
affected mother and a normal father would be
affected by this disorder

A.0.25

B.1

C.0.75

D.0.5

Answer: D


https://dl.doubtnut.com/l/_lZV14u3dkKrm

° Watch Video Solution

475. Polyploidy can be induced the application

of

A. Auxin

B. Kinetin

C. Colchicine

D. Ethylene

Answer: C

| 8 l


https://dl.doubtnut.com/l/_lZV14u3dkKrm
https://dl.doubtnut.com/l/_ujZaqqYNWPca

476. Given below is the representation of kind
of chromosomal mutation what is the kind of

mutation represented ?

E FGH

A
add HED-GHD

DCB

ABCDE FGH

A. Deletion

B. Duplication

C. Inversion

D. Reciprocal translocation


https://dl.doubtnut.com/l/_ujZaqqYNWPca
https://dl.doubtnut.com/l/_GxAiXMNChoer

Answer: C

o Watch Video Solution

477. In the given human hand pedigree which

character is represented and what is the


https://dl.doubtnut.com/l/_GxAiXMNChoer
https://dl.doubtnut.com/l/_o6I1LmUWRjEo

probability of disease occurrence in fifth child

wa _p=
Daughter Daughter Son / Daughter
L |
f /

A. Polydactyly (X-linked recessive disorder

),50%

B. Polydactyly (X-linked dominant

disorder),50%


https://dl.doubtnut.com/l/_o6I1LmUWRjEo

C. Polydactyly(autosomal recessive

disorder), 50%

D. Polydactyly (autosomal dominant

disorder), 50%

Answer: D

o Watch Video Solution

478. A recessive mutant is one which is:

A. Is not expresses


https://dl.doubtnut.com/l/_o6I1LmUWRjEo
https://dl.doubtnut.com/l/_ulFRHv6QCm97

B. Is rarely expressed

C.Is expressed only in homozgous and

hemixtgous state

D. Is expresesed only in heterozygous state.

Answer: C

o Watch Video Solution

479. Frequency of Down's syndrome increase

when the matermal age is


https://dl.doubtnut.com/l/_ulFRHv6QCm97
https://dl.doubtnut.com/l/_UYJ279jRwbBe

A. Above 35 years

B. Below 35 years

C. During 1st pregnancy

D. In mothers of at least 3 children

Answer: A

o Watch Video Solution

480. Addition or deletion of a single

nucleotide results in which type of mutation


https://dl.doubtnut.com/l/_UYJ279jRwbBe
https://dl.doubtnut.com/l/_3Zvfy1MvY7gx

A. Deficiency

B. Duplication

C. Frameshift mutation

D. None of these

Answer: C

o Watch Video Solution

481. Change in the number of body parts is

called


https://dl.doubtnut.com/l/_3Zvfy1MvY7gx
https://dl.doubtnut.com/l/_iKPCGvVufQVA

A. Continous variation

B. Discontinous variation

C. Meristic variation

D. Substantive variation

Answer: C

o Watch Video Solution

482. Turner's syndrome is an example of

A. Monosomy


https://dl.doubtnut.com/l/_iKPCGvVufQVA
https://dl.doubtnut.com/l/_S0zWCSMYdbNh

B. Bisomy

C. Translocation

D. Trisomy

Answer: A

o Watch Video Solution

483. In man, which of the following genotypes
and phenotypes may be the correct result of

aneuploidy in sex chromosomes


https://dl.doubtnut.com/l/_S0zWCSMYdbNh
https://dl.doubtnut.com/l/_Nltazaw0gcwF

A. 22 pairs + XXY males

B. 22 pairs + XX females

C. 22 pairs + XXXY females

D. 22 pairs + Y females

Answer: A

o Watch Video Solution

484. The "cri-du-chat" syndrome is caused by

change in chromosome structure involving


https://dl.doubtnut.com/l/_Nltazaw0gcwF
https://dl.doubtnut.com/l/_lgwcPf96XYkz

A. Deletion

B. Duplication

C. Inversion

D. Translocation

Answer: A

° Watch Video Solution

485. Somaclonal variation appears in plants


https://dl.doubtnut.com/l/_lgwcPf96XYkz
https://dl.doubtnut.com/l/_d8yAJsFmZM9E

A.Organism produced through somatic

hybridization

B. Plants growing in highly polluted

conditions

C. Apomictic plants

D. Tissue culture raised plants

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d8yAJsFmZM9E

486. Mutation cannot charge

A. RNA

B. Environment

C. Enzyme

D. DNA

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8PauGh9uDSvu

487. Turner's syndrome in human caused by

A. Autosomal aneuploidy

B. Sex chromosome aneuploidy

C. Polyploidy

D. Point mutation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nI0Mo7EoKhka

488. Which of the following corresponds to

mutagens

A. Chemicals and radiations which cause

changes in the genetic material of a cell

B. Various archaebacteria that produce

methane

C.Chemicals which react with ozone

molecules and destroy them


https://dl.doubtnut.com/l/_Teiayppd8vPV

D. RNA molecules that infect plant cells and

cause diseases

Answer: A

o Watch Video Solution

489. Both sicke cell anaemia and Huntington's

chorea are

A. Pollutant-induced disorders

B. Virus-related diseases


https://dl.doubtnut.com/l/_Teiayppd8vPV
https://dl.doubtnut.com/l/_GNSsSIy3g69X

C. Bacteria-related diseases

D. Congenital disorders

Answer: D

o Watch Video Solution

490. Albinism is known to be due to an
autosomal recessive mutation. The first child
of a couple with normal skin pigmentation was
an albino. What is the probability that their

second child will also be an albino


https://dl.doubtnut.com/l/_GNSsSIy3g69X
https://dl.doubtnut.com/l/_M7lkD07qMK3K

Al

B.0.25

C.0.5

D. 0.75

Answer: B

o Watch Video Solution

491. Failure of segregation of chromatids
during cell division results in the gain or loss

of chromososmes, this is called as


https://dl.doubtnut.com/l/_M7lkD07qMK3K
https://dl.doubtnut.com/l/_Gvg4CLApwmk1

A. Aeuploidy

B. Euploidy

C. Reverse tandem duplication

D. Substantive mutation

Answer: B

o Watch Video Solution

492. Addition of one or more haploid set of its

own genome in an organism results in


https://dl.doubtnut.com/l/_Gvg4CLApwmk1
https://dl.doubtnut.com/l/_KyQwb80V1PEk

A. Autopolyploidy

B. Allopolyploidy

C. Aneuploidy

D. Diploid

Answer: A

o Watch Video Solution

493. Autosomal mutant allele HbS causes

A. Thalassemia


https://dl.doubtnut.com/l/_KyQwb80V1PEk
https://dl.doubtnut.com/l/_tPl6ZzVcRJsy

B. Albinism

C. Sickle cell anaemia

D. Agammaglobuliema

Answer: C

o Watch Video Solution

494. Due to the nondisjunctiuvon of
chromosomes  during  spermatogenesis,
sperms carry both sex chromosomes (22A +

XY) and some sperms do not carry any sex


https://dl.doubtnut.com/l/_tPl6ZzVcRJsy
https://dl.doubtnut.com/l/_zpO7oRMy13dt

chromosome (22A + 0). If these sperms
fertilise normal eggs (22A + X), what types of
genetic disorders appear among the
offsprings ?
A.Tumer's syndrome and Kilnefelter's
syndrome
B.Down's syndrome and Klinefelter's
syndrome
C. Down's syndrome and Turner's syndrome

D.Down's syndrome and cri-du-chat

syndrome


https://dl.doubtnut.com/l/_zpO7oRMy13dt

Answer: A

o Watch Video Solution

495, Genteic variation in a population arises

due to

A. Recombination only

B. Mutaions as well as recombination

C. Reproductive isolation and selection

D. Mutations only


https://dl.doubtnut.com/l/_zpO7oRMy13dt
https://dl.doubtnut.com/l/_4aObkI637T83

Answer: B

o Watch Video Solution

496. The chromosomal condition in Turner's

syndrome is

or A human female with Turner's syndrome

A. 21 Trisomy with XY

B. 44 Autosomes +XXY

C. 44 Autosomes +XYY

D. 44 Autosomes +XO


https://dl.doubtnut.com/l/_4aObkI637T83
https://dl.doubtnut.com/l/_jfKni6w3WdDk

Answer: D

o Watch Video Solution

497. The change in single base pair

A. Results in new species

B. Always change the polypetide chain

C. May not change the phenotype

D. Always changes the Phenotype

Answer: C


https://dl.doubtnut.com/l/_jfKni6w3WdDk
https://dl.doubtnut.com/l/_JQUu5X010Dno

° Watch Video Solution

498. Which is correct for Turner's syndrome ?

A. It is a case of monosomy

B. It causes sterility in females

C. Absence of Barr body

D. All the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JQUu5X010Dno
https://dl.doubtnut.com/l/_zBrkRjHuSssi

499, The disease sickle-cell anaemia is caused

by the substitution of _() by (i) at the
(i) position of _(¥) globin chain of
haemoglobin molecule

Which of the following correctly fills the blanks
in the above statements ?
A. Valine by glutamic acid at sixth position
of alpha chain of haemoglobin
B. Valine by glutamic acid at sixth position

of beta chain of haemoglobin


https://dl.doubtnut.com/l/_zBrkRjHuSssi
https://dl.doubtnut.com/l/_RdQ35fBFhVg4

C. Gluacid by valine at sixth position of

alpha chain of haemoglobin

D. Glutomic acid by valine at sixth position

of beta chain of haemoglobin

Answer: D

o Watch Video Solution

500. If a colour bind man marries a woman
who is normal but carries this trait, the

progeny will be


https://dl.doubtnut.com/l/_RdQ35fBFhVg4
https://dl.doubtnut.com/l/_9nIwHY7xkDrK

A. All normal females but carrier of the

trait

B. All males and 50 % females colour bind

C. All females and 50 % males colour bind

D.50 % males and 50 % females colour

bind

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9nIwHY7xkDrK

501. Thalassemia and sickle cell anemia are

caused due to a problem in globin molecule

synthesis. Select the correct statement

A.Both are due to qualitative defect in

globin chain synthesis

B. Both are due to a quantitative defect in

globin chain synthesis

C. Thalassemia is due to less synthesis of

globin molecules


https://dl.doubtnut.com/l/_g0ub7e5UIRBt

D.Sickle cell anemia is due to a

quantitative  problem of  globin

molecules

Answer: C

o Watch Video Solution

502. A disease caused by an autosomal

primary non-disjunction is

A. Down's Syndrome


https://dl.doubtnut.com/l/_g0ub7e5UIRBt
https://dl.doubtnut.com/l/_jJmo3tfPUmIM

B. Klinefelter's Syndrome

C. Turner's Syndrome

D. Sickle Cell Anemia

Answer: A

o Watch Video Solution

503. Sex chromosomes of a female bird are

represented by

A. XO


https://dl.doubtnut.com/l/_jJmo3tfPUmIM
https://dl.doubtnut.com/l/_yot7sXfrgio1

B. XX

C. XY

D.ZW

Answer: D

o Watch Video Solution

504. When released from ovary human egg

contain

A. One Y chromosome


https://dl.doubtnut.com/l/_yot7sXfrgio1
https://dl.doubtnut.com/l/_j4MN0s8pQ6Je

B. Two X chromosome

C. One X chromosome

D. XY chromosome

Answer: C

o Watch Video Solution

505. Barr bodies (seen in saliva test in Olympic
games) are found in human and are

associated with


https://dl.doubtnut.com/l/_j4MN0s8pQ6Je
https://dl.doubtnut.com/l/_sa6Vg1Rzq6Q2

A. Male autosome

B. Female autosome

C. Female sex chromosome

D. Male sex chromosome

Answer: C

o Watch Video Solution

506. The chromosomes respondsible for the

determination of sex are called


https://dl.doubtnut.com/l/_sa6Vg1Rzq6Q2
https://dl.doubtnut.com/l/_DL43PVs1rY04

A. Autosomes

B. Allosomes

C. Multiple alleles

D. Heterosis

Answer: B

o Watch Video Solution

507. Sex chromosomes for the first time was

discovered in which plant


https://dl.doubtnut.com/l/_DL43PVs1rY04
https://dl.doubtnut.com/l/_AlWml1rmCppm

A. Sphaerocarpus

B. Pisum sativum

C. Neurospora

D. Lathyrus odoratus

Answer: A

o Watch Video Solution

508. XO type of sex determination is seen in

A. Man


https://dl.doubtnut.com/l/_AlWml1rmCppm
https://dl.doubtnut.com/l/_HheHVmDv9Fp8

B. Grasshopper

C. Horses

D. Birds

Answer: B

o Watch Video Solution

509. The barr body is observed in

A. Basophils of males

B. Neutrophils of females


https://dl.doubtnut.com/l/_HheHVmDv9Fp8
https://dl.doubtnut.com/l/_af9tUnooxJ6I

C. Eosinophils

D. Neutrophils of males

Answer: B

o Watch Video Solution

510. In Drosophila, the sex is determined by

A. Whether the egg is fertilized or develops

parthenogenetically


https://dl.doubtnut.com/l/_af9tUnooxJ6I
https://dl.doubtnut.com/l/_plVspqZYemxs

B. The ratio of humber of X-chromosomes

to the sets of autosomers

C.X and Y chromosomes to the sets of

autosomes

D. The ratio of pairs of X-chromosomes to

the pairs of autosomes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_plVspqZYemxs

511. In XO type of sex determination

A. Females produce two different type of

gametes

B. Males produce two different types of

gametes

C. Females produce two different with Y

chromosomes

D. Male produce single type of gametes

Answer: B



https://dl.doubtnut.com/l/_WbbZtxpVOaco

\ ° Watch Video Solution

512. Which type of gene regulate sex-

determination in Spinach plant

A. Homozygous genes

B. Heterozygous genes

C.Single gene

D. Multiple genes

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_WbbZtxpVOaco
https://dl.doubtnut.com/l/_ka8Fj0klJy9e

513. The sex determination pattern

honeybee is called

A. Female haploidy

B. Haplodiploidy

C. Gametic diploidy

D. Gametogony

Answer: B

in

o Watch Video Solution



https://dl.doubtnut.com/l/_ka8Fj0klJy9e
https://dl.doubtnut.com/l/_Qek6v0CJl8YG

514. Sex of a human child is determined by

A.Size of the egg at the time of

fertilization

B.Size of the sperm at the time of

fertilization

C. Sex chromosome of father

D. Sex chromosome of mother

Answer: C

| &


https://dl.doubtnut.com/l/_Qek6v0CJl8YG
https://dl.doubtnut.com/l/_oJyACfbdTjze

| ' Watch Video Solution

515. Lyon hypothesis deals with

A. Centromere position

B. Genetic compatibility

C. Genetic incompatibility

D. Number of Barr bodies

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oJyACfbdTjze
https://dl.doubtnut.com/l/_Ru61KSD7bgRq

516. Meta-females have

A. XX

B. XO

C. XXXX

D. XXXXXX

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qwsp9D0dLfMF

517. Animal which remains male initially, then

changes to female (Tapeworm proglottides) is

called

A. Protandrous

B. Apomixis

C. Profixation

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FQAsrLjMZCwf

518. Barr bodies and drumsticks are of what

signifcance to genetists and biolgists

A.They indicate the presence of abnormal

sex cells

B. The inidicate the presence of more than

one X chromosome in the cells

C. The indicate male calls

D. They signify the presence of sex linked

traits


https://dl.doubtnut.com/l/_tc3AAwBAgQf9

Answer: B

o Watch Video Solution

519. A family has five girls and no son.

Probability of son as the 6th child will be

A.50 %

B. 75 %

C. Full

D. No chance


https://dl.doubtnut.com/l/_tc3AAwBAgQf9
https://dl.doubtnut.com/l/_Vlyh6Au0SVvH

Answer: A

o Watch Video Solution

520. Barr bodies are

A. Chromatin negative

B. Not influnced by stains

C. Chromatin positive

D. Poorly staining

Answer: B


https://dl.doubtnut.com/l/_Vlyh6Au0SVvH
https://dl.doubtnut.com/l/_stVrfnqxsFQ8

° Watch Video Solution

521. Chromosomal abnormality of an unborn

baby (while in mother's womb) can be found

out by a technique called

A. Amniocentesis

B. CAT scanning

C. Ultrasound

D. Tissue calture

Answer: A


https://dl.doubtnut.com/l/_stVrfnqxsFQ8
https://dl.doubtnut.com/l/_9hvDBA5Ti6Xq

o Watch Video Solution

522. In our society women are balmed for

producing female children. Choose the correct

answer for the sex- determination in humans

A. Due to some defect like aspermia in man

B.Due to the genetic make up of the

particular sperm which fertilizes the egg

C. Due to the genetic make up of the egg

D. Due to some defect in the women


https://dl.doubtnut.com/l/_9hvDBA5Ti6Xq
https://dl.doubtnut.com/l/_AeTeu7l3ZYiq

Answer: B

o Watch Video Solution

523. Foetal sex can be determined by

examining cells from amniotic fluid looking for

A. Barr bodies

B. Chiasmata

C. Sex chromosomes

D. Kinetochores


https://dl.doubtnut.com/l/_AeTeu7l3ZYiq
https://dl.doubtnut.com/l/_VUxNHlOavzGQ

Answer: A

o Watch Video Solution

524. Chromosomes that determine male sex in

Melandrium plant is

A.Y chromosome

B. X chromosome

C. XX chromosome

D. None of these


https://dl.doubtnut.com/l/_VUxNHlOavzGQ
https://dl.doubtnut.com/l/_89v1dVYC5CV8

Answer: A

o Watch Video Solution

525. Male child will be born if

A. Father is sexually more excited

B.Sperm of male with Y chromosome

fertilizes the egg

C.Sperm of male with X chromosome

fertilizes the egg


https://dl.doubtnut.com/l/_89v1dVYC5CV8
https://dl.doubtnut.com/l/_cpNcpBcOjLFj

D. None of these

Answer: B

° Watch Video Solution

526.Barr body in mammals represent

A. All the heterochromatin in female cells

B.One of the two X-chromosomes in

somatic cells of females


https://dl.doubtnut.com/l/_cpNcpBcOjLFj
https://dl.doubtnut.com/l/_HRqCEqGVW4K2

C.All the heterochromatin in male and

female cells

D.The Y chromosome in somatic cells of

male

Answer: B

o Watch Video Solution

527. Based on Lyon's hypothesis, what will be
the number of Barr bodies found in a human

female suffering from Down's syndrome


https://dl.doubtnut.com/l/_HRqCEqGVW4K2
https://dl.doubtnut.com/l/_DQXXdE0NoBVb

A.O

B.1

C.2

D.3

Answer: B

° Watch Video Solution

528. Drosophila files with one half of the body
male and other half female is referred to as

or


https://dl.doubtnut.com/l/_DQXXdE0NoBVb
https://dl.doubtnut.com/l/_HW4M93OF4nNN

Loss of a X chromosome in a particular cell

during its development, results into

A. Gyandromorph

B. Hermaphrodite

C. Super female

D. Intersex

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HW4M93OF4nNN

529. In human female, barr bodies are formed

by

A. Inactivation of mother's X chromosome

B. Inactivation of father's X chromosome

C.Inactivation of both mother's and

father's X chromosome

D. Inactivation of either mother's or

father's X chromosome

Answer: A



https://dl.doubtnut.com/l/_xfvv4CsK1w5x

I QP Watch Video Solution

530. Gyandromorphs develop in Drosophila

when the two «cells in the two-called

proembryo will have one of the following

chromosomal sets

A. 2A+XX in one cell and 2A+X in the other

B. 2A+X in both the cells

C. 2A+XXX in both the cells

D. All of the above


https://dl.doubtnut.com/l/_xfvv4CsK1w5x
https://dl.doubtnut.com/l/_ZX44NMWzyXWY

Answer: A

o Watch Video Solution

531. Genic balance theory of sex determination

was proposed by

A. Morgan

B. Bridges

C. Boveri

D. Wilkins


https://dl.doubtnut.com/l/_ZX44NMWzyXWY
https://dl.doubtnut.com/l/_4QnFmVzusHW8

Answer: B

o Watch Video Solution

532. A medical technician while observing a
human blood smear under the microscope
notes the presence of barrbody close to the
nuclear membrane in the WBC. This indicates

that person under investigation is

A. Colour blind

B. Haemophilic


https://dl.doubtnut.com/l/_4QnFmVzusHW8
https://dl.doubtnut.com/l/_cDF9KBCiBG8q

C. Normal female

D. Normal male

Answer: C

° Watch Video Solution

533. The following figure refer to the
chromosome complement of each sex of fruit

fly


https://dl.doubtnut.com/l/_cDF9KBCiBG8q
https://dl.doubtnut.com/l/_VYhxub2My0al

M€ O

By which number is a Y chromosome labelled

A 4
B.3
C.2

D. 1

Answer: A

[


https://dl.doubtnut.com/l/_VYhxub2My0al

I o Watch Video Solution

534. Genetic identity of a human male is

determined by

A. Autosome

B. Nucleolus

C.Sex chromosome

D. Cell organelles

Answer: C

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_VYhxub2My0al
https://dl.doubtnut.com/l/_uUU4RGJ6gd0Y

535. The theory where ratio between the

number of X chromosomes and number of

complete sets of autosomes will determine

the sex is known as

A. Chromosome theory of sex

determination

B.Genic  balance  theory of  sex

determination


https://dl.doubtnut.com/l/_uUU4RGJ6gd0Y
https://dl.doubtnut.com/l/_qmt0496XalbM

C.Hormonal balance theory of sex

determination

D. Environmental sex determination theory

Answer: B

o Watch Video Solution

536. If somatic cells of a human male contain
single barrbody, the genetic composition of
the person would be

or


https://dl.doubtnut.com/l/_qmt0496XalbM
https://dl.doubtnut.com/l/_ZWiZIleabGrw

The genotype of a boy having sexual

characters of a girl is

A. XYY

B. XXY

C.XO

D. XXXY

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZWiZIleabGrw

537. Chromosome theory of sex determination

was propounded by

A. Bridges

B. Balbiani

C. Goldschmidt

D. None of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6E7sZfheV57m
https://dl.doubtnut.com/l/_BJfI02jNUAAD

538. Identify the wrong statement

A.In male grasshoppers 50% of the

sperms have no sex chromosome

B. Usually female birds produce two types

of gametes based on sex chromosomes

C. The human males have one of their sex

chromosomes much shorter than the

other

D.In domesticated fowls the sex of the

progeny depends on the type of sperm


https://dl.doubtnut.com/l/_BJfI02jNUAAD

that fertilizes the egg

Answer: D

° Watch Video Solution

539. Random genetic drift in a population

probably result from

A. Large population size

B. Highly genetically variable individuals


https://dl.doubtnut.com/l/_BJfI02jNUAAD
https://dl.doubtnut.com/l/_a0RbNhPk9ODU

C.Interbreeding within small isolated

population

D. Constant low mutation rate

Answer: C

o Watch Video Solution

540. In melandrium the sex determination

type is

A. XX-XY type


https://dl.doubtnut.com/l/_a0RbNhPk9ODU
https://dl.doubtnut.com/l/_KA7d2GcypKRk

B. XX-XO type

C. ZZ-ZW type

D. XY-XO type

Answer: A

o Watch Video Solution

541. Which one of the following conditions
correctly describes the manner of determining

the sex in the given example


https://dl.doubtnut.com/l/_KA7d2GcypKRk
https://dl.doubtnut.com/l/_NXOFcSHCbOw3

A. Homozygous sex chromosomes (XX)

produce male in Drosophila

B. Homozygous sex chromosomes (ZZ)

determine female sex in birds

C. XO type of sex chromosomes determine

male sex in grasshopper

D.XO condition in humans as found in

Turner Syndrome, determines female sex.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NXOFcSHCbOw3

542. A colour blind man marries the daughter

of a colour blind person. Then in their progeny

A. None of their daughters are colour blind

B. All the sons are colour blind

C. All the daughters are colour blind

D. Half of their sons are colour blind

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NXOFcSHCbOw3
https://dl.doubtnut.com/l/_jbe0hALzOUpr

543. Given is : X is the chromosome with gene
for haemophilia and X is the chromosome with
gene for haemophilia a X is the chromosome
with normal gene. Which of the following

individuals will act as carrier for haemophilia

A. X'thy

B. XY

c. x'xh

D.X"X

Answer: D


https://dl.doubtnut.com/l/_pPWXwjVuUO25

° Watch Video Solution

544, More men suffer from colour blindess

than women because

A.Women are more resistant to disease

than men

B.The male sex hormone testosterone

causes the disease

C.The colour blind gene is carried on the

"Y' chromosome


https://dl.doubtnut.com/l/_pPWXwjVuUO25
https://dl.doubtnut.com/l/_LG6odC5yNijg

D. Men are hemizygous and one defective

gene is enough to make them colour

blind

Answer: D

o Watch Video Solution

545. Sex-linked characters are

A. Dominant

B. Racessive


https://dl.doubtnut.com/l/_LG6odC5yNijg
https://dl.doubtnut.com/l/_BYPWhvyIhibj

C. Lethal

D. Not inherited

Answer: B

o Watch Video Solution

546. This pedigree is of a rare trait, in which
children have extra fingers and toes. Which

one of the following patterns of inheritance is


https://dl.doubtnut.com/l/_BYPWhvyIhibj
https://dl.doubtnut.com/l/_nOHX2zsBVlsq

consistent with this pedigree

O O

O) Lo

000000

A. Autosomal recessive

B. Autosomal dominant

C. Y-linkage

D. Sex linked recessive

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nOHX2zsBVlsq

547. If mother is a carrier for colour blindess

and father is normal, then in the offsprings

this disease may be seem om

A. All the sons

B. All the daughters

C.50 % sons and 50 % daughters (carrier)

D. All the sons and not in daughters

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_nOHX2zsBVlsq
https://dl.doubtnut.com/l/_1Q2kGa9P5m7u

548. Study the pedigree chart given below

Ao [ J T—_‘,T[_

_JRCING

What does its show

A. Inheritance of a sex-linked inborn error

of metabolism like phenylketonuria

B.Inheritance of a condition like

phenylketonuria as an autosomal


https://dl.doubtnut.com/l/_1Q2kGa9P5m7u
https://dl.doubtnut.com/l/_Q6afSoRh5dCW

recessive trait

C.The pedigree chart is wrong as this is

not possible

D.Inheritance of a recessive sex-linked

disease like haemophilia

Answer: B

° Watch Video Solution

549. A man a inherit his X chromosome from


https://dl.doubtnut.com/l/_Q6afSoRh5dCW
https://dl.doubtnut.com/l/_Y2Vj6kpTlnG7

A. His maternal grand mother or maternal

grand father

B. His father

C. His maternal grand father only

D. His paternal grand father

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Y2Vj6kpTlnG7

550. In a pedigree analysis,

respresents

A. Unrelated mating

B. Consanguinous mating

C. Affected parents

D. Siblings

Answer: B

]

o Watch Video Solution



https://dl.doubtnut.com/l/_mC6RP0MGzphd
https://dl.doubtnut.com/l/_hA2VUpqiWetg

551. Select the incorrect statement from the

following

A. Linkage is an exception to the principle

of independent assortment in heredity

B. Galactosemia is an inborn error of

metabolism

C. Small population size results in random

genetic drift in a population

D. Baldness is a sex-limited trait

Answer: D


https://dl.doubtnut.com/l/_hA2VUpqiWetg

° Watch Video Solution

@V
= Normal —* (O — ¢
B m -
Diseased [
mmem ® m-
552. Sm O

In the above given pedigree, assume that no
outsider marrying in, carry a disease. Write the
genotypes of Il and IlI

A All XY

B. XPY and XPXx¢

C.X°XX%Y and X%Y7?


https://dl.doubtnut.com/l/_hA2VUpqiWetg
https://dl.doubtnut.com/l/_juBFwZSVdtGG

D.X%X% and X%

Answer: C

° View Text Solution

553. Which one of the following is a genetically

transmitted character

A. Colour blindness

B. Hydrocephalus

C. Hemophilia


https://dl.doubtnut.com/l/_juBFwZSVdtGG
https://dl.doubtnut.com/l/_noafDSPpdHLt

D. all of these

Answer: D

o Watch Video Solution

554. A normal-visioned man whose father was
colour-blind, marries a woman whose father
was also colour-blind. They have their first
child as a daughter. What are the chances that

this child would be colour-blind

A.50 %


https://dl.doubtnut.com/l/_noafDSPpdHLt
https://dl.doubtnut.com/l/_yaRE9dTdA5sB

B. 100 %

C.0%

D. 25 %

Answer: C

o Watch Video Solution

555. A man who is suffering from a recessive X_
linked disease marries a normal women. Then

what is true about its progeny


https://dl.doubtnut.com/l/_yaRE9dTdA5sB
https://dl.doubtnut.com/l/_NuVgUaDldo8Z

A. All sons are diseased

B. All daughter's are diseased

C. All sons are normal

D. None of the above

Answer: C

o Watch Video Solution

556. Person whose father is colourblind
marries a lady whose mother is daughter of a

colourblind man. Their children will be


https://dl.doubtnut.com/l/_NuVgUaDldo8Z
https://dl.doubtnut.com/l/_r7sApdLlddeP

A. All normal

B. All colour blind

C. All sons colour blind

D.Some sons normal and some colour

blind

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r7sApdLlddeP

557. Which one of the following symbols and
its representation, used in human pedigree

analysis is correct

A_ (a) @ = male affected

B o (b) 3—=70 = mating between relatives

C. ©v 0 - unaffected male

D. (@ ! unaffected female

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bNlDqGtoVWEa

558. Pick out the correct statements

(A) Haemophilia is a sex-linked recessive
disease

(B) Down's syndrome is due to aneuploidy

(C) Phenylketonuria is an autosmal recessive
gene disorder

(D) Sickle cell anaemia is a x-linked recessive

gene disorder

A. (A) and (D) are correct

B. (B) and (D) are correct

C. (A), (C) and (D) are correct


https://dl.doubtnut.com/l/_VTB6LfbDWuHj

D. (A), (B) and (C) are correct

Answer: D

° Watch Video Solution

559. The most common type of haemophilia

results from the congenital absence of

A. Factor Il

B. Factor V

C. Factor VIl


https://dl.doubtnut.com/l/_VTB6LfbDWuHj
https://dl.doubtnut.com/l/_saP9mjKA9r4u

D. Factor Xl

Answer: C

° Watch Video Solution

560. Which of the following diseases belongs
to the same category as colourblindness in

man

A. Nightblindness

B. Presbyopia


https://dl.doubtnut.com/l/_saP9mjKA9r4u
https://dl.doubtnut.com/l/_KBWdwUmxRczD

C. Diabetes incipidus

D. Haemophilia

Answer: D

o Watch Video Solution

561. X-linked recessive gene is

A. Always expressed in male

B. Always expressed in female

C. Lethal


https://dl.doubtnut.com/l/_KBWdwUmxRczD
https://dl.doubtnut.com/l/_YGOdMB6nlfsu

D. Sub lethal

Answer: A

° Watch Video Solution

562. If a colourblind woman marries and a

normal visioned man, their sons will be

A. Three-fourths colourblind and on-fourth

normal

B. All colourblind


https://dl.doubtnut.com/l/_YGOdMB6nlfsu
https://dl.doubtnut.com/l/_AC1NRkqZV1Bx

C. All normal visioned

D. One-half colourblind and one-half

normal

Answer: B

o Watch Video Solution

563. A man known to be victim of haemophilia
marries a normal woman whose father was

known to be a bleeder. Then it is expected that


https://dl.doubtnut.com/l/_AC1NRkqZV1Bx
https://dl.doubtnut.com/l/_4TPkDpZuKp0P

A. All their children will be bleeders

B. Half of their children will be bleeders

C.One fourth of their children will be

bleeders

D. None of their children will be bleeder

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4TPkDpZuKp0P

564. In the following human pedigree, the
filled symbols represent the affected

individuals. Identify the type of given pedigree

A. X- linked recessive

B. Autosomal recessive

C. X-linked dominant

D. Autosomal dominant


https://dl.doubtnut.com/l/_9mkdx3RYfbMn

Answer: B

o Watch Video Solution

565. Given below is a pedigree chart showing
the inheritance of a certain sex-linked trait in

humans

Generation 1 2—O

Generationz[ilj D"é é ‘5 El'j
Generation 3 é &) e:} é [\]

Key:



https://dl.doubtnut.com/l/_9mkdx3RYfbMn
https://dl.doubtnut.com/l/_pss50v04aR13

Key :

(] Unaffected male
Affected male

O Unaffected female
@ Affected fernale

The trait traced in the above pedigree chart is

A. Dominant X-linked
B. Recessive X-linked
C. Dominant Y-linked

D. Recessive Y-linked

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_pss50v04aR13

566. Which of the following statement about

colour blindness is correct

A.2% men are red colour blind, 6 % are

green colour blind

B.6 % men are red colour blind, 2% are

green colour blind

C.10 % men are red colour blind, 5 % are

green colour blind


https://dl.doubtnut.com/l/_pss50v04aR13
https://dl.doubtnut.com/l/_EioqPrWKJa2U

D.5% men are red colour blind, 10 % are

green colour blind

Answer: A

o Watch Video Solution

567. Sex linked disease is

A. Haemophilia

B. Colourblindness

C. Sickle-cell anaemia


https://dl.doubtnut.com/l/_EioqPrWKJa2U
https://dl.doubtnut.com/l/_yqdAadYLMpqJ

D. Both (a) and (b)

Answer: D

° Watch Video Solution

568. A woman with normal vision, but whose
father was colour blind, marries a colour blind
man. Suppose that the fourth child of this

couple was a boy. Thus boy


https://dl.doubtnut.com/l/_yqdAadYLMpqJ
https://dl.doubtnut.com/l/_FxJfjovx1s1R

A. Will be partially colour blind since he is

heterozygoustor for the colour blind

mutant able

B. Must have normal colour vision

C. Must be colour blind

D. May be colour blind or may be of normal

vision,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FxJfjovx1s1R
https://dl.doubtnut.com/l/_95P1mOSkrN6p

569. A man and a woman, who do not show
any apparent signs of a certain inherited
disease, have seven children (2 daughters and
5 sons). Three of the sons suffer from the
given disease but none of the daughters are
affected which of the following mode of

inheritance do you suggest for this disease

A. Autosomal dominant

B. Sex-linked dominant

C. Sex-limited recessive

D. Sex-linked recessive


https://dl.doubtnut.com/l/_95P1mOSkrN6p

Answer: D

o Watch Video Solution

570. Which of the following is not a hereditary

disease

A. Cretinism

B. Cystic fibrosis

C. Thalassaemia

D. Haemophilia


https://dl.doubtnut.com/l/_95P1mOSkrN6p
https://dl.doubtnut.com/l/_01CYFWDg6pwi

Answer: A

o Watch Video Solution

571. If a boy's father has haemophilia and his

mother has one gene for haemophilia, what is

the chance that the boy will inherit the

disease

A. 25 %

B. 50 %

C.75 %


https://dl.doubtnut.com/l/_01CYFWDg6pwi
https://dl.doubtnut.com/l/_cta8eSb2gg7n

D. 100 %

Answer: B

° Watch Video Solution

572. A colour blind man marries a woman with
normal sight who has no history of colour
blindness in her family. What is the probability

of their grandson being colour blind

Al


https://dl.doubtnut.com/l/_cta8eSb2gg7n
https://dl.doubtnut.com/l/_ZTwNyc8hvNo2

B. Nil

C.0.25

D.0.5

Answer: C

o Watch Video Solution

573. Sickle cell anaemia is due to

A. Hormones

B. Viruses


https://dl.doubtnut.com/l/_ZTwNyc8hvNo2
https://dl.doubtnut.com/l/_CyobLzbPNMBN

C. Genes

D. Bacteria

Answer: C

° Watch Video Solution

574. Sex linked inheritance was discovered by

A. McClung

B. Mendel

C. Landsteiner


https://dl.doubtnut.com/l/_CyobLzbPNMBN
https://dl.doubtnut.com/l/_EELtm17zuOsc

D. Morgan

Answer: D

° Watch Video Solution

575. Colour blindness is caused by a single

A. Dominant gene in woman

B. Dominant gene in man

C. Recessive gene in man

D. Recessive gene in woman


https://dl.doubtnut.com/l/_EELtm17zuOsc
https://dl.doubtnut.com/l/_XrRwbrz1Z3rc

Answer: C

° Watch Video Solution

576. The following is a pedigree chart of a
family with five children. It shows the
inheritance of attached, ear-lobes as opposed
to the free ones. The squares represent the

male and circles the female individuals

oo /\Hac'h‘e,d.
s 1 lobe Ear-lube g
) !lb ) ik u


https://dl.doubtnut.com/l/_XrRwbrz1Z3rc
https://dl.doubtnut.com/l/_bE1XS3G2nLZn

Which one of the following conclusions drawn

Is correct

A. The parents are homozygous dominant

B. The parents are homozygous dominant

C. The parents are heterozygous

D. The trait is Y- linked

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bE1XS3G2nLZn

577. Female rarely experience the physiologic

defect of haemophilia because they do so only

when they are

A. Heterozygous for the defect

B. Homozygous for the defect

C. Carrier for the defect

D. Wives of haemophilic husbands

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QDatXxlqtwDZ

578. A colour blind son will born when

A. Mother is normal band father normal

B. Mother is colour blind and father normal

C. Mother is normal and father is colour

blind

D. All the cases are correct

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GmopAiUzKic7
https://dl.doubtnut.com/l/_ldeemKJEHWCE

579. Sex influenced characters are due to

A. Y-linked genes

B. X-linked genes

C. Autosomal genes

D. Y-linked gene modification

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ldeemKJEHWCE

580. A colourblind man has a colourblind

sister but a normal brother than phenotype of

its parents is

A. Father colourblind and mother normal

B. Father normal and mother colourblind

C. Father and mother both are colourblind

D. Father and mother both are normal

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_82KW2J38DEjg

581. The frequency of a character is found to

be increasing when

A. It is dominant

B. It is recessive

C. It is adaptable

D. It is inheritable

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aadlxTg2RP6T
https://dl.doubtnut.com/l/_VXymj2VOG3lw

582. The female children of a haemophilic man

and a carrier woman are likely to be

A. All haemophilic

B. Half haemophilic and half carriers

C. All carriers

D. Half normal and half carriers

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VXymj2VOG3lw

583. The daughter born to haemophilic father

and normal mother could be

A. Normal

B. Carrier

C. Haemophilic

D. None

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Mm7TeHFro3AN
https://dl.doubtnut.com/l/_uAJrW1art4CB

584. Haemophilia is caused due to lack of

A. ADH

B. AHF

C.STH

D. ACTH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uAJrW1art4CB

585. A marriage between normal visoned man

and colourblind woman will produce which of

the following types of offsprings

A. Normal sons and carrier dughters

B. Colourblilind sons carrier daughters

C. Colourblind sons and 50% carrier

saughters

D.50% colourblind sons and 50% carrier

daughters


https://dl.doubtnut.com/l/_x4j1UaObRvQl

Answer: B

o Watch Video Solution

586. Sex -linked genes of man are

A. Present on X-chromosome

B. Present on autosomes

C.Present on short arm (p) of Y-

chromosome present on long arm (q) Of

Y-chromosome


https://dl.doubtnut.com/l/_x4j1UaObRvQl
https://dl.doubtnut.com/l/_mBUPkurveD3m

D.Present on long arm (q) of Y-

chromosome

Answer: A

o Watch Video Solution

587. A marriage between a colourblind man

and a normal woman produces

A.All sons will be colourblind and

duughters normal


https://dl.doubtnut.com/l/_mBUPkurveD3m
https://dl.doubtnut.com/l/_zf8HVf1YZCaE

B. All daughters will be colourblid and sons

normal

C. All children will be normal

D. All chidren will be colourblind

Answer: C

o Watch Video Solution

588. A girl of normal vision whose father was

clourblind marries a man of normal vision


https://dl.doubtnut.com/l/_zf8HVf1YZCaE
https://dl.doubtnut.com/l/_kHLjEDzPAtXw

whose father was also colourblind .their sons

would be (o ftotal number of sons)

A. All colourblind

B. 50% colourblind

C. All normal

D. 25% colourblind

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kHLjEDzPAtXw

589. All the sons are haemophilic and dughter

aare normal os a heamophilic father and

normal mother .This character is

A. X-linked recessive

B. Y- linked recessive

C. X- linked dominant

D. Y- linked dominant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXv9acKCXPUK

590. In human the inhertiance of sex linkage

takes place through

A. Autosome

B. Y-chroosome

C. X-chromosome

D. Both (b) and (c)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eoaR4Krtnio4
https://dl.doubtnut.com/l/_wC2AmzZKyCnk

591. Haemophilia is more commonly seen in

human males then in humanfemales because

A.This disease is due to an X-linked

dominant mutaition

B.A grater proportion of girls die in

infancy

C.This disease is due to an Zlinkled

recessive mutaion

D. This disease is due to a Y-Linked recesive

mutaion


https://dl.doubtnut.com/l/_wC2AmzZKyCnk

Answer: C

o Watch Video Solution

592. What are all the chances of colour blind
faughter and sons being born in a marriage of
normal man marrying a normal woman ,whose

father was father was colour blind

A. All sons are normal and all daughters

are colourblind


https://dl.doubtnut.com/l/_wC2AmzZKyCnk
https://dl.doubtnut.com/l/_zToH7cdXrXVj

B.Both the sons and daughters are

colourblind

C.All the sons are colourblind and all

daughters are normal

D.50% sons are colourblind and all

dughters are pfenotypically normal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zToH7cdXrXVj

593. Match the symbol with associated

staatement

0 ©

& (9
:
8 l
o
/
\ 2

12.

16. . ‘

A. Heterozygopus indivuals wityh autosomal

recessive


https://dl.doubtnut.com/l/_QQ5wKXkMXNlj

B. Diseased (or death )

C. Female carrier of an X-linked recessive gane
D. Indivduals with normal trait

E. COnsanguineius mating (marriage o fblod
relatives )

F. Unknoewn sex

G. Mating

H. male

l. female

) . Affected individual

Aborton or still birth

ABCEF
6 4 14 12


https://dl.doubtnut.com/l/_QQ5wKXkMXNlj

B.1613 2 11

C.3127

D.16127

Answer: A

o Watch Video Solution

594. Wife is PTC non-taster and husband is PTC
taster. Their son is taster but daughters are
non-tasters. This is not a sex linked trait.

Which pedigree is correct ?


https://dl.doubtnut.com/l/_QQ5wKXkMXNlj
https://dl.doubtnut.com/l/_NdBQ3XbY9RMR

Answer: D

o Watch Video Solution

595. If a character is always transmitted

directly from a father to all his sons and sons


https://dl.doubtnut.com/l/_NdBQ3XbY9RMR
https://dl.doubtnut.com/l/_lUM0lAm9wPk6

from their sons to all their sons ,them which

chromosome carriers the gane for the

character

A. Autosomes

B. X-chromosome

C.Y- chromosome

D. one of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lUM0lAm9wPk6
https://dl.doubtnut.com/l/_o1V1IvsCUqsM

596. A normal woman whose father was
colorblind marris a normal man what what
kinds of chidren would be expected and in
what proprtin

A.Daughters normal ,50% of sons

colourblind
B. Daughters normal all sons colourblind
C.50% of daughters colourblind ,all sons

normal

D. All daughterscolourblind ,sons normal


https://dl.doubtnut.com/l/_o1V1IvsCUqsM

Answer: A

o Watch Video Solution

597. A colourblind daughter is born when

A. Father is colourblind mother is noramal

B. Mother of colourblind ,[father is normal

C. Mother is carrier ,[father is normal

D. Mother is carrer father is colourblind

Answer: D


https://dl.doubtnut.com/l/_o1V1IvsCUqsM
https://dl.doubtnut.com/l/_Ugc6el0DcGG5

° Watch Video Solution

598. Barchydactyly is due to

A. Dominant gane on the autosome

B. Recessive gane on the autosome

C. Dominant gane on the sex sutosome

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ugc6el0DcGG5
https://dl.doubtnut.com/l/_54ByRH1cT8kR

599. Which disease is genetically linked

A. Haemophilla

B. Dysentery

C. Plague

D. Tuberculosis

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_54ByRH1cT8kR
https://dl.doubtnut.com/l/_GqEnvRNGlfyc

600. Haemopillic man marris a normal woman

their offspring s will be

A. All gils

B. All nhormal

C. All haemopillic

D. All boys heamophillic

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lzVOXRxYk7jJ
https://dl.doubtnut.com/l/_nXUPUmmTmDdb

601. When an allele fails to explain itself in
presence of the other allel ,the foemar is said
to be

A. Rececssive

B. Dominant

C. Codominant

D. Complementary

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nXUPUmmTmDdb
https://dl.doubtnut.com/l/_bzGMJmIGFRHm

602. A woman wih genes for haemophillia and
one gene for colourblindness on one of the X
chromsomes marries a normal man ,How will
the progengy be
A.All sons and daughters haemophillic
asnd colourblind
B. Haemophillic and colourblind daughters

C.50% haemopillic daughter and 50%

normal sons


https://dl.doubtnut.com/l/_bzGMJmIGFRHm

D. 50% haemopillic saughters and 50 %

colourblind daughters

Answer: C

o Watch Video Solution

603. A fruit fly is heterozygous for sex -linked
genes when mated with normal female fruit fly
the males specific chromosome will enter eg

cell in the proportion


https://dl.doubtnut.com/l/_bzGMJmIGFRHm
https://dl.doubtnut.com/l/_emFeNlCvFJ1B

Al:1

B.2:1

C.3:1

D.7:1

Answer: A

o Watch Video Solution

604. In which of the following colourblindn ess

si inherited


https://dl.doubtnut.com/l/_emFeNlCvFJ1B
https://dl.doubtnut.com/l/_1xUx3NWjW2NI

A.In males only

B.Both the sons and daughters are

colourblind

C.In both males and female

D. In none of the above

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1xUx3NWjW2NI

605. Peraons who are colour blind cannot

disinguisg

A. Red and green

B. Block and yellow

C. Green and blue

D. Yellow and white

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5tJkG3ADTvQ3
https://dl.doubtnut.com/l/_Q0A21QK8ikUd

606. Study the given pedigree chart of a
certain family and select the correct
conclusion which can be drawn for the

character

A. The famle parent is heterozygous

B. The parents could not have a normol

daughter for this cahacter

C. The trait under syudy could not becolour

-blindness


https://dl.doubtnut.com/l/_Q0A21QK8ikUd

D.the male parent is homozygous

dominant

Answer: A

o Watch Video Solution

607. Expected children of a blue - eyed
(recessive ) woaman and brown -eted
(doninant ) man who had a blue had a blue

eyes mother are likely to be


https://dl.doubtnut.com/l/_Q0A21QK8ikUd
https://dl.doubtnut.com/l/_KUOCzjEB3kVC

A. All brwon -eyed

B. On eblue -eyed and one brown eyed

C. All blue -eyed

D. Three blue -eyed and one brown -eyed

Answer: B

o Watch Video Solution

608. Gane for colour blindness is located on

A. Homologous part X- chroosome


https://dl.doubtnut.com/l/_KUOCzjEB3kVC
https://dl.doubtnut.com/l/_006q6yq2Fbzz

B.Non - Homologous part of X-

chromosome

C. Homologous part of Y -chromosome

D. Non -homologous part of Y-chromosome

Answer: B

o Watch Video Solution

609. Which of the following conditions is not

X-linked


https://dl.doubtnut.com/l/_006q6yq2Fbzz
https://dl.doubtnut.com/l/_3viHnD8fkKo8

A. Colour bilndness

B. Haemophillia

C. Down's syndrome

D. Mypia

Answer: D

o Watch Video Solution

610. A diseases man marries a normal woman

they get three daughters and five sons All the


https://dl.doubtnut.com/l/_3viHnD8fkKo8
https://dl.doubtnut.com/l/_CTVO7seZYkz5

daughters were diseased and sons were

normal .the gene of this disease is

A. Autosomal dominat

B. Sex linked recessive

C. Sex limited character

D. Sex linked dominant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CTVO7seZYkz5

611. Pattern baldness ,mooustaches and beard
and beard in human males are examples of

Or

The traits which are expressed inolty a
particular sex though their gens occour uin

the opposite sex too are known as

A. Sex - determining traits

B. Sex linked trailts

C. Sex limited traits

D. Sex differenting traits


https://dl.doubtnut.com/l/_a0EGTz1qxn8U

Answer: C

o Watch Video Solution

612. One of the genes present exclusively on

the X-chromosome in humans is concerned

with

A. Baldness

B. Red -green clourness

C. Facial hair / moustaches in males

D. Night blindness


https://dl.doubtnut.com/l/_a0EGTz1qxn8U
https://dl.doubtnut.com/l/_Yatf5KC8vPo5

Answer: B

o Watch Video Solution

613. One of the following is not true to

haemophilia

A. Royal disease

B. Bleeder's disease

C. X-linked disease

D. Y- linked disease


https://dl.doubtnut.com/l/_Yatf5KC8vPo5
https://dl.doubtnut.com/l/_uGPHjGh6JiyN

Answer: D

o Watch Video Solution

614. Which one is the incorrect statement with

regards to the importance of pesigree analysis

A. It confirms that DNA is the carrier of

genstic information

B. It help ti understant whether the triat in

question is domonat or recesive


https://dl.doubtnut.com/l/_uGPHjGh6JiyN
https://dl.doubtnut.com/l/_AwKW1Imr9AG7

C. It Confiorms thaat the traits is linked to

one of the autosome

D. It helpto the inertance of a spific trait

Answer: A

o Watch Video Solution

615. If a colour -blind man marries a woman
who is homzygous for normal colour vision ,

the probailty of their son being colour -blind is


https://dl.doubtnut.com/l/_AwKW1Imr9AG7
https://dl.doubtnut.com/l/_sXZ7w21gYgPO

Al

B.1

C.0.5

D. 0.75

Answer: B

o Watch Video Solution

616. A woman has an X-linked condition on one
of her X chroomsomes , this chromosome can

be inherited by


https://dl.doubtnut.com/l/_sXZ7w21gYgPO
https://dl.doubtnut.com/l/_0nfJyMgPqvlu

A. Only duaghters

B. Only sons

C. Only grandhchildren

D. Both sons and daughters

Answer: D

o Watch Video Solution

617. Fraaternal twins are produced when

A. A fertiilzed egg divided in to two


https://dl.doubtnut.com/l/_0nfJyMgPqvlu
https://dl.doubtnut.com/l/_YIyikSyAhvFc

B. An egg is fertilzd by two set sperms

C. Adivvided egg has two set of chromoses

D. Two eggs are fertized simultaneously

Answer: D

o Watch Video Solution

618. Identical twins are

A. Heterozygous

B. Homozygous


https://dl.doubtnut.com/l/_YIyikSyAhvFc
https://dl.doubtnut.com/l/_7ZBw4CZFEVp4

C. Monozygotic

D. Dizygotic

Answer: C

o Watch Video Solution

619. An organism which receives identical
alleles of a particular gene from both parents

IS

A. Heterozygoute


https://dl.doubtnut.com/l/_7ZBw4CZFEVp4
https://dl.doubtnut.com/l/_Gb0kHdH40b7J

B. Holometabolus

C. Homosapiens

D. Homozygote

Answer: D

o Watch Video Solution

620. Study of improvement of human race by
providing idealn nature is

Or

Improvement of genetic characters and


https://dl.doubtnut.com/l/_Gb0kHdH40b7J
https://dl.doubtnut.com/l/_XNlXuh8AQZLz

present day generation on the basis of best

nultrition and training is called

A. Eugenics

B. Euphenisc

C. Euthenics

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XNlXuh8AQZLz

621. The best method to improve the genetic

quality of mankind is

A. Marriage restrictions

B. Sterilizations

C. Control of immigrations

D. Sexual separation of defective

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bpRmzCuRiS6s
https://dl.doubtnut.com/l/_rS5Ra04zcYug

622. Study of human race is called

A. Eugenics

B. Entomology

C. Ecology

D. Pathology

Answer: A

o Watch Video Solution

623. Eugenics pertains to


https://dl.doubtnut.com/l/_rS5Ra04zcYug
https://dl.doubtnut.com/l/_TFIlEDlOMqvp

A. Improvement of mankind by improving

his heredity

B. Preservating human sperms for articficial

iInsemination

C. Study of human genetics

D. Controlling size of a human familiy

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TFIlEDlOMqvp

624. Sometimes the separations of twins is
incomplete and these are born attached or
ramin so even after . Such twins are known as
Or
Conjoint twins are also known as

A. Fraternal

B. Dizygotic

C. Identical

D. Siamese

Answer: D


https://dl.doubtnut.com/l/_TOs1ABhVogyu

° Watch Video Solution

625. Gemetically identical progency is

produced when an individual

A. Practices slef-fertilization

B. Produces identiacal gametes

C. Practices reporduction

D. Paracties in breeding without meiosis

Answer: B
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https://dl.doubtnut.com/l/_TOs1ABhVogyu
https://dl.doubtnut.com/l/_aA1a5nMUXyEt

626. Twin is

A. Developed from same zygote

B. Developed from different zygote

C. two different sperm

D. Two different sperm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aA1a5nMUXyEt
https://dl.doubtnut.com/l/_60I17FpyJhy3
https://dl.doubtnut.com/l/_qXQqlIj2TiDO

627. Two offspring developed in the same

uterus but fom fertilization of two different

Ova are

A. Dizygotic twins

B. Monozygotic twin

C. Fraternal twins

D. Both (a) and (c)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qXQqlIj2TiDO

628. All gens located on the same

chromosome

A. From different groups depending upon

their relative distance

B. From one linkage group

C. Will not from any linkage groups

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XBQ9N9qJ4Ibh

629. Conditions of a karyotype

2n + 1 and 2n + 2 are called

A. Aneuploidy

B. Polyploidy

C. Allipolyploidy

D. Monosomy

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_XBQ9N9qJ4Ibh
https://dl.doubtnut.com/l/_28kTHTer35dn
https://dl.doubtnut.com/l/_4sIsqdoWBraQ

630. Distance between the genes and

percentage of recombination shows

A. A directly relationship

B. An inverse relationship

C. A parrllel realtionship

D. No relationship

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4sIsqdoWBraQ
https://dl.doubtnut.com/l/_QTjqnKZWse14

631. If a genetic disease is transferred from a

phenotypically normal but carrier female to

only some of the male progeny, the disease is

A. Autosomal dominat

B. Autosomal recessive

C. Sex-linked dominate

D. Sex-linked recessive

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QTjqnKZWse14
https://dl.doubtnut.com/l/_a8KmVvUsiHoQ

632. In sickle cell anaemia glutamic acid is

replaced by valine Which one of the following

triplets codes for valine ?

A GGG

B.AAG

C.GAA

D.GUG

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_a8KmVvUsiHoQ

633. Person having genotype I4IB would
show the blood group as AB. Thus is because
of

A. Pleiotropy

B. Co-dominance

C. Segregation

D. Incomplete dominance

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fMWPoJ4Yrebp

634. ZZ/ZW type of sex determination is seen

in

A. Platypus

B. Snails

C. Cockroach

D. Peacook

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kHpng9TaaoCH
https://dl.doubtnut.com/l/_3y0zXujTe73v

635. A cross between two tall plants resulted

in offspring having few dwarf plants. What

would be the genotypes of both the plants ?

A.TT and Tt

B.Tt and Tt

C.TTandTT

D.Ttand Tt

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3y0zXujTe73v
https://dl.doubtnut.com/l/_xfmWWZ9aax7D

636. In a dihybrid crossm if you get 9:3:3:1

ratio it denotes that

A.The alleles of two genes ar interacting

with each other

B. It is a multigenic inheritance

C. It is case of multiple alleism

D. The alleles of two genes are segregating

independently

Answer: D



https://dl.doubtnut.com/l/_xfmWWZ9aax7D

L ¥ Watch Video Solution J

637. Which of the following will not result in

variations among siblings ?

A. Independent assorment of genes

B. Crossing over

C. Linkage

D. Multation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xfmWWZ9aax7D
https://dl.doubtnut.com/l/_grRxOI9jIel0

638. Mendel's law of independent assortment

holds good for genes situated on the

A. Non-homologous chromosomes

B. Homologous chromosomes

C. Extra nuclear gentetic element

D. Same chromosome

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_grRxOI9jIel0
https://dl.doubtnut.com/l/_eRZOpQkGKEDn

639. Occasionally, a single gene may express

more than one effect. The phenomenon is

called

A. Multiple allelism

B. Mosaicism

C. Pleiotropy

D. Polygency

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_n1mYZAXxwemH

640. In a certain taxon of insects some have 17

chromosomes and the others have 18

chromosomes. The 17 and 18 chromosome-

bearing organisms are

A. Males and females ,respectively

B. Females and males, respectively

C. All males

D. All females

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_lTVlTAyFvN9z

641. The inheritance pattern of a gene over

generations amoung human is studied by the

pedigree analysis. Character studied in the

pedigree analysis is equivalent to

A. Quantitative trait

B. Mendelian trait

C. Polygenic trait

D. Maternal triat


https://dl.doubtnut.com/l/_lTVlTAyFvN9z
https://dl.doubtnut.com/l/_OsDsepZvUhFB

Answer: B

o Watch Video Solution

642. It is said thet Mendel proposed that the

factor controlling any character is discrete and

independen. His proposition was based on the

A. Results of F3 generations of a cross

B. Observations  that the offspring

characters shows only one character

without any blending


https://dl.doubtnut.com/l/_OsDsepZvUhFB
https://dl.doubtnut.com/l/_HNKiMoVFYbsX

C. Self pollination of F} offsprings

D. Cross pollinations of F; generation with

recessive parent

Answer: B

o Watch Video Solution

643. Two gens 'A' and 'B' are linked . In a
dihybrid cross involving these two genes the

F} heterozygote is corssed with homozygous


https://dl.doubtnut.com/l/_HNKiMoVFYbsX
https://dl.doubtnut.com/l/_Y5cwmwYxztZY

recessive parental type (aa bb). What would be

the ratio of offspring in the next generations

Al 1:1:1

B.9,3:3:1

C.3:1

D.1:1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Y5cwmwYxztZY

644. In the F,; generation a Mendelian
dihybrid cross the number of phenotypes and
genotypes are

A. Phenotypes-4, genotypes -16

B. Phenotypes-9, genotypes -4

C. Phenotypes-4, genotypes -8

D. Phenotypes-4, genotypes -9

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jPxvsA4Z3sK6

645. Mother and father of a person with 'O’
blood group have 'A' and 'B' blood group
respectively. What would be the genotype of
both mother and father ?
A. Mother is homozygous for 'A' blood
group and father is heterozygous for 'B'
B. Mother is heterozygous for 'A' blood
group and father is homozygous for 'B'

C. Both mother and father are

heterozygous fro 'A' and 'B' blood group ,


https://dl.doubtnut.com/l/_aXPWKjMtxRjZ

respectivley

D. Bothe mother and father are

homozygous for 'A' and 'B' blood group,

respectively

Answer: C

o Watch Video Solution

646. Which is Gynandromorph type of animal

A. Drosophila


https://dl.doubtnut.com/l/_aXPWKjMtxRjZ
https://dl.doubtnut.com/l/_YIvnZUyhNHwd

B. Beetles

C. Silk works

D. All of the above

Answer: D

o Watch Video Solution

647. The segeration of paired herditary factors

that Mendal postulated occures during

A. Anaphase of first meiotic division


https://dl.doubtnut.com/l/_YIvnZUyhNHwd
https://dl.doubtnut.com/l/_k1M5LZFT0F8g

B. Metaphase of second meitoc divisions

C. During interphase between two meiotic

divisons

D. Prophase of fistmeiotic division

Answer: A

o Watch Video Solution

648. A cell al telphases stage is observed by a
student in a plant brought from the filed. He

tells his teacher that this cell is not like other


https://dl.doubtnut.com/l/_k1M5LZFT0F8g
https://dl.doubtnut.com/l/_pz47sgyq8ECy

cells at telophases stage. There is no
foramation of cell plate an thus cell is
containing more number of chormosomes as
compared to other dividing cells. This would
result in

A. Aneuploidy

B. Polyploidy

C. Somaclonal variation

D. Polyteny

Answer: B

| 8


https://dl.doubtnut.com/l/_pz47sgyq8ECy

649. Match the terms in column-l with their
description in column-ll and choose the

correct option

Dominance Many genes govern a

single character
(b) Codominance (ii) In a heterozygous
organism only one allele

expresses itself

(c) Pleiotropy
B In a heterozygous
(i) organism  both  alleles
cxpress themselves fully
A single geneinfluences
(d) Polygenic (iv) many characters
inheritance



https://dl.doubtnut.com/l/_pz47sgyq8ECy
https://dl.doubtnut.com/l/_lv4rVAHIAWdX

5 @ (b)) (e) (d)

(i) (i) (iv) (i)

c @ (b)) (o) (d)

C(iv) (i) (i) (i)

@ () (9 ()

(iv) (i) (i) (ii)
Answer: B

o Watch Video Solution

650. A selections that acts to eleimainate one

exterme from an aray of phenotyps is

A. Disruptive


https://dl.doubtnut.com/l/_lv4rVAHIAWdX
https://dl.doubtnut.com/l/_TJJ1hzG0nWQo

B. Directional

C. Stabilizing

D. Coevolultion

Answer: B

o Watch Video Solution

651. A tobacco plant heterozygous for
recessive character is self-pollinated and 1200

seeds are subsequently germinated. How


https://dl.doubtnut.com/l/_TJJ1hzG0nWQo
https://dl.doubtnut.com/l/_RdjkNLjZI51m

many seedings would have the parental

genotype ?

A.300

B. 600

C.900

D. 1200

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RdjkNLjZI51m
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https://dl.doubtnut.com/l/_91kN7b4J0Hyk

C. (A-iv-P)(B-iii-R)(C-i-S)(D-ii-R)

D. (A-iii-R)(B-I-Q)(C-iv-P)(D-ii-S)

Answer: B

o Watch Video Solution

653. Find the odd one out, with respect to X-

linkage

A. Haemophilia

B. Myopia


https://dl.doubtnut.com/l/_91kN7b4J0Hyk
https://dl.doubtnut.com/l/_qEmsMPJ9VaUl

C. Nephritis

D. Night blindness

Answer: C

o Watch Video Solution

654. In case of incomplete deominance in Fj

generation

A. Genotypic ratio is 3:1

B. Phenotypic ratio is 3:1


https://dl.doubtnut.com/l/_qEmsMPJ9VaUl
https://dl.doubtnut.com/l/_GKTiu4zAe1zE

C. Genotypic ratio =phenotypic ratio

D. Nothing can be concluded

Answer: C

o Watch Video Solution

655. One of the parents of a cross has a
mutation in its mitochondiria. In that cross,
that parent is taken as a male. During
segregation of Fy progenies that mutation is

found in


https://dl.doubtnut.com/l/_GKTiu4zAe1zE
https://dl.doubtnut.com/l/_3xWosg4Jwwrf

A. All the progenies

B. Fifty precents of the progenies

C. One-third of the progenies

D. None of the progenies

Answer: D

o Watch Video Solution

656. When a cell with 40 chromosomes
undergoes meiosis, each of the four resulting

cells has


https://dl.doubtnut.com/l/_3xWosg4Jwwrf
https://dl.doubtnut.com/l/_GBy4gIKhNnQB

° Watch Video Solution

657. Chromosomal number in a cell of

flowering plant is

A. Only hapliod

B. Only diploid

C. Many than five

D. None of these

Answer: C
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https://dl.doubtnut.com/l/_GBy4gIKhNnQB
https://dl.doubtnut.com/l/_gCY5Kv7CFKUY

658. How many genome types are present in a

tpcial green plants cell

o Watch Video Solution

659. Find out the correct statement

A. Two

B. Three

C. More than five


https://dl.doubtnut.com/l/_gCY5Kv7CFKUY
https://dl.doubtnut.com/l/_Dr79FerCkHyY
https://dl.doubtnut.com/l/_HNxS9Iz8mCiS

D. More than ten

Answer: C

° Watch Video Solution

660. Mathc the iitems in Column-l Column-ll

and choose the correct altrenative

Column -1 Column - I A‘

Sickle-cell anaemia 7" chromosome
Phenylketonuria 4" chromosome
Cystic fibrosis 11" chromosome
Huntington's disease X-chromosome

Colur blindness 12" chromosome l

mo|o|w|>
SARE SN BRIl o

A.A-1,B-3,C-4 ,D-2 E-5


https://dl.doubtnut.com/l/_HNxS9Iz8mCiS
https://dl.doubtnut.com/l/_rJle2VyDrgun

B.A-2,B-3,C-4 ,D-5 E-1

C.A-2,B-1,C-3 ,D-5 E-4

D. A-3,B-5,C-1,D-2 ,E-4

Answer:

o Watch Video Solution

661. Which of the following statements is

correct


https://dl.doubtnut.com/l/_rJle2VyDrgun
https://dl.doubtnut.com/l/_I5Mkh4y7CPMc

A.In honey -bee , functional male does not

undrgo meiosis  during  gamtic

heterogametic

B. In flagellaria, male is heterogametic

C.In Bonellia, a hormone- like substance

secreted by the probosics is responsible

for femaleness,

D.due to the additions of one extera 'X'

chromosome in Drosophila in


https://dl.doubtnut.com/l/_I5Mkh4y7CPMc

uninuleated sate gynandromouphy is

observed

Answer: A

o Watch Video Solution

662. If an inheritable mutation is observed in a
population at high frequency it is reffered to

as

A. Sequence annotation


https://dl.doubtnut.com/l/_I5Mkh4y7CPMc
https://dl.doubtnut.com/l/_cUdLYqORBsyI

B. DNA polymorphism

C. Linkage

D. Expressed sequence Tag

Answer: B

o Watch Video Solution

663. The cause of Cat-cry syndrome is due to

A. Loss of a segment of X-chromosome

5th

B. Loss of a segment of 5" chromosome


https://dl.doubtnut.com/l/_cUdLYqORBsyI
https://dl.doubtnut.com/l/_r6gpa9LsRXj8

C. Loss of segment of Y-chromosome

D. None of the above

Answer: B

o Watch Video Solution

664. When two genes are situated very closed

to each other in a chromosome

A.The percentage of crossing over

between them is very high


https://dl.doubtnut.com/l/_r6gpa9LsRXj8
https://dl.doubtnut.com/l/_kVbxdbiAa72n

B. Hardly any cross over are detected

C.No «crfossing over can take place

between them

D.Only duble cross overs can take place

between them

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kVbxdbiAa72n

665. Who is know as father of physiological

genetics or father of biochemical genetics

A. Slatyper

B. Charles Elton

C. Taylors

D. Archibald Garrod

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dcMuGZ7ov8tS
https://dl.doubtnut.com/l/_AOqXTB30tb8D

666. When a cluster of genes shows linkage

behaviour they

A. Induce cell division

B. Do not show a chromosome map

C. Show recombination during meiosis

D. Do not show independent assortment

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AOqXTB30tb8D

667. Which of the following best illustrates

FEEDBACK in development

A. Tissurn (X) secretes RNA which changes

the development of tissue (Y)

B.As tissue (X) develps, it secrets

something that induces tissue (Y)

C.As tissue (X) develps, it secretes

something that induces tissue (Y) to

develop


https://dl.doubtnut.com/l/_shPQ4pzjhGGQ

D.As tissue (X) develops, it secretes

somethings that shows down the

growth of tisse (Y)

Answer: D

o Watch Video Solution

668. Match the column | with column Il and

choose the correct options


https://dl.doubtnut.com/l/_shPQ4pzjhGGQ
https://dl.doubtnut.com/l/_Ag0v95edKIJX

Column 1 Column 1l
Incomplete dominance i Hershey and Chase
Linkage ii. Antirrhinum sp
Transforming principle  iii.  Griffith

Proved mar DNA s the

GO Ak

oW

Morgan

A. A-l, B-iv, C-iii,D-ii

B. A-iv, B-ii, C-iii,D-i

C. A-ii, B-iii, C-iv,D-i

D. A-ii, B-iv, C-iii,D-i

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Ag0v95edKIJX

669. The fruit fly Drosophila melanogaster was
found to be very suitable for expermiental
verification of chromosomal theory on
inheritanc by Morgan and his coleagues

because

A. It reproduce parthenogenetically

B. A single maing produces two young files

C.Smaller female is eassily recognisable

from larger male


https://dl.doubtnut.com/l/_lZ9wZtxetUAo

D.It completes life cycle in about two

weeks

Answer: D

o Watch Video Solution

670. The exhange of one part of a
chromosome to the other part of some or
another chromosome is called

Or


https://dl.doubtnut.com/l/_lZ9wZtxetUAo
https://dl.doubtnut.com/l/_8aLP7KcKfLOY

The movement of gene from one linkage

group to another is called

A. Inversion

B. Mutation

C. Translocation

D. Linkage

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8aLP7KcKfLOY

671. If the number fo chromosomes in most

body cells of a mammal is 40, the cells the

seminiferous tubule will have

A. 40 chromosomes

B. 20 chromosomes

C. 10 chromosomes

D. While some other will have 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FyC8hMfl8M4y

672. How many nucleosomes are found in

helical coil of 30 nm chromatin fibre

A.10

B. 12

C. 06

D. 09

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_A2znUfr16wLq
https://dl.doubtnut.com/l/_Nr1kWT78zJj2

673. Biological marriage of one the following
should be avoided

Or

After examining the blood groups of a cuple
the doctor advised them not be have more
than one child. The blood group of the couple
are likely to be

Or

In which of the folliwng situations is there a
risk factor for dchildern of incurring

erythroblastosis foetalis

A. Rh™ male and Rh~ female


https://dl.doubtnut.com/l/_Nr1kWT78zJj2

B. Rh" male and Rh ™ female

C. Rh~ maleand Rh ™ female

D. Rh~ male and Rh~ female

Answer: A

o Watch Video Solution

674. Primary source of allelic variation is

A. Independent assortment

B. Recombination


https://dl.doubtnut.com/l/_Nr1kWT78zJj2
https://dl.doubtnut.com/l/_irQq6B4YQHlT

C. Mutation

D. Polyploidy

Answer: B

° Watch Video Solution

675. Presons with the following syndrome have
a tendency of tall structure, mental defects

and a strong anitisocial behaviour

A. XYY syndrome


https://dl.doubtnut.com/l/_irQq6B4YQHlT
https://dl.doubtnut.com/l/_JXHKszLtaKOL

B. Down's syndrome

C. Kinefelter's syndrom

D. Tunrer's syndrome

Answer: A

o Watch Video Solution

676. Recessive characteres are expressd

A.Only when they are presenty on X

chromsomes of male


https://dl.doubtnut.com/l/_JXHKszLtaKOL
https://dl.doubtnut.com/l/_Rj2geZAYxcfe

B.Only when they are prensent of X

chromosomes of female

C. On any autosome

D. On both the chromosomes of femal

Answer: A

o Watch Video Solution

677. Marriage between close relatives should

be avoided because it induces more:


https://dl.doubtnut.com/l/_Rj2geZAYxcfe
https://dl.doubtnut.com/l/_OYcgAHd2RBfR

A. More mutations can occur

B. More recessive defects are likely to

appear

C. More chance there for Rh blood group

anomalies

D. More chances are there for multiple

births

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OYcgAHd2RBfR
https://dl.doubtnut.com/l/_2U14Ai9haV4o

678. In a medico legal case of accidental

interchange between two babies in a hospital,

the baby of the blood group 'A' could not be

rightly given to a couple with:

A. With both husband and wife of group O

B. Husband of group O and wife of group A

C. Husband of group A and wife of group O

D. Both husband and wife of group A

Answer: A

’ ° Watch Video Solution


https://dl.doubtnut.com/l/_2U14Ai9haV4o

679. For finding the different types of gametes

produced by genotype AaBb, it should be

crossed with genotype

A. aaBB

B. AaBb

C. AABB

D. aabb

Answer: D

| €8 |


https://dl.doubtnut.com/l/_2U14Ai9haV4o
https://dl.doubtnut.com/l/_8WySv0o0Uooj

| ¥ Watch Video Solution J

680. Each chromosome at anaphase stage of

bone marrow cell in our body has

A. Two chromoatids

B. No chromatids

C. Only one chromatid

D. Several chromatids

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8WySv0o0Uooj
https://dl.doubtnut.com/l/_o9HqWW7yN7jS

681. A child of blood group O cannot have

parents of blood groups

A.AB and O

B.Band O

C.AandB

D.Aand A

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_o9HqWW7yN7jS
https://dl.doubtnut.com/l/_yUE2nc7mjiux

682. Identical twins are born when:

A.One fertlized egg divided into

blastomeres and both separate

B. One sperm fertlizes two eggs

C. One eggs fertilized with two sperms

D. Two eggs are fertilized

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DdpRHvOb4Tf0
https://dl.doubtnut.com/l/_nAydNGdcB5kh

683. The process of genetic mutations is

A. Reversible

B. Irreversible

C. Partially reversible

D. Continuous

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nAydNGdcB5kh

684. Allelic sequence variations where more
than one variant (allele) at a locus in a human
population with a frquency greater than 0.01
is referred to as

A. Incomplete dominance

B. Multiple allelism

C.SNP

D. DNA polymorphism

Answer:

‘ o Wiak hh \AAA Caliikianm



https://dl.doubtnut.com/l/_wWjIveubbQo6

YVCILLIL VI INAGINIE ] J

685. A man with blood group 'AB' marries a

women with 'O' blood groups, In this situation:

A.The blood group of their childeren will

be the same as that of the mother

B. The blood group of the children differs

from both the parents,

C. While 50% of children will have father's

blood group. The remaining will have


https://dl.doubtnut.com/l/_wWjIveubbQo6
https://dl.doubtnut.com/l/_M7BhVfYQmbqR

mother's blood group

D. None of above

Answer: B

° Watch Video Solution

686. Knowing that albinism determined by a
recessive gene in man' presence of albinism in

children born to a couple proves that


https://dl.doubtnut.com/l/_M7BhVfYQmbqR
https://dl.doubtnut.com/l/_yKOVbM2Nj769

A.Both the father and the mother are

heterozygous for alibinism

B. The father is homozygous for albinims

but the mother is heterozygous or vice

versa

C. The father is homozyous normal but the

mother is heterozygous or vice vers

D. (a) and (b)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yKOVbM2Nj769

687. A woaman of blood group O presented a
baby of blood group O which syhe claimed as
her child. She brought a suit against a man of
'AB' grop as the faher of the child. Which
statement is correct as per your judgment
A.The father and mother claimed are the
true persons

B. Father is true and mother is not the

trueb persons


https://dl.doubtnut.com/l/_yKOVbM2Nj769
https://dl.doubtnut.com/l/_nzcCY15zVKdW

C. Both the parentage claims are false.

D. Mother is the true person and father

claimed is not true

Answer: D

o Watch Video Solution

688. A normal woman whose father was albino
marries an albino,what proportion of normal
and albino can be expected among their

offspring ?


https://dl.doubtnut.com/l/_nzcCY15zVKdW
https://dl.doubtnut.com/l/_YAfg8MMO9Lhk

A.1nromal :1albino

B. Alll albino

C.2 normal :1 albino

D. All normal

Answer: A

o Watch Video Solution

689. As a result of marriage of curly hair

mother and stright hair father, 8 children are


https://dl.doubtnut.com/l/_YAfg8MMO9Lhk
https://dl.doubtnut.com/l/_jJx2iKAfrvnB

born. The ratio of curly and straight haired will

be

A.6:2

B.2:6

C.4:4

D.3:5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jJx2iKAfrvnB

690. transition type of mutation is caused

when :

A. GC is replaced by TA

B. CG is repleaced by GC

C. AT is replaced by CG

D. At is replaced by GC

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EKSbugVli2em
https://dl.doubtnut.com/l/_y6ycb62xj5br

691. Euplodiy is best explanined by

A.Exact muliple ofa haploid set of

chromosomes

B. One chromosome less than the haploid

set of chromosomes

C. One chromosome more than the haploid

set of chromosomes

D. One chromosome more than the diploid

set of chromosomes


https://dl.doubtnut.com/l/_y6ycb62xj5br

Answer: A

o Watch Video Solution

692. Mathc list | with list Il and select the

correct answer sunig code given below

R el
‘ S,Torome
- PEEL s e e i
S ITE-sETrome 2, Hline-Felter's syndrome
b AT 3 s rdrme '4; Turner's syndrome
—.30 Crromesomal abnormality)
s = Y = 47
= Li- =415
Z <2 — 1 =27 Chromosome 137
D i - 1 =47 Chromosome 21%


https://dl.doubtnut.com/l/_y6ycb62xj5br
https://dl.doubtnut.com/l/_PaYCzom3YJDJ

C1 2 3 4
"C B D A
Dl 2 3 4
"C A D B
Answer: D

o Watch Video Solution

693. Select the correct statement

A. Franklin stahl coined the term "linkage"

B. Punnett square was developed by a

British scientist


https://dl.doubtnut.com/l/_PaYCzom3YJDJ
https://dl.doubtnut.com/l/_QcctTfxBFb6G

C. Spliceosmoes take part in translation

D. Trnsduction was disscovered by a Allman

Answer: B

° Watch Video Solution

694. Which of the following in wrongly

matched.

A.Starch synthesis in pea

Multiple alleles


https://dl.doubtnut.com/l/_QcctTfxBFb6G
https://dl.doubtnut.com/l/_0eBeEh22tspO

B. ABO blood grouping : Co-dominance

C. XO type sex determinations

Grasshopper

D. T.H. Morgen : Linkage

Answer: A

o Watch Video Solution

695. Assertion : Someaclonal variations may be

presnt in plants produce from callus.


https://dl.doubtnut.com/l/_0eBeEh22tspO
https://dl.doubtnut.com/l/_jkzPa2XeNAEu

Resons : Somaclonal variations are caused due

to recombination during meiosis.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_jkzPa2XeNAEu

D.If both the assertion and reason are

false

Answer: C

° Watch Video Solution

696. Assertion : In humans, the gamete
contributed by the male determines wheter
the child produced will be male or female

Reason : Sex in humasn is a polygenic trait

depending upon a cumulative efffect of some


https://dl.doubtnut.com/l/_jkzPa2XeNAEu
https://dl.doubtnut.com/l/_t7XtuXNsHtMB

genes on X-chromosome and some on Y-

chromosome.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_t7XtuXNsHtMB

D.If both the assertion and reason are

false

Answer: C

° Watch Video Solution

697. Assertion : Persons sufffering from
haemophilia fall to produc blood cloting

factor . VIII.

Reason : Prothrombin producing plateles in


https://dl.doubtnut.com/l/_t7XtuXNsHtMB
https://dl.doubtnut.com/l/_BtoDx6c1CtIY

such persons are found in very low

concentraion

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_BtoDx6c1CtIY

D.If both the assertion and reason are

false

Answer: C

° Watch Video Solution

698. Assertion : Mustard gas acts as a
mutagen

It transfers aklayl groups to the bases in DNA.


https://dl.doubtnut.com/l/_BtoDx6c1CtIY
https://dl.doubtnut.com/l/_e34N2bKjDO4U

. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

. If the assertion is true but the reson is

false

.If both the assertion and reason are

false


https://dl.doubtnut.com/l/_e34N2bKjDO4U

Answer: A

o Watch Video Solution

699. Assertion : The DNA fingerprint is the
same for every cell, tissue and organ of a
person.

Reason : DNA fingerprint is used of treatement
of inherited disorders like Huntigton's disease,

Alzhemir's and Sickle anaemia.


https://dl.doubtnut.com/l/_e34N2bKjDO4U
https://dl.doubtnut.com/l/_Gmruz5UmQkVg

. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

. If the assertion is true but the reson is

false

.If both the assertion and reason are

false


https://dl.doubtnut.com/l/_Gmruz5UmQkVg

Answer: C

o Watch Video Solution

700. Assertion: The chimpanzee is the closest
relative of the present day humans

Reason: The banding pattern in some
autosomes of man and chimpanzee is

remarkable similar.

A. If both the assertion and the reason are

true and the reasons is a correct


https://dl.doubtnut.com/l/_Gmruz5UmQkVg
https://dl.doubtnut.com/l/_FBcjUAqRZLcA

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FBcjUAqRZLcA

701. Assertion : If pollen mother cells has 21

chromosomes.

Reason : Pollens are formed after meiosis in

pollen mother cells

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct


https://dl.doubtnut.com/l/_FBcjUAqRZLcA
https://dl.doubtnut.com/l/_c3j9NXpHPFWX

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_c3j9NXpHPFWX

702. Assertion : Clones are produced by sexual

reproduction and same sexual process.

Reason : Thses are prepared by group of cells

descended from many cells or by inbreeding of

a hetrozygous line.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct


https://dl.doubtnut.com/l/_YdUciIGwzHZp

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YdUciIGwzHZp

703. Assertion : Hybrids are generally back

crossed.

Back cross is done to increases the trains of

the parnnts.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion


https://dl.doubtnut.com/l/_9cjLPEm96O0J

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution

704. Assertion : A gene may have several

alleomorphs.


https://dl.doubtnut.com/l/_9cjLPEm96O0J
https://dl.doubtnut.com/l/_bpUv5DeCrwKQ

Reason : Wild from can mutate in more than

one ways.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_bpUv5DeCrwKQ

D.If both the assertion and reason are

false

Answer: A

° Watch Video Solution

705. Assertion : Phenylketonuria is a recessive
hereditary disease caused by the body 's
failure to oxidize an amino acid phenylalanine

to tyrosine , because of a defective enzyme.


https://dl.doubtnut.com/l/_bpUv5DeCrwKQ
https://dl.doubtnut.com/l/_rskt5sxGRzSx

Reason : It results in the presence of

phenylalanine acid in the urine .

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_rskt5sxGRzSx

D.If both the assertion and reason are

false

Answer: A

° Watch Video Solution

706. Assertion : The genetic complement of an
organism is called genotype
Reason : Genotype is the type of hereditary

propeties of an organism.


https://dl.doubtnut.com/l/_rskt5sxGRzSx
https://dl.doubtnut.com/l/_RqsrNkOv2Bve

. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

. If the assertion is true but the reson is

false

.If both the assertion and reason are

false


https://dl.doubtnut.com/l/_RqsrNkOv2Bve

Answer: A

o Watch Video Solution

707. Assertion : Holandric genes are found on
Y chromoseme..
Reason : Inheritance of Holdandric genes are

always from father to son.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion


https://dl.doubtnut.com/l/_RqsrNkOv2Bve
https://dl.doubtnut.com/l/_NTfbfAl5W5nW

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_NTfbfAl5W5nW
https://dl.doubtnut.com/l/_bOGdLmJRTDCQ

708. Assertion : Haemophilia never occurs in

women.

Reason : Gene for hemophilia is located on X

chromoseome.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion


https://dl.doubtnut.com/l/_bOGdLmJRTDCQ

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: a

o Watch Video Solution

709. Assertion : Haploids are used to study
mutation.

Reason : Most of the mutations are recessive.


https://dl.doubtnut.com/l/_bOGdLmJRTDCQ
https://dl.doubtnut.com/l/_79vxjxQLZluN

. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

. If the assertion is true but the reson is

false

.If both the assertion and reason are

false


https://dl.doubtnut.com/l/_79vxjxQLZluN

Answer: A

o Watch Video Solution

710. Assertion : The shapes of chromosomes is
based on the position of centromere.
Reasons : During anaphase, the chromosomes

bends in the region of centromere.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion


https://dl.doubtnut.com/l/_79vxjxQLZluN
https://dl.doubtnut.com/l/_Bp0ZXhCfjqnO

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Bp0ZXhCfjqnO
https://dl.doubtnut.com/l/_hXc5z47bOMXU

711. Assertion : Heterochromatin is genetically

inactive.

Reason.: It lacks genes.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion


https://dl.doubtnut.com/l/_hXc5z47bOMXU

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: C

o Watch Video Solution

712. Assertion : Kinetochor helps in the

movement of chromosomes.


https://dl.doubtnut.com/l/_hXc5z47bOMXU
https://dl.doubtnut.com/l/_g4KPgbYlwTIu

Reason : It has points for attachment of

microtubules .

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_g4KPgbYlwTIu

D.If both the assertion and reason are

false

Answer: A

° Watch Video Solution

713. Assertion : Restriction endonuclease
recognize short palindromic. Sequence and
cut at specific sites.

Reason : When a restriction endonuclease acts


https://dl.doubtnut.com/l/_g4KPgbYlwTIu
https://dl.doubtnut.com/l/_zdLPdTVjitvD

on Palindrome, it cleaves both the the strands

of DNA molecules.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false


https://dl.doubtnut.com/l/_zdLPdTVjitvD

D.If both the assertion and reason are

false

Answer: B

° Watch Video Solution

714, Assertion : The lampbrush, chromosomes
are called diplotene chromosomes bivalents.
Reason : The number of loops is maximum

during diplotene.


https://dl.doubtnut.com/l/_zdLPdTVjitvD
https://dl.doubtnut.com/l/_sGptulVUROin

. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

. If the assertion is true but the reson is

false

.If both the assertion and reason are

false


https://dl.doubtnut.com/l/_sGptulVUROin

Answer: B

o Watch Video Solution

715. Aassertion : In humans , most sex-lineked
genes are present on the X chromosome.

Reason : Human chromosome contains a large
number of genes with major effects on

phenotype.

A. If both the assertion and the reason are

true and the reasons is a correct


https://dl.doubtnut.com/l/_sGptulVUROin
https://dl.doubtnut.com/l/_OvG1CA4vlxa8

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OvG1CA4vlxa8

716. Assertion : Human chromosome have

been studied through banding technique.

Reason : Banding technique is useful in

studying chromosomal aberrations.

A. If both the assertion and the reason are

true and the reasons is a correct

explanation of the assertion

B. If both the assertion and reason are true

but the reason is not a correct


https://dl.doubtnut.com/l/_OvG1CA4vlxa8
https://dl.doubtnut.com/l/_RMuF1qGb1Ylg

explanation of the assertion

C.If the assertion is true but the reson is

false

D.If both the assertion and reason are

false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RMuF1qGb1Ylg

